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{Pxml version="1.0" encoding="UTF-8"7>
<MCCTI_TN200100UV0] ITSVersion="¥ML_1,0” xsi:schemalocation="urn:hl7-org:v3 MCCI_IN200100UV0l, xsd” xmlns="urn:hl7-org:v3”
xmlns:ixsi="http://wow, w3, org/2001/MLSchema~instance”>
<id extension="N. 1.2" root="2. 16.840.1. 113883. 3. 989. 2.1, 3. 22" />
<I— M. 1.2: Batch Number —-> _
<creationTime value="20101214151617"/>
¢l=— W.1.5: Date of Batch Transmission —>
{responseModeCode code="D"/>
{interactionld extension="MCCI_IN200100UY01” root="2. 16.840.1, 113883.1.6"/>
<name code="N.1.1” codeSystem="2, 16. 840, 1, 113883, 3,989, 2. 1. 1. 1" codeSystemVersion="1.01"/>
¢l— N.1,1: Type of Messages in Batch —>
<|-- Message #1 —>
(PORR_ING49016UV>
id extension="N.2.1.1” root="2.16,840.1. 113883, 3.989.2.1.3.1"/>
(== N.2.1.1: Message Identifier —>
{creationTime value="20101214151617"/>
{J— N.Z2.r.4: Date of Message Creation ——>
<interactionId extension="PORR_IN045016UV" roct="2. 16,840, 1. 113883, 1. 6"/>
{processingCode code="P"/>
{processingModeCode code="T"/>
{acceptAckCode code="AL"/>
<receiver typeCode="RCV">
{device classCode="DEV” determinerCode="INSTANCE">»
<id extension="N,2.r. 3" root="2.16. 840, 1. 113883, 3.98%. 2. 1. 3. 12°/>
<I=— N.2.r.3: Message Receiver Identifier —>
{/device>
{/receivery
{sender typeCode="SND">
<device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.2.r.2" root="Z, 16,840, 1. 113883, 3,989.2. 1.3. 11"/>
<!=— N.2.1.2: Message Sender Identifisr —>
</device>
{/sender>
{controlActProcess classCode="CACT” moodCode="EVN">
{code code="PORR_TE0490168UV" codeSystem="2, 16, 840, 1, 113883, 1. 18“/>
<l— HL7 Trigger Event ID ——>
<effectiveTime value="20101214151617"/>
¢J— €, 1,2: Date of Creation —>
<subject typeCode="SUBJ">
{investigationEvent classCode="INYSTG" moodCode="EVN">
<id extension="C.1.1" root="2. 16.840.1.113882.3.980.2.1.3. 1"/>
(1= C.1.1: Sender’s (case) Safety Report Unigue Identifier ——>
<id extension="C. 1.8.1" root="2.16.840.1. 113883.3.989.2.1.3,2"/>
= C.1.8. 17 Worldwide Unigue Case Identification Number ——
<id extension="J2, 1b” reot="2, 16,840, 1. 113883, 3,.989,5.1.3.2.3. 1",
- BE8JZ. 1b: TREUEE (HFR) —
<code code="PAT_ADV_EVNT” codeSystem="2. 16. 840, 1, 113883, 5,4"/>
{text>H. 1{/text>
<]~ H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additicnal Relevant
Information —=>
{statusCode code="active”/>
<I— @@aJ2.7.1 58T, RETES
<effectiveTime>
<low value="20080101"/>
{I-- C.1.4: Date Report Was First Received from Source ——»
(/effectiveTime>
<availabilityTime value="20090101"/>
{I-- C.1,5: Date of Mast Recent Information for This Report -—»
{reference typeCode="REFR">
{document classCode="DOC” moodCode="EVN">
(code code="1" codeSystem="2.16.840. 1. 113883, 3. 983. 2. 1. 1. 27" codeSystemVersion="1.0"



displayName="decumentsHe ldBySender” />
<titledC. 1.6. 1.1, 1<{/title>
{l—— €.1.6,1,r.1: Documents Held by Sender {repeat as necessary) H1 —>
{text mediaType="application/pdf” representation="B64">C, 1.6.1.r.2</text>
¢l— C.1.6.1.r.2: Included Documents #1 ——>
</document>
{/reference>
(reference typeCode="REFR">
{document c¢lassCode="DOC" moodCode="EVN">
{code code="1" codeSystem="2. 16. 840, 1. 113883, 2,989, 2, 1, 1. 27" codeSystemVersion="1. 0"
displayName="documentsHeldBySender” />
<titledC 1.6, Lor 1¢/titler
¢}— €. 1.6.1.r.1: Documents Held by Sender (repsat as necessary) #2 —>
{text mediaType="image/jpeg” representation="B64" compression="DF">C.1.6. L r.2{/text>
{l— C.1.6.1.r. 2: Included Documents #2 —>
{/document>
{/reference>

{reference typeCode="REFR™> e
<document classCode="DOC" moodCode="FVN"> )
(code code="2" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 27" codeSystemVersion="1, 0"
displayName="1literatureReference”/>
titlerJ2. 17, r$/titler
(I-- 8@RJ2. 17.v RB HECTE #1 —
{text mediaType="application/pdf” representation="BB4">C. 4 r.2<{ /textd
<I-- C.4.r.2: Included Documents #1 —>
<bibliographicDesignationText>C. 4. 1. 1{/biblicgraphicDesignationText>
¢t—— . 4.r. 1% Literature Reference(s) #l —>
{participation typeCode="AUT">
{assignedBntity classCode="ASSIGNED™>
{represented0rganization classCode="0RG" determinerCode="]INSTANCE™>
{asLocatedintity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE">
{code code="J2.15. " codeSystem="1.0. 3166.1.2.2"/>
(I— eew]2. 16. r A%E #1 -
<{/location> '
{/asLocatedEntity>
{/representeddrganization>
(/assignedEntity>
{/participation>
{/document>
{/reference>
{reference typeCode="REFR">
{document classCode="D0C" moodCode="EVN">
<code code="2" codeSystem="2, 16, 840. 1. 113883, 3. 989, 2. 1. 1. 27" codeSystemVersion="1. 0"
displayName="1literatureReference”/>
{title>J2. 17. r¢/titles
<l 08872, 17. r B RO 2 —
<text mediaType="application/pdf” representation="B64">C.4.r. 2<{/text>
¢i-- €. 4.1.2: Included Documents #2 —>
{bibliographicDesignationText>C. 4. r. 1{/biblicgraphicDesignhationText>
¢{!-— €.4.1.1: Literature Reference(s) #2 ——
{participaticn typeCode="AUT">
(assignedEntity classCode="ASSIGNED”>
<representedOrganization classCoede="ORG™ determinerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
{location elassCode="COUNTRY" determinerCode="INSTANCE">
<eode code="J2.15.1" codeSystem="1,0. 3166, 1.2.2"/>
<I— @8J2.15. r AFEE #2 -
{/location>
{/aslocatedEntity>
{/representedlrganization>
{/assignedEntity>
(/participation>
{/document>
{/reference’
{component typeCode="COMP”>
{adverseEventAssessment classCode="INVSTG” moodCode="EVN">
{subjectl typeCode="SB}">
{primaryRole classCode="INVSR]">



{playerl classCode="PSN" determinerCode="INSTANCE">
<{name>D, 1</name>
<l-- D, 1: Patient (name or initials} ——>
{administrativeGenderCode code="D,5” codeSystem="1.0.5218"/>
== D.5 Sex —>
<birthTime value="20090101"/>
{l=-D.2.1: Date of Birth —>
{deceasedTime value="20090101"/>
= D.9.1: Date of Death —>
(asldentifiedfntity classCode="TDENT">
<id extension="D.1.1.1" root="2.16.840. 1. 113883.3.989. 2. 1.3.7"/>
<!— D.1.1.1: Patient Medical Record Number (s} and Source(s) of the Record Number {(GP Medical
Record Number) —> . :
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 4" codeSystemVersion="1. 0"
displayName="GP" />
{/asldentifiedEntity>
{asldentifiedEntity classCode="IDENT"> ‘
<id extension="D.1. 1. 2" root="2, 16.840. 1. 113883. 3. 989. 2. 1.3.8"/>
¢{= D, 1, 1. 27 Patient Medical Record Number{s) and Source{s} of the Record Mumber (Specialist
Record Number} —>
{code cade="2" codeSystem="2, 16, 840, 1, 113883, 3,989, 2. 1. 1. 4" codeSystemYersion="1, 0"
displayName="Specialist”/> !
¢/asIdentifiedEntity>
{asldentifiedBntity classCode="1DENT">
¢1d extension="D.1.1.3" root="2.16.840. 1. 113883, 5. 989, 2. 1.3.9"/
: <!—D.1.1,3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hospital Record
Nutber) —> .
{code code="3" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 4" codeSystemVersion="1. 0"
displayName="Hospital Record”/>
{/asldentifiedEntity>
{asIdentifiedEntity classCode="IDENT">
<id extension="D. 1. 1.4” root="2.16. 840, 1. 113883, 3. 989. 2. 1. 3. 10" />
{I—D. 1.1 4: Patient Medical Record Number(s) and Source(s} of the Record Mumber (Investigation
Number} -->
{code code="4" codeSystem="2, 16. 840, 1. 113883, 3. 989, 2. 1. 1. 4” codeSystemYersion="1. 0"
displayName="Investigation”/>
{/asldentifiedBntity>
<role classCode="PRS">
{code code="PRN" codeSystem="2.16. 840, 1. 113883. 6, 111" />
<associatedPerson classCode="PSN" determinerCode="INSTANCE">
<name>?D. 10. 1{/name>
<}-~ D, 10.1: Parent Identification —>
{administrativeGenderCode code="D.10.8” codeSystem="1. 0. 5218"/>
¢I--D.10,6: Sex of Parent ——>
<hirthTime value="20090101"/>
<}-- D1, 10.2.1: Date of Birth of Parent ——>
¢/associatedPerson)
{subject0f2 typeCode="SBJ">
{observation classCode="0BS” mocdCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1. 113883, 3,989, 2, 1. 1. 19" codeSystemVersion="1. 1"
displayName="age” />
{value xsi:type="PQ” value="10" unit="D.10.2.2b"/>
¢J=~D.10.2.2a: Age of Parent (number) -—>
¢1--D. 10,2, %b: Age of Parent {unit) ——>
(/observation>
<{/subject0f2>
{subject0f2 typeCode="SBJ™>
{observation classCode="0BS” moodCode="EVYN">
{code code="22" codeSysten="2.16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1”
displayName="1astMenstrualPeriodDate”/>
<value xsi:type="TS" value="20000101"/>
<!-~ D, 10.3: Last Menstrual Period Date of Parent ——»
{/observation>
{/subject0f2>
<subjectOf? typeCode="SBI">
<observation classCode="0BS” moodCode="FVYN">
{code code="7" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayNume="bodyWeight”/>
{value xsi:type="PQ” value="50" unit="kg”/>



(l-- D.10.4: Body Weight (kg) of Parent ——>
</observation>
{/subject0f2>
<subject0f? typeCode="SBI">
<observation classCode="0B3” mocdCode="EVN">
{code code="17" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 18” codeSystemVersion="1.1"
displayName="height”/>
<value xsi:type="PQ” value="160" unit="cm"/>
<l-— 0.10.5: Height (cm) of Parent —>
{/chservation>
{/subjectOf2>
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<organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2, 16.840.1.113883. 3. 989, 2. 1. 1. 20" codeSystemVersion="1.0"
dispiayName="relevantMedicalHistoryvAndConcurrentConditions”/>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">

T T gode ¢ode="Dl 10,7 1 . Ib” codeSysten="2. 16. 84U, 1. 113883, 6. 163
cedeSystenVersion="D. 10. 7. L. . 1a"/>

<I--D.10.7. L.r. la: MedDRA Version for Medical History #1 —>

¢I— D, 10.7. L. r. 1b: Medical History (disease / surgicel procedure/ etc,) (MedDRA code) #1 -

(effectiveTime xsi:type="TVL_TS"»
<low value="20080101"/>
{]— D.10.7. L.r. 2. Start Date #1 —>
<high value="20080101"/>
(—D.10.7. L. r. 4! End Date #1 —>
{/effectiveTime>
<outhoundRelationship2 typeCode="COMP™>
{observation classCode="0BS” moodCode="EYN">
<code code="10" codeSystem="2. 16. 840, 1. 113883. 3,989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="commont” />
¢yalue xsi:type="ED">D. 10, 7.1.1.5¢/value>
¢l— D.10.7.1.r.6: Comments #1 —>
{/observation>
{/outhoundRelationship2>
{inboundRelationship typeCode="REFR">
{observation classCode="CBS” mondCode="EVN">
{code code="13" codeSystem="2.16.840. 1. 113883. 3, 989, 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="continuing”/>
{value xsi:type="BL” value="true”/>
¢— [L10.7.1. r. 3! Continuing 1 —>
{/observation®
</inboundRelationship>
{/cbservation>
</component>
{component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
<code code="D.10.7.1.r. 1b" codeSystem="2. 16, 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10, 7. L.r. 1a"/>
<I--—D.10.7. 1.7, la: MedDRA Version for Medical History #2 ——>
i D.10.7.1.7. 1b: Medical History (disease / surgical procedure/ etc.} (MedDEA code) #2 —

<effectiveTime xsi:type="TVL_TS">
<low value="20090101"/>
<1-=D.10,7. 1,7, 2: Start Date #2 —->
<high value="200901C1"/>
<J=—— D.10.7.1.xr.4: End Date #2 —>
{/effectiveTime>
{outboundRelationship2 typeCode="COMP">

<code code="10" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment” />
<value xsi:type="ED”>D.10.7. 1.1.5¢/value>
(= D.10.7.1.r. 5: Comments H#2 ——>
{/observation>
<{foutbotndRelaticnship?>
¢inkoundRelationship typeCode="REFR">
{cbservation classCode="0BS” moodCode="EVN">



; {code code="13" codeSystem="2. 16.840. 1. 113883. 3.989. 2, 1, 1, 13" codeSystemVersion="1, 1*
displayName="continuing” />
<value xsi:itype="BL" value="true”/>
(I D.10.7. 1.1, 3! Continuing #2 —>
{/observation>
{/inboundRelationship>
{/observation>
{/component>
{component typeCode="COMP">
{(observation classCode="0BS” mcodCode="EVYN">
{code code="18" codeSystem="2. 16, 840. 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="historyindConcurrentConditionText” />
<yalue xsiitype="ED">D. 10. 7. 2<¢/value>
<l— D.10.7.2: Text for Relevant Medical History and Concurrent Conditions of Parent —>
{/chservation> :
{/component>
{/organizer>
{/subjectOf2>
{subjectlf2 typeCode="SB]">
{organizer classCode="CATEGORY” moodCode="EVN">
(code code="2" codeSystem="2, 16,840, 1. 113883. 3.989. 2. 1. 1. 20" codeSystemVersion="1, 0"
displayName="drugHistory” />
{component typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVN">
<effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢!— D.10.8. 7. 47 Start Date #1 —>
<high value="20090101"/>
¢!~ D.10.8.r.5: End Date #1 —>
{/effectiveTime>
{consumable typeCode="CSM">
{instanceCfKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND"> .
{code code="D, 10, 8.1, 2b" codeSystem="TBD-MPID” codeSystemYersion="D.10.8.xr.2a"/>
¢1-—D. 10, 8.1. Za: MPID Version Date / Number #1 —->
<l D.10.8.r. 2b: Medicinal Product Tdentifier (MPID) #1 ——
<name>D. 10. 8, r. 1<{/name>
== D.10.8. 1. 1: Name of Drug as Reported #1 ——>
{/kindOfProduct>
</instance0fKind>
{/consumable>
{outboundRelationship2 typeCode="RSON">
{cbservation classCode="0BS” mocdCode="EV¥">
{code code="19" codeSystem="2. 16, 840, 1, 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
Cvalue xsi:type="CE” code="D, 10.8.r. 6b" codeSystem="2. 16. 840. 1. 113883, 6, 163"
cedeSystemVersion="D. 10.8.r.6a"/>
<l-— D, 10,8, 1. 6a; MedDRA Version for Indication #1 -->
<!=— D.10.8.1.6b: Indication (MedDRA code) #1 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="CAUS”>
{observation classCode="0BS8" mocdCode="EVN">
(code code="29" codeSystem="2. 16,840, 1. 113883, 3,989. 2. 1. 1. 39" codeSystemVersion="1.1"
displayName="reaction”/>
{value xsi:type="CE” code="D. 10.8.r.7h" codeSystem="%. 16. 840, 1, 113883, 6. 163"
codeSystemYersion="D. 10.8.1. Ta" />
<1-- D. 106, 8.1. Ta: MedDRA Versicn for Reaction #1 —>
<!=— D.10.8.7. 7b: Reactions (MedDRA code} #1 —>
¢/ohservation>
{/outboundRelationshipZ>
{/substanceAdministration>
</component?
{component typeCode="COMP“> }
{substanceAdninistration classCode="SBADM” moodCode="EVN">
{effectiveTime xsi:type="IVL_TS">
{low value="20090101"/>
(I~ D.10.8.r.4: Start Date #2 —>
<high value="20090101"/>



<l--D.10.B.r.5: End Date #2 —>
{/effectiveTimer
{consumable typeCode="CSM">
<instance0fKind classCode="INST">
<kind0fProduct classCode="MMAT” determinerCode="KIND">
{eode code="D. 10. 8. r. 35" codeSystem="TBD-PhPID” codeSystemVersion="D. i0.8.r.3a"/>
<1-- D, 10.8.1.3a: FhPID Version Date / Number #2 —->
<}-~ D.10.8.r. 3b: Pharmaceutical Product Identifier (PhPID) #2 ——>
<name>D. 10, 8. r. 1{/name> '
<l— D.10.8.t. 1: Name of Drug as Reported #2 —>
</kind0fProduct>
{/instance0fkind>
{/consumable>
<outboundRelationship2 typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">
¢code code="19" codeSystem="2. 16. 840. 1, 113883, 3,989, 2, 1. 1, 19” codeSystemVersion="1. 1"

displayName="indication”/>

“Zyvalie xeiitype="CE” code="D.10.8.1.6b  codeSystem= &, 16, 840,71, 113883.6. 163
codeSystemVersion="D. 10. 8. r. 6a"/>
l~~ D, 10, 8. r. 6a: MedDRA Version for Indication #2 ——>
<l-- D.10.8.x. 6b: Indication (MedDRA code) #2 —>
{/observation>
{/outboundRelationship2>
<outhoundRelationship? typeCode="CAUS™>
{observation classCode="0B3" moodCode="EVN">
<code code="29" codeSystem="2. 16. 840. 1, 113883, 3.989. 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="reaction”/>
~ <value xsi:type="CE” code="D,10.8.r, 7b" codeSysten="2. 16. 840. 1. 113883, 6. 163"
codeSystemVersion="D. 10. 8. 1. 7a" /> )
{!=- D, 10,8.r.7a: MedDRA Version for Reaction #2 -—>
<!-— D.10.8. 1. 7Th: Reactions (MedDRA code) #2 ——>
</observation>
{/outboundRelationship2>
{/substanceAdministration>
{/component>
{/organizer>
{/subject0f2>
{roley
{/playerl>
{subjectQfl typeCode="SBJ™>
{researchStudy classCode="CLNTRL" moodCode="EVN"»
(id extension="C.5. 3" root="2,16.840, 1. 113883, 3,989.2.1.3.5"/>
¢{— C.5.3: Spensor Study Number —>
{code code="C, 5.4" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1, 8" codeSystemVersion="1.¢"/>
<!{-—— C.5.4: Study Type Where Reaction(s) / Event{s) Were Observed ——>
{titledC. 5. 2</title>
{{— €. 5,2: Study Name ——>
{authorization typeCode="AUTH">
¢studyRegistration classCode="ACT” moodCode="EYN">
{id extension="C.5. 1L r.1" root="2.16.840. 1. 113883, 3.989.2, 1. 3.6"/>
{!-- C.5.1.r.1: Study Registration Number #1 -->
{author typeCode="AUT">
{territorialfuthority classCode="TERR">
<governingPlace classCode="COUNTRY" determinerCode="INSTANCE™>
{code code="C.5. 1.1.2" codeSystem="1.0, 31656, 1.2.27/>
<{-- C.5.1.r.2: Study Registration Country #1 ——
{/governingPlace>
(/territorialAuthority>
{/author>
{/studyRegistration>
{/autherization>
{authorization typeCode="AUTH">
<studyRegistration classCode="ACT” mocdCode="EVN">
id extension="C.5.1.1.1” roct="2.16.840.1, 113883, 3.989.2.1.3.6"/>
¢{-~ C.5.1.r.1 Study Registration Number #2 ——>
Cauthor typeCode="AUT">
{territorialAuthority classCode="TERR"?
¢governingPiace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="C.5.1.1.2" codeSystem="1. 0. 3166.1.2.2"/>



{I-- £.5.1.r.2: Study Registration Country #2 -—>
{/governingPlace>
{/territorialAuthority)>
</author>
{/studyRegistration>
{/authorization>
{/researchStudy>
{/subjectOf 1>
(subjectlfZ typeCode="SBI">
{observation classCode="0BS" moodCode="EVN">
{code code="3" codeSystem="2, 16, 840, 1, 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1, 1"
displayName="age”/>
<value xsitype="PQ” value="10" unit="D. 2, 2b"/>
<I--D.2.2a: Age at Time of Cnset of Reaction / Bvent (number) ——>
<I--D.2.2b: Age at Time of Cnset of Reaction / Event (unit) ——>
{/observation>
{/subjectOf2>
{subject0f2? typeCode="SBJ">
{cbservation classCode="0BS” moodCode="EVYN">
{code code="16" codeSystem="2. 16.840. 1.113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="gestationReriod”/>
{value xsi:type="PQ” value="10" unit="D. 2. 2.1b"/>"

¢l-—D.2.2.1a’ Gestation Period When Reaction / Event Was Observed in the Foetus (number) --3
<l-- D.2.2.1b: Gestation Period When Reaction / Event Was Chserved in the Foetus (unit) ——>

{/chservation>
{/subjectdf2>
{subjectOf2 typeCode="SBJ™>
<observation classCode="0BS" moodCode="EYN"}>
<code code="4" codeSystem="2.16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1, 1*
displayName="ageGroup”/>
<value xsi:type="CE" code="D. 2. 3" codeSystem="2.16. 840, 1, 113883. 3. 989. 2. 1. 1. 9"
codeSystenVersion="1. 0" />
¢!— D.2.3: Patient Age Group (as per reporter) ——)
{/cbservation>
{/subject0f2>
<subjectOf2 typeCode="SBJ">
<observation classCode="0BS"” mocdCode="EVN">
{code code="7" codeSystem="2. 16, 840. 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="bodyWeight”/>
{value xsi:type="PQ" value="48. 2" unit="kg"/>
{!— D.3: Body Weight (kg) —>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBJ">
<observation classCode="0BS” mocdCode="EVN">
{code code="17" codeSystem="2. 16, 840. 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="height”/>
{value xsi type="PQ" value="152" unit="em”/>
{I-- D.4: Height (em) -->
{/observation>
</subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
{code code="22" codeSystem="2, 16, 840, 1, 113883. 3, 989. 2. 1. 1. 19* codeSystemVersion="1, 1"
displayName="lastMenstruaiPeriodDate”/>
<value xsi:type="TS" value="20080101"/>
<!== D.6: Last Menstrual Period Date —->
{/observation>
{/subjectOf2>
{subjectOf2 typeCode="SB]"> -
{organizer classCode="CATEGORY” moodCode="EVYN">
{code code="1" codeSystem="2, 16, 840, 1, 113883. 3. 989. 2. 1. 1. 20" codeSystemVersion="1, 0"
displayName="relevantMedicalHistoryAndConcurrentConditions” />
<{component typeCode="COMP™>
<observation classCode="0BS" moodCode="EVN">

{code code="D, 7. 1.1.1b" codeSystem="2. 16.840. 1. 113883. 6. 163" codsSystemVersion="D. 7. 1. r.1a"/>

¢I== D.7.1.r.1a: MedDRA Version for Medical History #i —>

= D.7.1.r,1b: Medical History (disease / surgical procedure / etc.) (MedDRA code) 1 —>

{effectiveTime xsi:type="IVL_TS">



<low value="20090101"/>
<l--B.7.1.1. 2: Start Date #1 —>
¢high value="200901017/>
{{-- D.7.1.r.4: End Date fL —>
{/effectivelime>
<outboundRelationship2 typeCode="COMP">
{observation classCode="0BS” moodCode="E¥N">
{code code="10" codeSystem="2. 16.840. 1. 113883.3,889. 2. 1. 1. 19” codeSystemVersion="1,1"
displayName="comment” /> )
<value xsi:type="ED">D.7.1.r.5¢/value>
{l--D,7.1.r.5: Comments #1 —>
{/observation»
</outboundRelationship2>
CoutboundRelationship2 typeCode="EXPL">
{observation classCode="0BS” moodCode="EVN">
{code code="38" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="familyHistory”/>

{value xsi:type=BL” value="true"/>
¢I— D, 7. 1.r.6: Family History 1 —>
{/observation>
{/outboundRelationship2>
{inboundRelationship typeCode="REFR">
{ohservation classCode="0BS” moodCods="EVN">
<code code="13" codeSystem="2. 16.840. 1. 113883. 3,989, 2. 1. 1, 19” codeSystemVersion="1.1"
displayName="centiruing”/>
<{value xsi:type="BL” value="true”/>
¢<l--D.7.1.r 3 Continuing #1 —>
{/cbservation>
</inboundRelationship>
</observation>
{/component>
{compohent typeCode="COMP">
{observation c¢lassCode="0BS" moodCode="EVN">

<code code="D.7.1.1.ib” codeSystem="2.16. 840, 1. 113883. 6, 163" codeSystemVersion="D.7.1.r.1a"/>

<l-= D.7.1.r.1a: MedDRA Version for Medical History #2 -—

{l-— D.7.1.r.1b: Medical history {disease / surgical procedure / etc.) {MedDRA code) #2 ——>

{effectiveTime xsi:type="IVL TS">
<low value="20080101"/>
<= D.7.1,r. 2: Start Date #2 —->
<high value="20090101"/>
<l-—— D.7.1.r.4: End Date %2 —>
{/effectiveTime>
<cutboundRelationship2 typeCode="COMP™>
{observation classCode="0BS” mocdCode="EVN™>
<code code="10" codeSystem="2: 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment” /> )
{value xsi:type="ED">D.7.1.1.5¢/value>
= D.7.1.1r. 5 Comments {2 —>»
{/observation>
{/outboundRelationship2>
<outboundRelationshipZ typeCode="EXPL">
{observation classCode="0BS” moodCode="EVN">
{code code="38" codeSystem="2. 16. 840, 1. 113883. 2. 989, 2. 1. 1, 19” codeSystemVersion="1, 1"
displayName="familyHistory”/>
<value xsi:type="BL” value="true”/>
{I-—D.7.1.r.6: Family History #2 —>
</chservation>
{/outboundRelationship2>
¢inboundRelationship typeCode="REFR">
<observation classCode="0BS" moodCode="EVN">
{code code="13" codeSystem="2.16. 840. 1. 113883, 3. 989, 2.1. 1. 19” codeSystemVersion="1. 1"
displayName="cont inuing” />
{value xsi:type="BL” value="true”/>
<= D.7.1.1.3: Continuing #2 ~->
{/observation>
{/inboundRelationship>
{/observation>
</component>
{component typeCode="COMP”>



{observation classCode="0BS” moodCode="EVN">
{cods code="18" codeSystem="2. 16. 840, 1, 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="historyAndConcurrentConditionText”/>
{value xsi:type="ED">D.7.2</value> )
{I— D, 7.2: Text for Relevant Medical Histery and Concurrent Conditions {not including reaction
/ event) -
{/observation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="conconitantTherapy” />
<{value xsi:type="BL” value="true”/>
{I--D.7.3: Concomitant Therapies -
{/ohservation>
{/component>
{/organizer>
{/subject0f2>
{subjectOf2 typeCode="SBEJ”>
{organizer classCode="CATEGORY” moodCode="EVN™>
{code code="2" codeSystem="2. 16, 840, 1. 113883, 3, 989, 2. 1. 1. 20" codeSystemVersion="1, 0"
displayName="drugHistory”/>
{component typeCode="COMP">
<substancéAdministration classCode="SBAIM". mocdCode="EVN">
{effectiveTime xsi:type="IVL_TS">
dow valus="20080101"/>
(!=- D.8.r.4: Start Date #1 -
<high value="20090161"/>
<{{-- D.8.r.5: End Date #1 ——>
(effectiveTime>
{consumable typeCode="CSM">
{instance(fKind classCode="INST">
<kind0fProduct classCode~"MMAT® determinerCode="KIND">
{code code="D.8.r.2b" codeSystem="TBI-MPID" codeSystemVersion="D.8.t.2a"/>
{|== 1.8, 1, 2a: MPID Version Date / Number #1 ——> :
{I-- D.8.r.2b: Medicinal Product Identifier (MPID} #1 ——>
<{name>D. 8. r. 1{/name> '
]-- D.8.7.1: Name of Drug as Reported #1 -
{/kindGfProduct>
<{/instance0fKind>
{/consumable>
{putboundRelationship? typeCode="RSON">
{observation classCode="0BS" mocdCode="EVN">
{code code="19" codeSystem="2. 16. 840. 1, 113883, 3, 989, 2, 1. 1, 19" codeSystemVersion="1.1"
displayName="indication”/>
<value xsi:type="CE” code="D.8.r.6L" codeSystem="2.16. 840, 1. 113883, 6. 163"
codeSystemYersion="D.8. r. 62" />
{I—- D.8. 1. 6a: MedDRA Version for Indication #1 ——>
¢!=- D.8.r.6b: Indication (MedDRA code) #1 —>
{/observation>
¢{/cutbeundRelationshipZ>
{outboundRelationship2 typeCcde="CAUS">
{observation classCode="0BS" moocdCode="EVN">
{code code="29" codeSysten="2. 16, 840. 1, 113883, 3, 989, 2. 1. 1, 19" codeSystemVersion="1.1”"
displayName="reaction”/>
{value xsiitype="CE” code="D.8.r.7b” codeSystem="2. 16, 840. 1. 113883. 6. 163"
codeSystemVersion="D. 8. r. 7Ta”/>
{!-- D.8,r.7a: MedDRA Version for Reaction 1 —>
1= D.8.r.7b: Reaction (MedDRA cods} #1 ——>
{/observation>
{/outboundRelationship2>
{/substanceAdministration>
{/component>
{component typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVN">
CeffectiveTime xsi:type="IVL_TS">
{low value="20080101"/>
¢!-— D.B.r.4: Start Date #2 —>
<high value="20090101"/>



<|-- D.8.r.5: End Date }#2 —>
¢/effectiveTime>
{consumable typeCode="CSM">
{instance0fKind classCode="INST™> ]
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="D. 8.1.3b" codeSystem="TBD-PhPID" codeSystemYersion="D.8.r.3a"/>
¢l-- D.8.r.3a: PhPID Version Date / Number ——>
<l-- D.8.r.3b: Pharmaceutical Product Identifier (FRPID} #2 -
<{name>D, 8, . 1</hame>
{l==D.8.r. 1 Name of Drug as Reported #2 ——>
</kind0fProduct>
{/instancelf{ind>
{/consumable>
{outboundRelationship2 typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">
¢oode code="19" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"

displayName="indication”/>
‘ s " <value xsi:type="CE” code="D.8.r.6b  codesystem="4.16.840.1. 113883.6. 163"
codeSystemVersion="D. 8. r. 62" /> -
¢}-— D.8.1.6a: MedDRA Yersion for Indication #2 -->
¢<l-- D.8.r.6b: Indication {MedDRA code) #2 -—>
{/chservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="CAUS™>
<observation classCode="(BS" mocdCode="EVN">
(code code="29" codeSystem="2.16. 840. 1. 113883. 3. 989, 2. 1, 1. 19" codeSystemVersion="1.1"
displeyName="reaction”/>
<value xsiitype="CE" code="D.8.r. 7b” codeSystem="2. 16. 84C, 1, 113883. 6. 163"
codeSystenVersion="D.8.r. 72" />
{l-- D.8.r.7a: MedDRA Version for Reaction #2 —>
¢l=-= D.8.1.7b: Reaction (MedDRA code} #2 —>
{/observation>
{/cutboundRelationship2>
{/substanceAdministration>
{/component>
{/organizer>
{/subject0f2>
<subjectCf2 typeCode="SR]™>
{observation classCode="0BS” moodCode="EYN">
{code code="32" coedeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="reportedfauseCfDeath”/>
<value xsi:type="CE” code="D, 9, 2 r.1b" codeSystem="2. 16. 84C. 1. 113883. 6. 163"
codeSystemVersion="D.9.2.r. 1a™>
¢d— D.9,2.1. 1a: MedDRA Version for Reported Cause(s) of Death #1 -
<d— 1.9.2.r. 1h: Reported Cause(s) of Death (MedDRA code) #1 —
<originalText>D. 9. 2.1, 2¢/originalText>
<l—— D.9.2.r.2: Reported Cause(s) of Death (free text) #1 ——>
{/valued
{/chservation>
{/subject0fz>
(subject0f2 typeCode="SBJ">
{chservation classCode="0BS” moodCode="EVN">
{code code="32" codeSystem="2. }6. 840. 1. 113883, 3,989, 2, 1. 1. 19" codeSystemVersion="1, 17
displayName="reportedCause0fDeath”/>
{value xsi:type="CE" code="D.9.2.r. 1b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D.9.2.r. 1a">
¢I—— D.9.2.r. la: MedDRA Version for Reported Cause(s) of Death #2 ——>
<l— D.9.2.r.1b: Reported Causs{s) of Death (MedDRA code) #2 ——>
CoriginalText>D. 9. 2. r. 2{/originalText>
(1= D.9.2.r.2: Reported Cause(s) of Death (free text) #2 -
{fvalue>
{(/observation>
{/subject0f2>
{subjectOf2 typeCode="SB]"»
{observation classCode="0BS” moodCode="RVN">
¢code code="5" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codsSystemYersion="1. 1"
displayName="autopsy” />
<value xsi:type="BL" value="true”/>
--1,8.3 Was Autopsy Done? ——>




<outhoundRelationship? typeCode="DRIV”>
<observation classCode="0BS” moodCode="EVN™>
{code code="8" codeSystem="2. 16, 840, 1, 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causeQfDeath”/>
: {value xsi!type="CE” code="D.9.4.t. 10" codeSysten="2. 16, 840. 1. 112883. 6. 163"
codeSystemVersion="D. 9. 4. 1. 1a">
¢{}-— D.0.4.1. la: MedDRA Version for Autopsy-determined Cause(s) of Death #1 —>
<{1—— 0,9,4, 1, 1b Autopsy-determined Cause(s) of Death (ModDRA code) #1 —->
{originalText>D. 9. 4. r. 2{/originalText>
(I D.9.4.1.2: Autopsy-determined Cause(s) of Death (free text) #1 —)
{fvalued
{/observation)
{/outboundRelationship2>
<outboundRelatienship? typeCode="DRIV">
<{ohservation classCode="0BS” moodCode="BVN">
{code code="8" codeSystem="2. 16.340. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causeOfDeath”/>
{value x5i:type="CE” code="I} 9.4, 1.1b"” codeSystem="2, 16, 840, 1, 113883, 8, 163"
codeSystemVersion="D. 9, 4,1. 1a”> '
=~ D.9 41 1a: MedDRA Version for Autopsy-determined Cause(s) of Death #2 —>
<!-=D.9.4.1.1b Autopsy—determined Cause(s) of Death (MedDRA code) #3 ~—>
<originalText>D. 8. 4. r. 2¢/originalText>
(== D.9. 4.1, 27 Autopsy-determined Cause(s} of Death (free text) #2 —>
{/value>
¢/observation>
{/outboundRelationship2>
{/observation>
</subjectOf2>
{subject0f2 typeCode="SBI">
{observation classCode="0BS" moodCode="EVN">
<id root="164eh889-958b—45f2-a02f-42d4d6f4657F" />
{code code="29" codeSystem="2. 16.840. 1. 113883. 3. 989. Z. 1. 1. 19” codsSystemVersion="1.1"
displayName="reaction”/>
{effoctiveTime xsi:type="IVL_T5">
dow value="20090101"/>
{]—— E.i.4: Date of Start of Reaction / Bvent #I ——>
<high value="200%0102"/>
¢!-— E.i.5: Date of End of Reaction / Event #1 —->
{/effectiveTime>
<{value xsiitype="CE” code="E.i.2.1b" codeSystem="2.16. 840. 1. 113883. 6. 163"
codeSystemVersion="E. i.2.1a">
<l-- E.i.2.1ai MedDRA Version for Reaction / Event #1 -->
¢l-— E.i.2. 1b: Reaction / Event (MedDRA code) #1 —->
{originalText language="F.i.1.1h">E. i. 1. 1a/originalText>
¢!-- E.i.1. 1a: Reaction / Event as Reported by the Primary Source in Native Language #1 -->
¢l-— E.1i.1.1b: Reaction / Event as Reported by the Primary Source Language #1 ——»
</value>
{location typeCode="LOC">
<locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
{code code="E,i.9" codeSystem="1,0.3166.1,2.2"/>
{l-- E i.9: Identification of the Country Where the Reaction / Event Occurred 1 ——>
¢/locatedPlacer
</locatedEntity>
{/location>
<outhoundRelationship2 typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN">
{cods code="30" codeSystem="2. 16. 840. 1. 113883. 3. 980. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="reactionFerTranslation”/>
{value xsi:type="ED">E. i.1.2<{/value>
(-~ E.i.1.2: Reaction / Event as Repcrted by the Primary Source for Translation #1 -~
/observation>
¢/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS” mocdCode="EVN">
<code code="37" codeSystem="2. 16. 840. 1. 113883, 3.980. 2. 1. 1. 19" codeSystemVersion="1.1"
displaylName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.{i.3.1” codeSystem="2. 15, 840, 1, 113883, 3. 98%. 2. 1. 1. 10"
codeSystemVersion="1.0¢"/>



¢{— E,i,3.1: Term Highlighted by the Reporter #1 —>
{/observation>
{/outhoundRelaticnship2>
<outboundRelationship2 typeCode="PERT™>
<observatien classCode="0BS” moodCode="EVN">
{code code="34" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
{value xsi:type="BL" value="true”/>
¢l—— E.1i.3.2a: Results in Death #1 —>
{/observation>
{/outboundRelationship2>

{outboundRelationship2 typeCode="TORT™>
{observation classCode="0BS" moodCode="EYN">
<code code="21" codeSystem="2.16. 840. 1. 113883. 3. 989, 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="1islLifeThreatening”/>
{value xsi:type="BL” nullFlaver="NI"/>
{l—— B, i, 8 2h: Life Threatening #1 —>
{/observation> . o
<{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
{cbservation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL” value="true”/>
¢{!-- E. i, 3. 2c: Caused / Prolonged Hospitalisation #1 -—>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN"™>
{code code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlavoi="NI"/>
¢l-— E.i.3.2d: Disabling / Incapacitating #1-—
{/observation?
{/outboundRelationship2>
{outboundRelationship2 typeCode="FERT">
<observation classCode="0BS” moodCode="EVN">
¢code code="12" codeSystem="2, 16, B40. 1. 113883.3,989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="congenitalAncmalyBirthDefect®/>
{value xsi:type="BL” nullFlavor="NI"/>
{I-- E.1.3.2e! Congenital Ancmaly / Birth Defect #l —>
</observation>
{/outboundRelationship?>
{outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS”" moodCode="EVN">
{code code="26" codeSystem="2. 16, 840, 1. 113883, 3. 989, 2. 1.1, 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
{l-— E.1.3.2f: QOther Medically Important Condition #1 —>
{/ohservation>
¢/outboundRelationship2>
CouitboundRelationshig? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19” codeSystemVersion="1, 1"

displayName="cutcome” />
<yalue xsi:type="CE” code="E. 1.7 codeSystem="2. 16.840, 1, 113883, 3.98%. 2, 1.1, 11"
codeSystemVersion="1,0"/>
<l— E.1i.7: Qutcome of Reaction / Event at the Time of Last Ohservation #1 —>
{/observation>
</outboundRelationship2>
{outhoundRelationship? typelede="PERT">
<observation classCode="0BS” moodCode="EVN™>
{code code="24" codeSystem="2, 16. 840. 1. 113883, 3,989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL” value="true"/>
¢l-- E.i.8: Medical Confirmation by Healthcare Professicnal #1 -->
¢/observation>
{/outboundRelationship2>
{outboundRelationshipZ typeCode="PERT">



<ohservation classCede="0BS” mcodCode="EVN">
{code code="11" codeSystem="2. 16, 840, 1. 113883, 3.989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayNane="3R4&0 « BE&0" />
<{value x5i:type="CE” code="]J2.14. 1" codeSystem="2. [h. 84(, 1. 113883, 3.989,5.1.3. 2. 1. 8"
codeSystemVersion="1,0"/>
<I-- @@eJz. 14.1 40 - BE&n #1 —>
{/observation>
{/outboundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN™>
<id root="2haa28d6-c9eB8-4a6c—-93e9-5b860b314220" />
{code code="29" codeSystem="2. 16. 840, 1, 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/> '
{effectiveTime xsi:type="IVL_TS">
low value="20090101"/>
¢I-- E.i.4: Date of Start of Reaction / Event ¥2 —>
<pidth value="24" unit="E. i.6b"/>
|-~ E. i, 6a: Duration of Reaction / Event (number) #2 —>
{|-— E.i.Bb: Duration of Reaction / Event (unit} #2 ——>
{feffactiveTime>
{value xsi:type="CR" code="E.i.2.1h" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="E. i.2. 1la™>
{1~ E. 4.2, 1a: MedDRA Version for Reaction / Fvent #2 —)
¢|-- E.1, 2. 1b: Reaction / Event (MedDRA code)l H#2 ——
{originalText language="E.i,1.1b">E.i.1.la¢/originalText>
¢l~- E, i.1, la: Reaction / Event as Reported by the Primary Source in Native Language #2 ——>
¢|—— B.i.1.1b: Reaction / Fvent as Reported by the Primary Source Language #2 -2
</value>
{location typeCode="L0C">
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E.1.9" codeSystem="1.0.3166.1.2.2"/>
{4 E. i.9: Identification of the Country Where the Reaction / Event Occurred #2 —>
{/locatedPlace> .
¢/locatedEntity>
¢/location>
<outboundRelationshipZ typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1, 1"
displayName="reactionForTranslation”/>
{value xsi:type="ED"DE. 1. 1.2<{/valued>
¢!-— E.i,1.2: Reaction / Event as Reported by the Primary Source for Translation #2 —»
{/abservation>
{/outboundRelationship2>
<outboundRelaticnship? typeCode="PERT™>
{ohservaticn classCode="0BS” moodCode="EVN">
. <code cods="37" codeSystem="Z. 16. 840. 1. 113883, 3. 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.1i.3.1" codeSystem="2. 16,840, 1. 113883. 3. 889. 2. 1, 1. 10"
codeSystemVersion="1, 0"/
¢!=— E.i.3.1:Tern Highlighted by the Reporter #2 —
</ohservation>
{/eutboundRelationship2>
{outboundRelationship2 typeCode="FERT">
{observation classCode="0BS” mocdCode="EVN">
{code code="34" codeSystem="2.16.840. 1. 113883, 2.983. 2. 1.1, 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
{value xsi:type="BL" value="true”/>
¢!— E.{.3.2a: Results in Death #2 -—>
{/observation>
{/outboundRelationship2>
{outbeundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
‘ {code code="21" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
¢value xsi:type="BL” nullFlavor="NI1"/>
{l-— E.i.3.2b: Life Threatening #2 —>



{/observation>
{/cutboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
(code code="33" codeSystem="2.16.840. 1. 113883. 3. 989, 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="requiresInpatientlospitalization”/>
<value xsi:type="BL” value="true”/>
¢l-— E.i.3.2c: Caused / Prolonged Hospitalisation #2 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{ohservation classCode="0BS” moodCode="
{code code="35" codeSystem="2.16.840. 1. 113883. 3. 989, 2. 1. 1. 12" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value zsi:type="BL" nullFlavar="NI1"/>
¢<l-- E.i.3.2d: Disabling / Incapacitating 2 —>
</observationy
T Z/outboundRelaticnshipZy
{outboundRelationship2 typeCode="PERT">
{observation clazsCode="0B3” mocdCode="EVN"> ‘
<code code="12" codeSystem="2. 16, 840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayNeme="congenitalAncnalyBirthDefect”/>
{value xsi:type="BL” nullFlavor="NI"/>
{I-— E.i.3.2e: Congenital Anomaly / Birth Defect #2 -—>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="26" codeSystem="2. 16, 840. 1, 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
¢l— E.i.3.2f: Other Medically Important Condition #2 —>
{/observation>
{/outboundRelationship2>
<outhoundRelationship? typeCode="PERT”>
{observation classCode="0BS" mocdCode="E¥N">
{code code="27" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1,1"

displayName="cutcome”/>
{yalue xsiitype="CE” code="E.i.7” codeSystem="2. 16, 840. 3. 113883.3.980.2.1.1. 117
codeSystemVersion="1.0"/> ‘
i—— B, i.7: Outcome of Reaction / Event at the Time of Last Observation 2 —>
{/observation>
{/outhoundRelaticnship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16, 840, 1, 113883, 3. 98%. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="medicalCenfirmaticnByHealthProfessional />
<value xsi:type="BL” value="true”/>
(i-— E.{i.8: Medical Confirmation by Healthcare Professional #2 -—>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCade="PERT>
{chservation classCode="0BS"” moodCode="EVN">
<{cede code="11" codeSystem="2. 16. 840. 1. 113883, 3,989, 5. 1.3, 2. 1. 10" codeSystemVersion="1.0"
displayName="ZH1 - BEE1" />
<value xsi'type="CE” code="72.14.1" codeSystem="2. 16.840.1.113883.3.989.5.1.3.2.1.8"
codeSystemVersion="1.0"/>
- gea]e, 14,1 A& - BRE 42 —
{/observation>
{/outboundRelationship2>
{/observaticn>
¢/subjectOf2>
{subjectCf2 typeCode="SBJ]">
{observation classCode="0BS” moodCode="EVN")>
<id Toot="3a8626cb—9f1b—4en8-8a0f-e0ff34430adf” />
{code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 988, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reacticn”/>
{effectiveTime xsi:type="IVL_TS">
<width value="24" unit="E.i.6b"/>



¢l-— E.i.Ba: Puration of Reaction / Event {number} #3 ——>
<|-- E.i.6b: Duration of Reaction / Event (unit) #3 ——>
<high value="20101201"/>
¢! E.i.5: Date of End of Reaction / Event #3 —>
{/effectiveTime>
<yalue xsi:type="CBE” code="E.i.Z2.1b" codeSystem="2, 16. 840, 1, 113883. 6. 163"
codeSystemVersion="R. 3.2, 1a">
{l—E.i,2 1a: MedDRA Version for Reaction / Event #3 —>
¢l—— E.i,2.1b: Reaction / Event (MedDRA code) #3 —
<originalText language="E.i.l.1b">E.1, 1. 1a/original Text>
<l— E.i.1.1a: Reaction / Event as Repcrted by the Primary Source in Native Langliage #3 ——>
¢l— E.i,1.1b: Reaction / Event as Reported by the Primary Source Language #3 —>
</value>
{location typeCode="L0C">
{locatedEntity classCode="LOCE">
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.i.9" codeSystem="1,0,31668.1.2. 2"/>
¢l-- E.1.9: Identification of the Country Where the Reaction / Event Occurred #3 —
<{/lacatedPlacey
{/locatedBntity>
<{/location>
{outboundRelationship? typeCode="FERT">
<observation classCode="0BS" moodCode="EVN">
<code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="reactionForTransiation”/>
<value xsi:type="ED"DE,i.1.2¢{/value> .
{!=— E.i.1.2: Reaction / Bvent as Reported by the Primary Source for Translation #3 -—>
¢/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code. code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="termHighlightedByReporter”/> .
¢value xsi:type="CE” code="E.1i.3.1" codeSystem="2. 16. 840. 1, 113883, 3. 989. 2. 1. 1. 10"
codeSystemVersion="1. 0" />
¢!-— E.i.3.1:Term Highlighted by the Reporter #3 —>
{/chservation)
{/outboundRelationship2>
{outboundRelationship2? typeCode="PERT">
{ohservatien classCode="0BS" mocdCode="EVN">
{code code="34" codeSystem="2. 16. 840. 1. 113883. 3.989.2.1.1.19
displayName="resultsInDeath”/>
{value xsi:type="BL” value="true”/>
¢l— E.i.3.2a: Results in Death #3 —>
{/ohservation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
<cbservation classCode="0BS” moodCode="EVN">
{code code="21" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1
displayName="1isLifeThreatening”/>
<value xsi:type="BL” nullFlaver="NI"/>
¢l-- E.1.83.2b: Life Threatening 3 ——>
</chservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<{observation classCode="0BS" moodCode="EVN">
{code code="33" codeSyster="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL” value="true”/>
{!-- E.1.3.2c: Caused / Prolonged Hospitalisation #3 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation claszCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2.16. 840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemYersicn="1.1
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlaver="NI"/>
{l-—~ E.1i.3.2d: Disabling / Incapacitating %3 —>
{/observation>

”

codeSystemVersion="1.1"

”

”



<{/outboundRelationship2>
<outboundRelaticnship2 typeCode="PERT”>
<cbservation classCode="CBS” moodCode="EVN">
{code code="12" codeSystem="2.16. 840. 1. 112883, 3.989. 2. 1. 1. 19” codeSystemYersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
{value xsiitype="BL” nullFlaver="NI1"/>
{{-— E.{i.3.2e: Congenital Anomaly / Birth Defect #3 --—>
{/observation>
{/cutboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS" moodCode="BVN™>
{code code="26" codeSystem="Z2. 16.840, 1. 113883, 3, 989.2.1.1.19
displayName="otherMedicallyInportantCondition”/>
{value xsiitype="BL” value="true”/»
<!-— E.i.3.2f: Other Medieally Important Condition #3 ——>
{/chservation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
(ohservation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2, 16. 840, 1, 113883, 3, 989, 2, 1. 1, 19" codeSystemYersion="1.1"

»

codeSystemVersicn="1.1"

displayName="outcome” />
{value xsi:type="CE” code="E.i.7” codeSystem="2. 16. 840, 1.113883.3.989.2.1.1. 117
codeSystemYersion="1.0"/>
¢!-— E.1i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —>
{/observation
</outboundRelationship2> )
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="0B3” moodCode="E¥N">
{code code="24" codeSysten="2, 16. 840, [, 113883, 3. 989: 2. 1. 1. 16" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
<{value xsi:type="BL" value="true”/>
¢I-- E.i.8: Medical Confitmation by Healthcare Professional #3 —>
{/observation>
¢/outboundRelationship2>
{outboundRelaticnship2 typeCode="PERT">
{observation classCode="0BS” meodCede="EVN">
" <code code="11" codeSystem="2. 16. 840. 1. 113883, 2.989.5. 1. 3. 2. 1. 10" codeSystemVersion="1. 9"
displayName="3H - BE&n"/>
(value xsi:type="CE” code="J2.14.1" codeSysten="2. 16. 840, 1, 113883.3.980.5.1.3.2. 1.8
codeSystemVersion="1.0"/>
<1-- 80eJ2.14. 1 3R - BE& #3 —
{/ohservation>
{/outhoundRelationship2>
{/observation?
{/subject0f2>
{stthject0f2 typeCode="SBJ ">
{observation classCode="0BS” moodCode="EVN">
{id root="2e99840f-08b4-499c—80ff-dd8415f4f8a5" />
{eode code="20" codeSystem="2. 16. B40. 1. 113883. 3. 089. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="reaction”/> )
{effectiveTime xsi:type="SXPR_TS">
Ceomp xsi:type="IVL_TS">
{low value="20090101"/>
{!— E.i.4: Date of Start of Reaction / Bvent §4 —>
¢high value="20101201"/>
¢!-— E.i.5: Date of End of Reaction / Event #4 -—>
</comp>
{comp xsi:type="IVL_TS” operator="A">
{width value="24" unit="E.i.6b"/>
¢l— B.i.6a: Duration of Reaction / Event {(number) #4 —>
¢!— E.i.8b: Duration of Reaction / Event {unit} #4 -->
{/comp>
{/effectiveTime>
<yalue xsiitype="CE” code="E.i.2.1b" codeSystem="2. 16, 840. 1, 113883. 6. 163"
codeSystemVersion="E. i. 2. 1a™>
¢1— E. 1. 2. 1a: MedDRA Version for Reaction / Event #4 ——>
¢l B.i.2.1b: Reaction / Event (MedDRA cocde) #4 -
{originalText language="E. i.1.1b"}E.1i.1. la/originalText>
{l-- E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #4 —>



¢!-- E.i.1,1b: Reaction / Event as Reported by the Primary Source Language #4 —>
¢/value>
(location typeCode="LOC™>
<locatedBntity classCode="LOCE”>
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E.i.9" codeSystem="1.0,3166.1.2, 27/>
{l-- E.1.9: Identification of the Country Where the Reaction / Event Occurred #4 —>
{/locatedPlace>
¢{/locatedEntity>
</location>
<outboundRelationship? typeCode="PERT>
{observation ¢lassCode="0BS” mocdCode="EVN">
{code code="30" codeSystem="2, 16. 840. 1, 113883, 3. 989. 2. 1. 1, 19" codeSystemYersion="1.1"
displayName="reactionForTranslation”/>
<{value xsi:type="ED">E.i.1.2<{/value>
¢!--— B, i.1.2: Reaction / Event as Reported by the Primary Source for Translation #4 —>
{/observation>
{/outboundRelationshipZ>
{outboundRelaticnship? typeCode="FERT">
{observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1, 1. 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter” />
{value xsi:type="CE” code="E. 1. 3. 1" codeSystem="2. 16.840. 1. 113883, 3. 980.2. 1. 1. 10”
codeSystemVersion="1.07/>
<l-—E.i.3.1:Term Highlighted by the Reporter #4 —>
</cbservation>
{/cutboundRelationship2>
<putboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16, B40. 1. 113883.3.980. 2. 1. 1, 18” codeSystemVersion="1. 1
displayName="resultsInDeath”/>
{value xsi:type="BL" value="true”/>
{J— B.i.3.2a: Results in Death #4 —>
{/observation>
{/outhoundRelationship2>
¢outboundRelationship? typeCods="PERT">
{chservation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2. 16. 840. 1. 113883. 5. 989, 2. 1. 1. 19" codeSystemVersiocn="1.1"
displayName="1sLifeThteatening”/>
<{value xsi:type="BL” nullFlavor="NI"/>
{l—— E.i.3.2b: Life Threatening f#4 ——>
<{/cbservation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="33" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1.1
displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL” value="true”/>
{}— E.i.3.2¢: Caused / Prolonged Hospitalisation #4 —>
{/observation>
{/outbeundRelationship2>
{outboundRelationship? typeCode="PERT”>
<observation classCode="0BS” mocdCode="EVN">
(code code="35" codeSystem="2.16. 840. 1. 113883. 3.988. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="resultsInPersistentOrSighificantDisability”/>
{value xsiitype="BL” nullFlavor="N1"/>
¢l-- E.1i.3.2d: Disabling / Incapacitating #4 —>
</observationy
{/outboundRelationship2>
{outboundRelationship2 typeCode="PBRT">
{observation classCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2. 16. 840. 1, 113883. 3.985. 2, 1. 1. 18" codeSystemYersion="1. 1
displayName="congenitalAncmalyBirthDefect”/>
{value xsi:type="BL" nullFlavor="NI"/»
{!-— E.i.3.2e: Congenital Anomaly / Birth Defect #4 ——>
</observation>
{/outbeundRelationship2>
{putboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">

”

»

»



{code code="26" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
(I-— E.i.3.2f: Other Medically Important Condition #4 —>
{/observation>
<{/outboundRelationship2>
<outboundRelationship2 tvpeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2. 16. 840, 1, 113883.3,989.2. 1, 1. 19” codeSystemYersion="1.1"
displayName="outcoms” />
<value xsi:type="CE” code="E, i.7" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.11"
vodeSystenVersion="1. 0"/
{i-- E.1.7: Outcome of Reaction / Bvent at the Time of Last Observation #4 -—>
¢/ohservation>
¢/outboundRelationship2>
<{outboundRelationship? typeCode="PERT">
{ohservation classCode="0DBS" moodCode="EVN"> B
{code code="24" codeSysten="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayNaeme="nedicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
¢l-=— E.i.8: Medical Confirmation by Healtheare Professional #4 ——>
{/chservation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” macdCode="EYN">
<code code="11" codeSystem="2, 16. 840. 1, 113883, 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="7%0 - BEEN"/>
{value xsiitype="CE"” code="J2.14. 1" codeSystem="2. 16,840, 1. 113883, 3.989.5.1.3.2.1.8”

codeSystemVersion="1, 0" />
<l-- @@eJa. 14. 1 FH0 - BLaw #4 —
{/observation>
{/vutboundRelationship2>
</observation>
{/subject0f2>
<{subject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVN">
{id root="1071064c—cf10-4a3b—-83¢c1-34F9ddhT=abd” />
<code code="290" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="reaction”/>
<effectiveTime xsi:type="IVL_TS8">
¢low value="20050101"/>
{I-= E.i.4: Date of Start of Reaction / Event #5 —>
{/effectiveTime>
<value xsi!type="CE” code="F.i.2. 1b" codeSystem="2, 16,840, 1. 113883, 6. 163"
codeSystemVersien="E. i. 2, la”>
{-- B.i.2 la: MedDRA Version for Reaction / Event #5 —>
(!~ E.i.2. 1b: Reaction / Event (MedDRA cods) #5 —>
<originalText language="E. 1. 1.1b">E.1i.1, la/originalText>
¢!—— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #5 —>
{!-— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #5 —->
{/value>
<location typeCode="L0C">
{locatedEntity classCode="LOCE">
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
{code code="E.3i.9" codeSystem="1.0.3166,1.2.2"/>
(-~ B, i.9: Identification of the Country Where the Reactiocn / Event Occurred #5 —>
{/locatedPlace>
¢/locatedBntity>
{/location>
{outboundRelaticnship? typeCode="PERT">
{vbservation classCode="0BS” moodCode="EVN">
{code code="30" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
{value ¥si:type="ED">E.i.1.2¢{/value>
<{i-— E.i.1.2! Reaction / Event as Reported by the Primary Source for Translation #5 —>
{/observation>
{/eutboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="(B3" moodCode="EVN">



<code code="37" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2, 1. 1, 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter”/>
(value xsi:type="CE” code="E.1i.3.1" codeSystem="2.16.840.1.113883.3.989.2.1, 1. 10"
codeSystemVersion="1. 0"/>
¢l-— B i.3.1:Term Highlighted by the Reporter #5 —>
{/observation>
{/outboundRelationship2>
{outthoundRelaticnship? typeCode="PERT™>
{observaticn classCode="0BS" moodCode="EVN">
{code code="34" codeSystem="2, 16. 840, 1, 113883, 3. 989, 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="resultsInDsath”/>
(value xsiitype="BL” value="true”/>
¢]-- K.i.3.2a: Results in Death #5 ——>
{/chservation>
{/outboundRelaticnship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS” mocdCode="EVN">
{code code="21" codeSystem="2. 16, 840. 1, 113883. 3,980, 2. 1, 1. 19” codeSystemVersion="1.1
displayName="1sLifeThreatening”/> i ’
¢value xsi:type="BL" nullFlavor="NI"/>
{l— F,i,8,2b: Life Threatening #5 —>
{/observation>
</outhoundRel ationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> )
<code code="33" codeSystem="2, 18, 840, 1. 113883, 3. 980. 2. 1. 1, 19" codeSystemVersion="1.1"
displayNeme="requiresInpatientBospitalization”/>
{value xsi:type="BL" value="true”/>
{1— E.i.3.2c: Caused / Prolonged Hospitalisation H5 —>
</ohservation) '
{/outboundRelationship2>
<outboundRelaticnship2 typeCode="PERT">
<chservation classCode="0BS" moodCode="EVN">
{code code="38" codeSystem="Z2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemYersion="1.1
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlavor="NI"/>
¢l-— E.i.3, 2d: Disabling / Incapacitating #§ —>
</chservation>
{/outboundRelationship2>
{outboundRelationshipZ typeCode="PERT">
{observation classCode="0BS" moddCode="EVN">
{code code="12" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect” />
{value xsiitype="BL” nullFlavor="NI"/>
¢{!=— E.i.3.2e: Congenital Anomaly / Birth Defect #5 —>
</obseryation>
</outhboundRelationship2>
<outboundRelaticnship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
(code cade="26" codeSystem="Z. 16. 840, 1, 113883. 3, 989, 2. 1. 1. 18" codeSystemYersion="1,1"
displayName="otherMedicallyImportantCondition”/>
(value xsiitype="BL” value="true”/>
<l-— B, i, 3,2f: Other Medieally Important Condition #5 —>
{/observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="FERT”>
<observation classCode="0BS" moodCode="EVN"> .
{code code="27" codeSystem="2. 16. 840. 1, 113883, 3, 989, 2, 1. 1. 19" codeSystemVersion="1.1"

”

>

displayName="outcome”/>
Cvalue xsi:type="CE” code="E. 1. 7" codeSystem="2.16.840.1. 113883.3,989.2.1. 1. 11"
codeSystemYersion="1.0"/> ‘
{!-- ¥ i.7: Outcoms of Reaction / Event at the Time of Last Observation #5 ——>
{/observation>
</outboundRelationship2>
{outboundRelaticnship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> )
{code code="24" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL” value="true”/>



¢l--~ E.i.8! Medical Confitmation by Healthcare Professional #5 ——>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2. 16.840. 1. 113883. 3. 989.5.1.3.2. 1. 10" codeSystemVersion="1. §”
displayName="7:%0 - BEEN"/>
(value xsitype="CE” code="J2.14. 1" codeSystem="2. 16. 840, 1. 113883. 3. 989.5.1.3.2.1. 8"
codeSystemVersion="1, 0" />
|- 88872 14. i HH - BES #5 -
{/ovbservation>
{/outboundRelationshipZ>
{/observation>
{/subject0f2>
{subjectf2 typeCode="SB]">
{obgervation c¢lassCode="0BS” moodCode="EVN">
¢id Toot="1¢927283-10b6-4334 0d43-e925640Tb18E" />

{code code="29" codeSystem="2. 16. §40. 1. 113882.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xzsi:type="IVL_TS">
Chigh value="200801017/>
{|-— E.i.4: Date of Start of Reaction / Bvent #6 —>
{/effectiveTime>
{value xsi:type="CE” code="E. i.2.1b" codeSysten="2, 16, 840. 1, 113883. . 163"
codeSystemVersion="E. 1.2. 1a">
{}—— E.i,2 la: MedDRA Version for Reaction / Event #6 —>
{}-- E.1.2.1b! Reaction / Event (MedDRA code) #6 —>
{originalText language="E.i.1. 1b">E.1i.1.lal/originalText>
¢}—— E.i.1.1a: Reaction / Event as Reported by the Primary Soutce in Native Language #6 ——>
<l-—— E.i. 1, 1b: Reaction / Event as Reported by the Primary Scurce Language #6 ——
{/value>
¢location typeCode="LUC">
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<{code code="E.i.9” codeSystem="1.0.3166,1.2. 2"/
{l-- E.i.9: Identification of the Country Where the Reaction / Event Occurred #6 >
{/locatedPlace>
{/locatedEntity>
{/location>
{outboundRelationship2 typeCode="PERT">
¢observation classCode="0BS” moocdCade="EVN">
{oode cnde="30" codeSystem="2. 15 840 1 113883 3, 689 2, 1.1,19” codeSystemYersion="1.1"
displayName="reactionForTranslation”/>
{value xsi!type="ED"DE.1i, 1, 2{/value>
¢l-- E.i.1.2: Reaction / Event as Reported hy the Primary Scurce for Translation #6 ——>
{/observaticn>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1. 1"
displayName="termHighlightedByReporter”/>
¢value xsiitype="CE” code="E.i.3.1" codeSystem="2.16, 840. ;. 113883.3.989.2.1.1. 10"
codeSystemVersion="1.0"/>
¢l-—E. 1,3, 1:Term Highlighted by the Reporter #6 -—>
{/cbservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="34" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
<value xsiitype="BL” value="irue”/>
<I-— E.1.3.2a’ Results in Death §& —>
</observation>
{/outbeundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="21" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 12”7 codeSystemYersion="1. 1"
displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlaver="RI"/>




¢l— E, i, 3.2b: Life Threatening #6 —>
¢/observationy )
{/outhoundRelationship2>
(outboundRelaticnship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{code code="33" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization®/>
{value xsi:type="BL” value="true”/>
¢!— E.i.3.2c! Caused / Prolonged Hospitalisation H6 —->
</vbservation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2. 16. 8§40, 1. 113883, 3. 989, 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL"” nullFlavor="NI"/>
¢{1-- E.i.2.2d: Disabling / Incapacitating #6 ——>
<{/observation> '
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” meodCode="EVN">
<code code="12" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefeet”/>
{value xsi:type="BL” nullFlavor="NI"/>
¢!— B.i.3.2e: Congenital Anomaly / Birth Defect #6 —>
(/ohservation}
{/outboundRelationship2>
<outboundRelaticnship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2. 16. 840. 1. 113883. 5. 989. 2. 1. !, 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
<{value xsi:type="BL” value="true”/>
<|-—E.1i.3.2f Gther Medically Important Condition #6 ——>
{/cbservationy ’
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observaticn classCode="0BS” moodCode="BVN">
{code code="27" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="outcome”/> ‘
<value xsi:type="CE” code="E.i.7” codeSystem="2.16.840. 1.113882.3.989.2.1.1.11"
codeSystemVersion="1. 07/> :
{l-—E.i.7: Outcome of Reaction / Event at the Time of Last Observation H6 ——>
{/observation>
{/outhoundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0B5" moodCode="EYN">
<code code="24" sodeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="medicalConfirmationByllealthProfessicnal”/>
{value xsi:type="BL" value="true”/>
¢{l-—E.1i.8: Medical Confirmation by Healthcare Professicnal #6 —>
{/observation>
{/cutboundRelaticnship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="11" codeSystem="2.16. 840. 1. 113883.3.989.5.1,3.2. 1. 10" codeSystemVersion="1, 0"
displayNeme="7%0 - BLAN"/>
{value xsi:type="CE” code="J2. 14.1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1. 8"
codeSystemVersion="1, 07/>
I @@ET2. 14,1 F50 - BEER #6 ——
{/chservation»
{/outbotndRelationship2>
{/observation>
' {/subjectOf2>
<subject0f2 typeCode="SB]">
{observation clessCode="0BS” moodCode="EVN">
<id root="e0342969-38be—423f~b6bb—celdbc279d8e” />
{code code="29" codeSystem="2. 16.840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS">



<width value="24" unit="E.{i.6h"/>
<!-- E.i.6a: Duration of Reaction / Event (number) #7 —>
¢l-~ E.i.6b: Duration of Reaction / Event (unit) #7 —>
{/effectiveTime>
¢value xsi!type="CE” code="E.1i.2.1b" codeSystem="2. 16. 840. 1. 113883, 6. 163"
codeSystemVersion="E. i, 2. 1a">
¢l-— E.i.2.1a: MedDRA Version for Reaction / Event #7 —>
¢l-— E.i.2. 1b: Reaction / Event (MedDRA code) #7 —
(originalText language="E.i.1.1b">E.i. 1. la{/originalText>
<|-—— E,i,1. 1a: Reaction / Event as Reported by the Primary Source in Native Language #7 —>
{I-- E i.1.1b: Reaction / Event as Reported by the Primary Source Language #7 —>
{Svaluer
{location typeCode="LOC™>
(locatedEntity classCode="LOCE">
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E.i.9” codeSystem="1.0.3166,1.2.2"/>
{I-- 8. i.9: Identification of the Country Where the Reaction / Event Cccurred #7 —>

</locatedPlaces T
{/locatedBntity>
</locaticn>
{autboundRelationship? typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
{code code="30" codeSystem="2Z.16.840. 1. 113883, 3. 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation” /> )
{value xsiitype="ED"E. i. 1. 2¢{/value>
{1-— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation {7 -
{/ohservation>
{/outbeundRelationship2>
<outboundRelationship? typeCode="FERT">
<observation classCode="0BS” meadCode="EVN">
{code code="37" vodeSystew="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="termHighlightedByReporter” />
{value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16, 840. 1. 113883, 3.989.2, 1. 1. 107
codeSystemVersion="1.0"/>
¢l-—— E.i.31:Term Highlighted by the Reporter #7 ——>
{/chservation>
{/outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
{sode code="34" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="resultslnleath”/>
<value xsi:type="BL” value="true”/>
¢l-- E.i.3.2a: Results in Death #7 ——
{/chservation>
{/outboundRelaticnship2>
<outboundRelationship? typeCode="PERT">
<cbservation classCode="0BS” moodCode="EVN">
(code code="21" codeSystem="2. 16.840. 1, 113883, 3,989, 2, 1. 1. 18" codeSystemVersion="1, 17
displayName="isLifeThreatening”/>
{value xsiltype="BL” nullFlavor="N1"/>
{{~- E.1i.3.2b: Life Threatening #7 —>
{/observation>
{/outhoundRelationship2>
CoutboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="E¥N">
{code code="33" codeSysten="2. 15. B40. 1. 113883, 3. $89. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="teguitresInpatientHospitalization”/>
<value xsi:type="BL" value="true”/>
I E.i.3.2¢c: Caused / Prolonged Hospitalisation #7 —>
</ohservation>
</outboundRelationship2>
{outboundRelaticnship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{code code="35" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL” nuilFlavor="NI"/>
<l— E.i.3.2d: Disabling / Incapacitating #7 ——>
{/observation>
{/outboundRelationship2>



{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EYN">
{code code="12" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAriomalyBirthDefect” />
{value xsi:type="BL” nullFlaver="NI"/> :
{{-- E.i.3.2e: Congenital Anomaly / Birth Defect #7 —>
{/vbservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
{code code="26" codeSystem="2. 16. §40. 1. 113883. 3, 989, 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="otherMedical lyImportantCondition”/>
{value xsi:type="BL" value="trus"/>
{!-—~ E.i.3.2f: Other Medically Important Condition #7 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
{observation classCode="0B5" moodCode="EYN">
{code code="27" codeSystem="2.16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” codeSystemYersion="1, 1”
displayName="outcome” /> .
{value xsi:type="CE” code="E, i.7" codeSystem="2. 16. 840, 1. 113883.3,989. 2. 1.1. 117
codeSystemYersion="1. 0" />
¢l—— E. {.7: Outcome of Reaction / Event at the Time of Last Observation #7 =~
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="(BS" moodCode="EVN">
{code code="24" codeSystem="2, 16, 840. 1. 113883, 3, 989, 2, 1. 1, 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHeal thProfessional”/>
{value xsi:type="BL” value="true”/>
{l-- E.1i.8: Medical Confirmation by Healthcare Professional #7 —>
</observation> .
{/cuthoundRelationship2>
{outboundRelationship2 typelode="PERT">
<observaticn classCode="0BS" moodCode="EVN"> .
<code code="11" codeSystem="2. 16, 840, 1, 113883, 3. 989.5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="54%0 - FLE1"/>
<valte xsi:type=“CE” code="J2.14.1" codeSystem="2. 16. 840, 1. 113883.3.989.5.1.3.2. 1. 8"
codeSystemVersion="1,0"/>
<l-- @6aT2, 14.1 Fm - B #1 —
{/observation>
{/outhoundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBJ">
<chservation classCode="0BS” moodCode="EVYN">
{id root="al5be092-8070-426d-af04-6863263445e0” />
{code code="29" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemYersion="1, 1"
displayName="reaction”/>
{effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="IVL_TS">
{low value="20090101"/>
{l-— E.i.4: Date of Start of Reaction / Event #8 —>
<width value="24" unit="E. i, 65"/
<!-— E.i.6a! Duration of Reaction / Event (number) #8 ——>
{1~ E.i.6b: Duration of Reaction / Event {unit) #8 ——>
{/comp>
{comp xsi:type="IVL_TS” cperator="A">
<high value="20101201"/>
<l-— B, i.5: Date of End of Reaction / Event #§ -->
{/comp>
{/effectiveTime>
{value xsiitype="CE” code="E.i.2.1b" codeSystem="2. 16, 840, 1, 113883, 6. 163"
codeSystemVersion="E.i.2. 1a™>
<1-- E.i.2 la: MedDEA Version for Reaction / Event #8 ——>
|~ E.i.2. 1b: Reaction / Event (MedDRA code) #8 —>
<originalText language="E. i, 1.1b">E. i.1.1al/originalText}
¢l-= E.i. L la: Reaction / Event as Reported by the Primary Source in Native Language #8 -—>
<!-— E.i.1 1b: Reaction / Event as Reported by the Primary Source Language #8 -->



codeSystemVersion="1. 0" />

displayName="requiresInpatientHospitalization”/>

{/value>
{location typeCode="10C">
<locatedEntity classCode="LOCE™>
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E.i,9” codeSystem="1. 0. 3166. 1. 2.2"/>
¢(l-- E.i.9: Identification of the Country Where the Reaction / Event Occurred #3 —>
<{/locatedPlace>
(/locatedEntity>
{/locaticn>
CoutboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>
{code code="30" codeSystem="2. 16. 840, 1, 113883, 3. 989. 2. L. 1. 19" codeSystemVersion="L, 1"

displayName="reactionForTranslation”/>

<value xsi:type="ED"JE. 1.1, 2¢{/value>
¢l-- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 ——>
<{/chservation>
¢/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” mocdCode="EVN">
{code code="37" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="termlighlightedByReporter”/>

¢value xsi:type="CE” code="E.1i.3. 1" codeSystem="2.16. 840. 1. 113883.3.989.2. 1. 1. 10"

<!-— E.i.3.1:Term Highlighted by the Reporter #8 —>
</observation>
<{/outboundRelationship2>
<outboundRelationshipZ typeCode="PERT">
{observation classCode="CBS” moodCode="EVN™>
{code code="34" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="resultsInDeath”/>

Cvalue xsi:type="BL” value="true”/>
<1— E.i.3.2a: Results in Death #8 ——>
{/observation>
{/outboundRelationship2>
¢outhoundRelationship? typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
{code code="21" codeSystem="2. 16. 840, 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="1isLifeThreatening”/>

Cyalue xsi!type="BL” nullFlavor="NI"/>
¢l-—~ E.i.3.2b: Life Threatening 8 —>
</chservation>
</outboundRelationship2?>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” mocdCode="EVN">
<code code="33" codeSystem="2, 16, 840, 1, 113883, 3. 989, 2, 1, 1, 19”7 codeSystemVersion="1.1"
{value xsi:type="BL” value="true”/>
¢l-- E.i.3.2¢: Caused / Prolonged Hospitalisation #8 —>
</observation?
{/outboundRelationshipZ>
<outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
<code code="35" codeSystem="2.16. 840. 1. 113883, 3. 989, 2, 1.1, 19" codeSystemVersion="1. 1"

displayName="resultsInPersistentOrSignificantDisability”/>

<value xsi:type="BL” nullFlavor="NI"/>
¢<l-- E.i.3.2d: Disabling / Incapacitating #8 —>
/observation>
{/outhoundRelationship2>
<outboundRelationship2? typeCode="PERT™>
{observation classCode="0BS” mocdCode="EVN™>
{code code="12" codeSystem="2. 6. 840. 1. 113883. 3. 98%. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="congenitalAnomalyBirthDefect”/>

<value xsi:type="BL” nullFlavor="N1"/>
¢}-- E.i.3.2e: Congenital Anomaly / Birth Defect #8 —>
</observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
<pbservation classCode="0BS” moodCode="EVN">
¢code code="26" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. 1. 1. 19” codeSystemVersion="1.1"



displayName="otherMedicallyInportantCondition”/>
<{value xsi:type="BL" value="true”/>
t— E.i.3,2f: Other Medically Important Condition #8 —>
</observation>
</outheundRelationship2>
{outboundRelationship2 typeCode="PERT">
{chservation classCode="0BS” moodCode="EVN"» .

{code code="27" codeSystem="2. 16. 840, 1, 113883. 3,989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="outcomrs”/> : )
(value xsi:type="CE” code="E.i.7” codeSystem="2. 16. 840.1.1313883.3.989.2.1.1,11"
codeSystemYersion="1.0"/>

{!-— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #8 —>

{/observation>
</outboundRelationship2>
{outhoundRelationship? typeCode="FERT">
{observation classCode="0BS" mocdCode="EVN"> .

{code code="24" codeSystem="2. 16, 840. 1. 113883, 3,989. 2. 1, 1, 18" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>

{value xsi:type="BL” value="true”/>

<!-— E.1i.8: Medical Confirmation by Healthcare Professional #8 —>

{/observation>
{/outboundRelationship?»
{outboundRelationship2 typeCode="PERT">
<ohservation classCode="0BS” moodCode="EVN"> :
{code code="11" codeSystem="2. 16. 840. 1. 113883, 3. 989, 5, 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="54 - &1 /> :

{value xsi:type="CE” code="J2.14.1i" codeSystem="2. 16. 840, i. 113883, 3. 989, 5.1.3. 2. 1. 8"
codeSystemVersion="1.0"/> .
<I-— @@8T2. 14.1 A% - BEfn 48 —>

</ohservaticn>
{/outhoundRelationship2>
{/observation>
{/subjectCf2>
{subject0f? typeCode="SB]">
{organizer classCode="CATEGORY” mocdCode="EVN™>
<code code="3" codeSystem="2.16. 840, 1, 113883, 3. 988. 2. 1. 1. 20" codeSystemVersion="1, 0"
displayName="testsAndProceduresRelevantToTheInvestigation”/>
{component typeCode="COMP”>
(observation classCode="0BS" moodCode="E¥YN">
{code code="F.r.2.2b" codeSystem="2. 15. 840. 1. 113883, 6. 163" codeSystemVersion="F.r. 2. 2a">
{l-—~ F.r.2. 2a: MedDRA Version for Test Name 1 —>
¢l-—— F.r.2.2b: Test Name (MedDRA code} #1 ——
{originalText>F. r. 2. I{/original Text>
— F.r. 2. 1! Test Name (free text} #l ——

{/code>

{effectiveTime value="20090101"/>

{I-= F.r.1: Test Date #1 ——

{value xsi:type="TVL_PQ™>

{center value="10" unit="mg/d1”"/>
{I-— F.r.3.2: Test Result (value / qualifier) #I ——>
{I== F.r.3.3: Test Result (mit) #1 —>

{/value>

{interpretationCode code="F.r.3.1" codeSystem="2.16.840. 1. 113883.3.989.2, 1. 1. 127
codeSystemVersion="1. 0"/

¢l-— F.r.3.1: Test Result (code} #1 —>

{referenceRange typeCode="REFV">

{chservationRange classCode="0BS” moodCode="EVN. CRT">

{value xsi:type="PQ” value="40" unit="mg/d1"/>

{!— F.r.4: Normal Low Value #1 -—>

{interpretaticnCode code="L" codeSystem="2. 16. 840. 1. 113883. 5. 83" />
</observationRange>

{/referenceRange>

{referenceRange typeCode="REFV">

{observationRange classCode="0BS” moodCode="EVN, CRT">

{value xsiitype="PQ” value="110" unit="mg/d1”/>

¢l—— F.r.5: Normal High Value #1-->

<interpretationCede code="H" codeSystem="2, I6. 840, 1. 113883. 5. 83"/»
</observationRange> ’

{/referenceRange>



{outboundRelaticnship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
¢cade code="10" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment” />
(value xsi:type="ED">F. r.6¢{/value’
{!-— F.r. 6! Comments (free text) #1 —>
{/observation>
</outboundRelationship?>
{outhoundRelationship? typeCode="REFR™>
{observation classCede="0BS" moodCode="EVN">
{code code="25" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="moreInformationivailable™/>
{value ¥si:type="BL" value="true”/>
<{|—F.r.7: More Informaticn Available #1 -->
{/observation>
{/outboundRelationship2>
<fobservation?

{/component>
{component typeCode="COMP”>
{observation classCode="0BS" moodCode="EVN">
<code code="F.r. 2, 2b” codeSystem="2. 16, 840, 1, 113883, 6, 163" cedeSystemVersion="F. r.2.2a">
¢I-— F.r.2.2a: MedDRA Version for Test Name #2 ——>
{l-— F.r.2.2b: Test Name (MedDRA code) #2Z —>
CoriginalText>F.r. 2. 1</originalText>
{I—— F.r.2.1: Test Name (free text) #2 ——
{/cade>
{effectiveTime value="20000101"/>
{!== F.r.1: Test Date #2 —>
<yalue xsi:type="IVL_PQ">
{low nullFlavor="NINF"/>
<high value="10" unit="mg/d1” inclusive="false”/>
{/value>
{I— F.r.3.2: Test Result (value / qualifier) #2 -->
(l-— F.x.3.3: Test Result {(unit) #2 —>
== LT 10 mg/dl #2 —>
{/observation>
{/component>
{component typeCode="COMP”>
{observation classCode="0BS* moodCode="EVN">
{code code="F.r.2.2b” codeSystem="2. 16. 840, 1, 113883. 6. 163" codeSystemVersion="F.r.2.2a">
¢l-- F.r. 2. 2a° MedDRA Version for Test Name #3 -->
<l—— F.1.2.2b: Test Name (MedDRA code) #3 ——>
CoriginalText>F. t. 2. 1{/originalText>
{l— F.r.2.1: Test Name (free text) #3 ——>
</code>
CeffectiveTime value="20090101"/>
{!-—= F.r.1: Test Date #3 —>
{value xsi:type="IVL_PQ">
(Jew nullFiaver="NINF"/>
<high value="10" unit="mg/d1” inclusive="true”/>
{/value>
{l-— F.r.3, 2: Test Result (value / qualifier) #3 —>
¢l~~ F.r.3.3: Test Result (unit) #3 -
<I-- LE 10 mg/dl #3-—->
{/chservation>
{/component>
<component typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN">
{code code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F. 1. 2. 2a">
¢{I—— F.r. 2. 2a: MedDRA Version for Test Name #4 —>
{}— F.r.2.2h: Tesi Name (MedDRA code) #4 —>
{originalText>F. r. 2. 1{/originalText>
¢I-— F.r.2.1: Test Name {(free text) #4 —>
</code> .
CeffectiveTime value="20090101"/>
(I~= F.r.1: Test Date #4 ——>
{value xsi:type="IVL_PQ">
<low value="10" unit="mg/dl” inclusive="false”/>
<{high nu}lFlavor="PINF"/>



{/value>
{I== F.1.3.2: Test Result (valus / qualifier} #4 ——>
<!-— F.1r. 3.3 Test Result (unit) #4 ——>
<1== 6T 10 mg/dl #4 —>
</observation>
{/component’>
{component typeCods="COMP™>
<observation classCode="0B$" moodCode="EVN">
{code code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystemVersion="F.r.2. 2a”>
{— F.r.2.2a: MedDRA Version for Test Name #5 -—>
== F.r,2.2h: Test Name (MedDRA code} #5 —>
CoriginalText>F. r. 2. 1{/ariginal Text>
¢l-= F.r.2.1: Test Name (free text) #5 ——>
<{feode?
{effectiveTime value="20090101"/>
{!— F.r.1: Test Date H5 ——>
<value xsi:type="IVL_PQ™>
<low value="10" unit="mg/dl” inclusive="true”/>
<nigh nullFlavor="PINF"/>
</value>
I F.r.3.2: Test Result (value / qualifier) #5 —->
}== F.r.3.3: Test Result (unit) #5 —>
<|-- GE 10 mg/dl #5 —>
</nbgservation>
</component >
{compcnent typeCode="COMP™>
{observation classCode="0BS” moodCode="RVN">
{code code="T.r1.2. 2b" codeSystem="2, 16. 840, 1. 113883, 6. 163" codeSystemVersion="F.r. 2. 2a”>
I~ F.r.2.2a: MedDRA Version for Test Name #6 -—>
<l-- F.r.2.2b’ Test Name (MedDRA code) #6 —3
CoriginalText>F. r. 2. i</originalText>
{l=— F.r.2.1: Test Name (free text) #5 ——>
{/code>
{effectiveTime value="20090101"/>
{l— F.r.1: Test Date #6 —>
{value xsi:type="ED">F.r. 3. 4</value>
== F.r.3.4: Result Unstructured Data {(free text) #6 -
</observation>
{/component>
{/organizery
{/subjectOfs>
{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
(code code="4" codeSystem="2. 16, §40. 1. 113883, 3, 989, 2. 1. 1. 20* codeSystemVersion="1, 0"
displayName="drugInformaticn®/>
<I— G.k Drug(s) Information (repeat as necessary) #1 ——>
{component typeCode="COMP”>
<substanceAdministration classCode="SBADM" moodCode="EVN">»
{id root="3c91b4d5—e039-4aT7a~9c30-6767ib0efIe4” />
{consumable typeCode="CSM">
<instanceCfKind classCode="INST">
Ckind0fProduct classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.1,1b" codeSystem="TBD-MPID" codeSystemVersion="G.k. 2. 1. 1a"/}
<= 6.k 2.1. la: MPID Version Date / Number #1 -->
= G, k. 2. 1. 1b: Medicinal Product Identifier (MPID) #1 —>
<{name>G, k. 2. 2</name>
¢I-- G.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 —>
<asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SB]">
<approval classCode="CNTRCT” moodCode="EVN">
(id extension="G. k. 3.1” root="2.16.840, 1, 113883.3.988.2. 1,3, 4"/>
<I-- G.k.3.1: Authorisation / Application Number #1 ——)
<holder typeCode="HLD">
(role classCode="HLD">
<playing0Organization classCode="0ORG" determinerCode="INSTANCE">
<name>G, k, 3, 3</name>
<!~ G.k.3.3: Name of Holder / Applicant #1 —
{/playingQrganization>
{/role>



</holder>
<author typeCode="AUT">
CterritorialAutherity classCode="TERR">
{territory classCode="NAT" determinerCode="INSTANCE™>
{code code="G.k 3.2" codeSystem="1.0. 3166.1.2.2"/>
¢— G. k. 3.2! Country of Authorisaticn / Application #1 ——>
{/territory>
{/territorialAuthority>
{/author>
{pertinentInformatiocn typeCode="PERT">
{policy classCode="PCLICY” moodCode="EVN">
{code code="]Z. 5. k" codeSystem="Z. 16,840, 1, 113883.3.9580.5.1.3.2. 1. 4"
codeSysteaVersion="1.0"/>
<l— @eeJ2.5. k: —MxAELELHEFD) AT KFE #1 -
</policy>
{/pertinentInformation>
¢/approvaly

{/subjectOf>
¢subjectOf typeCode="SB]">
{characteristic classCode="0BS" moodCode="EVN">
¢oode code="1" codeSystem="2. 16, 840. 1. 113883, 3,988, 65.1. 3. 2. 1. 10"
codeSystemVersion="1. 0" displayName="$EERBEOIRBES"/>
{value xsi:type="CE” code="J2.4. k" coﬁeSYstem=”Z.lﬁ.E40.l.113883.3.989.5.1,3.2.1.3”
codeSystemVersion="1.0"/>
<I-- @eeJz. 4.k FEELEORRES #1 >
¢/characteristic>
{/subject0f>
{/asManufacturedProduct>
<asSpecializedKind classCode="GEN">
{generalizedMaterialkind classCode="MAT" determinerCods="KIND">

{code>
{originalText>JZ, 12</originalText>
<1— 8@J2.12: EREHTE — h
{/code>
{/generalizedMaterialKind>
{/asSpecializedKind>
{ingredient classCode="ACTI">
<quantity>

<numerator value="10" unit="G.%. 2 3.r. 3b"/>
<l—— G.k.2.3.1.3a: Strength {(pumber) #1-1 -->
<l G.k.2.3.r. 3 Strength {(unit) #1-1 —>
{denominator value="1"/>
{/quantity>
¢ingredientSubstance classCode="MMAT” determinerCode="KIND">
{code code="G. k. 2.3, r. 2b" codeSystem="TBD-Substance”
codeSystemVersion="6. k. 2.3.r. 2a"/>
(l=- G. % 2.2.1.2a’ Substance / Specified Substance TermID Version Date / Number §1-1
->
{— G. k. 2.3.1.2b: Substance / Specified Substance TermID #1-1 ——>
<name>G. k. 2. 3. r. 1¢/name> :
-~ 6. k.2.3. 1. 1: Substance / Specified Substance Name #1-1 —>
{/ingredientSubstance>
{/ingredient>
ingredient c¢lassCode="ACTI™>
{quantity>
<numerator value="10" unit="G.k 2Z.3.r.3b"/>
{!—— G, k.2.3.7.3a: Strength (number) #1-2 -->
- G. k. 2.3.r.3b Strength (unit) #1-2 —>
{denominator value="1"/>
Squantity>
{ingredientSubstance classCode="MMAT” determinerCode="KIND">
{code code="G. k. 2.3.1.20" codeSystem="TBD~Substance”
codeSystemVersion="G. k. 2. 3. r. 2a”/>
¢|-- 6. k.2.3.1.2a: Substance / Specified Substance TermID Version Date / Number HI-2
-2
¢J— 6.k 2.3.1.2b: Substance / Specified Substance TermID #1-2 ——>
{name>G. k. 2. 3. 1. 1{/name>
{l-— G.k.2.3.r. 1t Substance / Specified Substance Name #i-2 ——>
</ingredientSubztance>



{/ingredient>
</kind0fProduct>
¢subjectOf typeCode="SB]">
(productBvent classCode="ACT” moodCode="EVYN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemYersion="1.0"
displayName="retailSupply”/>
{performer typeCode="PRE">
<{assignedBntity classCode="ASSIGNED">
(representedOrganization classCode="0RG" determinerCode="INSTANCE”>
{addr>
<country>G. k. 2. 4</country>
== 6.k 2.4 Identification of the Country Where the Drug Was Obtaiped #1 -—
{/addr>
{/representedOrganization>
{/assignedEntity>
{/performer>
</productEvent>
{/subject0f>
{(subject0f typeCode="SBI">
{(observationEvent classCode="DBS” moodCode="EVN">
<code code="2" codeSystem="2, 16, 840, 1. 113883, 3. $89.5. 1. 3. 2. L. 10"
codeSystemVersion="1, 0" displayName="—RxFEREH O AFER" >
<value xsi:type="CE” code="32.6.k" codeSystem="2. 16. 840, 1, 113883, 3. 989.5.1.3.2. 1. 5"
codeSystemYersion="1. 0" />
<I-- @gaJ2.6 k: —AEEROCAFER #1 — '
{/observationEvent} -
{/subject0f>
</instance0fKind}
{/consumable>
{outboundReiationshipl typeCode="5AS">
{pauseQuantity value="10" unit="G.k 2.1i. 3. 1b"/>
¢l-- G.k.9.i.3.1a: Time Interval between Beginning of Drug Administratien and Start of
Reaction / Event (number) Drug #1, Reaction #1 —
(I~ G.1.9.1,3.1b: Time Interval between Beginning of Drug Administratien and Start of
Reaction / Event (unit) Drug #1, Reaction #1 —>
{actReference classCode="0BS” moodCode="EVYN">
{id roct="154eb889~958b—45F2-a02f-42d4d6F4657E" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G. k. 9.1i.3.2b"/>
<l-- 6.k.9,1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #i, Reaction #1 —>
<l-- 6,%9.1,3.2b: Time Interval between Last Dose of Brug and Start of Reaction / Event
(unit) Drug #1 Reaction #1 -
{actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-4512— a021—42d4d6f4657f />
</actReference>
{/outboundRelationshipl>
{outtboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" vnit="G. k. 9.1.3. 1b"/"
(3 6.k 9.1 3. la7 Time Interval hetween Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #2 ——>
{l-- 6. k. 9.1i.3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Bvent (unit) Drug #1, Reaction #2 —> _
{actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-cYe8-debc—93e9-5b860b314220" />
{/actReference>
{/outheundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity values="10" unit="G.k. 6.1, 3. 2b"5
) {!-- G.k.9.1.3.22: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #2 --> )
<= G. k. 8. 1.3 2b: Time Interval betwesen Last Dose of Drug and Start of Reaction / Event
(unit} Drug #1, Reaction #2 —>
{actReference classCode="0B5" moodCode="EVN">
<id root="2baa28d6-cHeB-de6c-03e9-5h860bIT4220" />
{/actReference>
{/outboundRelationshipl>



<autboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.4.3.1b" /"
{l=-- G k. 9. 1.3 1la: Time Interval between Beginning of Drug
Reaction / Event (number) Drug #1, Reaction #3 —>
<l-- G.k.9.1.3.1b: Time Interval between Beginning of Drug
Drug #1, Reaction #3 —>
CactReference classCode="0BS” moodCode="EVN">
¢id root="3a8626ch—9f1b-4ea8-8a0f-e0ff34430adf” />
{/actReference>
{/outboundRelationshipl>
{outhoundRelationshipl typeCode="SAE">
{pauseQuantity value-"310" unii-"G. k. 8. 1i.3.2b"/>
(== G. k. 9.1.3.2a: Time Interval between Last Dose of Drug
(number} Drug #1, Reaction #3 —> ’
<l— G.k.9.1.3.2b: Time Interval between Last Dose of Drug
Drug #1, Reaction #3 —>
{actReference classCode="0BS” moodCode="EVN">

Reaction / Event (unit)

{unit)

Administration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

¢id root="3a8626cb-0f 1b-dea8-Ea0i-e0ft34430adt”/>
{/actReference?
{/outboundRelationshipi> .
<autboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k 9.i.3.1b"/>
(I-- G. k. 9.14.3. 1la® Time Interval between Beginning of Drug
Reaction / Event (number) Drug #1, Reaction #4¢ ——>
{l-- G.k.9.1.3. 1b: Time Interval between Beginning of Drug
Drug #1, Reaction #4 —>
¢actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f—08b4d-499c-80rf-dda415F4f8a5" />
{/actReference>
</outhoundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k 8.i.3.2b"/>
{— G, k.9, i,3 2a: Time Interval betwsen Last Dose of Drug
(number} Drug #1, Reacticn #4 —>
¢|-- G.k.9.1i.3.2b: Time Interval between Last Dose of Drug
Drug #1, Reaction #4 ——>
{actReference classCode="0B3" moodCode="EVN">
{id root="2e99840f-08b4-499c—-80ff-ddB415£418as" />
</actReference>
{/outboundRelatienshipl>
{outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
d-— 6.k.9.1.3. 1a: Time Interval between Beginning of Drug
Reaction / Event (number) Drug #1, Reaction #5 ——
- G.k.9.1.3.1b: Time Interval between Beginning of Drug
Drug #1, Reaction #5 ——>
{actReference classCode="0BS” moodCode="EVN™>
{id root="1071064c-cf10-4a3b-83c1-34f9ddb7eabd” />
{/actReference>
(/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G. k 9.i.3.2b"/>
{J— G.k.9.1.3. 2a: Time Interval between Last Dose of Drug
(number} Drug #1, Reaction #5 ——>
{I— G.k.9.1.3.2b: Time Interval ketween Last Dose of Drug
Drug #1, Reaction #5 —>
{actReference classCode="08S" moodCode="EVN">
<id root="1071064c—cf10-4a3b~83c1-34f9ddbTeabd” />
{/actReferenced>
</outboundRelationshipl>
<outboundRelationshipl typeCods="SAS™>
{pauseQuantity value="10" unit="G.k. 9.1, 3 1b"/>
¢f-- 5.k 9.i.3. Ia: Time Interval between Beginning of Drug
Reaction / Event (number) Drug #1, Reaction #6 ——
4— G.k.9.1.3.1b: Time Interval between Beginning of Drug
Drug #1, Reaction H#6 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="1¥927283-10b6-4334-9d43-e925640£fh18E" />
{/actReference>

Reaction / Event (unit)

(unit)

Reaction / Event {(unit)

{unit)

Reaction / Event (unit)

Administration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

Administration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

Administration and Start of

Administration and Start of



{/cutboundRelationshipl>
CoutboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G, k. 9.1i.3, 2b"/">
{I— G. k. 9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event

(number) Drug #1, Reaction #6 -—>

¢{!-- G.k. 9.1.3,2b> Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit) Drug #1, Reaction #6 ——>

{actReference classCode="0BS" moodCode="EVN">
{id root="1f927283-10b6-4334-9d43-e925640fb18£" />
{/actReferance>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="6. k. 9.1.3. 1b"/>
<]-- G.k.9.1.3. la: Time Interval betwesn Beginning of Drug Administration and Start of

Reaction / Event (number) Drug #1, Reaction #7 ——>

Reaction / Event (unit)

¢!-- G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Drug #1, Reaction #7 -—->
{actReference classCode="0BS” moodCode="EVN">
<id root="e0342969~38be—423f~h6bh—celdbc279d8e"/>
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k 9.1.3,2b"/>
“¢l-- G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event

{number) Drug #1, Reaction #7 ——>

<J=- G, k.9.1,3,2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit) Drug #1, Reaction #7 —>

{actReference classCode="0BS” moodCode="EVN"»
<id root="e0342969-38he—423f-b6bb—celdbc279dBe” />
{/actReference>
{/outboundRelationshipl>
{outbeundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
(I-- 6.k 9.1, 3. 1a: Time Interval between Beginning of Drug Administration and Start of

Reaction / Event {(number) Drug #1, Reaction #8 ——>

Reaction / Event (unit)

{l-- G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of

Drug #1, Reaction #8 —>
{actReference classCode="0BS" moodCode="EVN">

{id root="al5be002-8070-426d-af04~686326344380" />
{/actReferenced.
{/outboundRelationshipl>

<outhoundRelationshipl typeCods="SAE">
{pauseQuantity value="10" unit="G.k 9.1.3.25"/>
<I-- 6,k 9.1, 3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event

(mmber) Drug #1, Reaction #8 —>

= 6. k. 9.1.3.2b: Time Interval betwsen Last Dose of Drug and Start of Reaction / Event

{unit) Drug #1, Reaction #8 —>

displayName="blinded”/>

{actReference classCode="0BS" moodCode="EVN">
{id root="al5be092-8070-426d-af04-6863263443:0" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="6" codeSystem="2, 16. 840, 1. 113883. 3.983. 2, 1. 1. 18" codeSystemYersion="1, 1"

<value xsiitype="BL” value="true”/>
¢{1-- G.k 2.5: Investigational Product Blinded #1 ——>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
{}~- G.k.4, r: Dosage and Relevant Information (repeat as necessary) H1-1 ——
{substanceAdministration classCode="SBADM” moodCode="EVN">
{textrG ko 4. 1. B/ text>
{I— G.k.4.r.8: Dosage Text #1-1 —>
{effectiveTime xsi:type="SKPR_TS™>
<comp xsi:type="PIVL_TS">
{period value="10" unit="G. k. 4. 1. 3"/
{d— G. k. 4.1.2° Number of Units in the Interval #1-1 —>
{1— G.k.4.1.3: Definition of the Time Interval Unit #1-1 ——>



{/comp>
<comp xsitype="IVL_TS” operator="A">
<low value="20090101"/>
{J-- G.k.4.r.4: Date and Time of Start of Drug #1-1 -—>
<high value="20090101"/>
¢l-- G, k.4.1.5: Date and Time of Last Adwinistration #i-1 —>
{/comp>
{comp xsi:type="IVL_TS” aperator="A">
{width value="4" unit="G.k 4.r. 6b"/>
¢<]l— G.k 4.r.6a: Duration of Drug Administration (number} #1-1 —>
¢l-— ¢ k 4.r.6b: Duration of Drug Administration (unit) #1-1 -
</eompy
{feffectiveTime>
{routeCode code="G. k. 4. t. 10. 26" codeSystem="2, 16, 840. 1. 113883.3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 22>
<l— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-1 ——>
¢l G.k. 4. 7. 10. 2b: Route of Administration TermID #1-1 ——>

<originalTextyG. k. 4. T 10, 1{/originalText>
<= G. k. 4.r.10. 1 Route of Administration (free text) #1-1 —>
{/routeCode>
<{doseQuantity value="10" unit="G.k 4.r.1L"/>
I~ G.k.4.r.1la Dose (number) #1-1 —>
<-— G.k.4. 1. 1b: Dose (unit) #1-1 —>
<consumable typeCode="CSM">
¢instance0fKind classCode="INST">
<preductInstancelnstance clazsCode="MMAT" determinerCode="INSTANCE”>»
{lotNumherText>G. k. 4. 1. 7¢/lotNumberText>
¢!— G.k.4.r.7: Batch / Lot Number #1-1 —>
</productInstancelnstance>
<kindCfProduct classCode="MMAT" determinerCode="KIND">
<formCode code="G.k.4.r.9.2b" codeSystem="TED-DoseForm”
codeSystemVersion="t.ic 4. r. 5. 2a">
{l-- G.k. 4 r.9 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-1 —>
¢{l-- G.k.4.1r.9.2b: Pharmaceutical Dose Form TermID #1-1 —>
<originalText>G, k. 4. 1. 9. 1{/originalText>
¢l 3.k 4.1. 9.1 Pharmaceutical Dose Form (free text) #1-1 —>
</fornCode>
</kind0fProduct’
</instance0fKind>
{/consumabls>
¢inbotndRelationship typeCode="REFR”>
{observation classCode="0BS" moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. ;. 113883. 3. 989. Z. 1. 1. 18" codeSystemVersion="1.1"
displayName="parentRoutedfAdministration”/>
_ <value xsi'type="CE” code="G.k.4. 1.1l 2b" codeSystem="2. 16,840, 1, 113883. 3. 989. 2. 1. 1. 14"
codeSystemYersion="G, k. 4, r. 11. 2a">
<l— G. k. 4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #1-1
—>
{I-- G.k.4.t.11. 2b: Parent Route of Administration TermID #1-1 —->
SoriginalText>G. k. 4. 1. 11. 1</originalText>
¢l-- G.k.4.r.11. 1 Parent Route of Administration (free text) #1-1 —->
</value>
{/observation>
¢/inbcundRelationship>
{/substanceAdministration>
<{/outboundRelationship2>
<outhoundRelatiocnship2 typeCode="COMP">
{1-- G.k. 4.r: Dosage and Relevant Information (repeat as necessary) #1-2 —>
{substanceAdministration classCode="SBADM” moodCode="EYN">
{text>G. k. 4. r. 8(/text>
¢{!=~ G. k. 4. 1. 8! Dosage Text #1-2 >
<effectiveTime xsi:type="SXPR_TS™
{comp %si:type="PIVL_TS">
<period value="10" unit="G. k. 4.1r.3"/>
¢!— G.k. 4. 1.2: Number of Units in the Interval #1-2 —>
<I—— G.k.4.1.3: Definition of the Time Interval Unit #1-2 —>
{/comp>
{comp xsi:type="IVL_TS” operator="A">
Cow value="20090101"/>



{I— 6.k 4. r 4! Date and Time of Start of Drug #1-2 —>
<high value="20090101"/>
! G, k. 4.1.5: Date and Time of Last Administration #1-2 -
</comp>
{/effectiveTine>
(routeCode code="G.k. 4.1.10.2b" codeSystem="2, 16. 840, 1, 113883. 3. 989. 2. 1. 1. 14”
codeSystemVersion="G. k. 4. r. 10. 2a™>
<l== G.k 4.r.10. 2a: Route of Adwinistration TermID Version Date / Number #1-2 —>
I 6.k 4.r. 10. 2b: Route of Administration TermID #1-2 —>
{originalText>G, k. 4, r, 10, 1{/originalText>
<! G.k. 4.1.10. 1: Route of Administration (free text) #1-2 —>
</routeCode>
{doseQuantity value="10" unit="G.k 4.r. 1b"/>
I~ G.k 4 r. la Dose (mmber) #1-2 —>
<= G.k 4.r.1b: Dose {unit) #1-2 ——>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
{productInstanceInstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumberText>
¢{|— G.k.4.r.7: Batch / Lot Number £1-2 —>
{/productInstancelnstance?
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<formCode code="G. k. 4.1.9.2b" codeSystem="TBD-DoseForn”
codeSystemYersion="G. k. 4. r. 9. 2a”> .
{l=~ G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2 —>
{l=— G k. 4.r.9.2b: Pharmaceutical Dose Form TermID #1-2 --»
{originalText>G. k. 4. 1. 9. 1<{/original Text)
<!-— G. k. 4.1.9.1: Pharmaceutical Dose Form (free text) #1-2 —>
</formCode>
¢/kind0fProduct>
</instance0fKind>
{/consumable>
{inboundRelationship typeCede="RFFR">
{cbservation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
{value xsi:type="CE” code="G.k 4.r.11, 26" codeSysten="2. 16. 840, 1. 113883, 3. 989, 2, 1, 1. 14”
codeSystemYersion="G. k. 4.r. 11. 2a”> .
{!— Gk 4r 1l 2a: Parent Route of Administration TermID Version Date / Number #1-2
-
¢I== G.k.4.1. 11. 2b: Parent Route of Administration TermIb H#1-2 ——>
<originalText>G. k. 4. r. 11. 1{/originalText>
{I=—= G.k. 4, r. 11. 1: Parent Route of Administration (free text) #1-2 —>
valued
{/ohsexvation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship? typeCode="COMP">
{!-- G.k.4.1: Dosage and Relevant Information (repeat as necessary) #1-3 ——>
{substanceAdministration classCode="SBADM” moodCode="EYN™>
{text>G. k. 4. r. 8¢/text>
¢{l— G,k 4.1, 8: Dosage Text #1-3 -->
{effectiveTime xsi:type="SYPR_TS">
{comp xsi:type="PIVL_TS">
{period value="10" unit="G.% 4.r. 3"/>
{0 G.k.4.r.2: NMumber of Units in the Interval #1-3 —>
{I— G, k. 4. 1. 3: Definition of the Time Interval Unit #1-3 —
{/comp>
{comp xs5i:type="IVL_TS" operator="4"7
ow value="20090101"/>
<l-- G.k.4.1.4: Date and Time of Start of Drug #1-3 —>
¢width value="4" unit="G. k. 4.r.8h"/>
¢l-- 6.k 4.r. 6a: Duration of Drug Administration (number) #1-3 ——>
{l-— G. k. 4.7.6b: Duration of Drug Administration (unit) #1-3 —>
</compy
(effectiveTime> -
{routeCode code="G. k.4.r.10.2h" codeSvstem="2. 16. 840. 1. 113883. 3. 989, 2, 1. 1, 14”
codeSystemVersion="G. k. 4. r. 10, 2a™>



¢l— G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #1-3 -—>
¢l-- G. k. 4.1. 10, 2b: Route of Aduinistration TermID #1-3 —>
<originalText>G. k. 4. r. 10. 1</originalText>
¢{I-~ G. k. 4.1.10. 1: Route of Administration (free text) #1-3 —>
</routeCoder
<doseQuantity value="10" unit="G. k. 4.r. 16"/>
¢l G.k.4. 1. 1a Dose (number) #1-3 —>
¢l— 6. k. 4. r.1b: Dose {unit} #1-3 —>
{consumable typsCode="CSM">
¢instance0fKind classCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
(lotNumberText>G. k. 4. r. 7¢/lotNumberText>
<l-- G.k.4.1.7: Batch / Lot Number #1-3 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”
_codeSystemVersion="0.k 4.r.9.2a">

¢l— G.le 4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-3 ——>
¢<!-- G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-3 -—»
CoriginalText>G. k. 4. 1. 2. 1</originalText>
¢l-- Gk 4.r. 9.1 Pharmaceutical Dose Form (free text) #1-3 ——>
{/formCoda>
{/kind0fProduct>
{/instanceOfKind>
{/consumable>
{inhoundRelationship typeCods="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. 1. 1. 19” codeSystemVersion="1, 1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k. 4.r.11.2h" codeSystem="2.16. 840, 1. 113883, 3.989.2.1.1.14"
codeSystemVersion="G. k. 4. . 11, 2a">
¢l-- G.k. 4.1, 11, 2a: Parent Route of Administration TermID Version Date / Number #1-3
-
¢—— G.k.4.r.11.2b: Parent Route of Administration TermID #i-3 -—
{originalText>G. k. 4. r. 11, 1{/originalText>
I~ G.k. 4. r.11. 1: Parent Route of Administration (free text) #1-3 —>
<fvalue>
{/cbservation>
¢/inboundRelationship>
{/substeanceAdministration>
{/outboundRelationship2>
<outhoundRelationship? typeCode="COMP">
=~ G.k.4.1! Dosage and Relevant Information (repeat as necessary) Rl-4 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN™>
{text>G, k. 4, r. B/ text>
<l— G, k 4.1.8: Dosage Text #1-4 —>
<effectiveTime xsiitype="SXPR_TS">
<comp xsi:type="PIVL_TS">
{period value="10" unit="G. k. 4.r.3"/>
== G. k. 4. 1.2 Number of Units in the Interval #1-4 -->
<— G k.4.r.3: Definition of the Time Interval Unit #1-4 —>
</comp>
<{comp xsi:type="IVL_TS” operator="A">
{width value="4" unit="G. k. 4. r.8b"/
<{l— G.k. 4.1, Ba: Duration of Drug Administration (number) #1-4 ——>
¢!— G.k. 4.r.6b: Duration of Drug Administration (unit) #1-4 —
<high value="200501017/>
¢{I-— G. k. 4.tr. 5! Date and Time of Last Administration #i-4 —>
{/eomp>
{feffectiveTime>
{routeCode code="G. k. 4.r. 10.2b” codeSysiem="2. 16.840. 1. 113883. 3, 884, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10, 2a">
<l-- G.k.4.1. 10 2a: Route of Administraticn TermID Versicn Date / Number #1-4 ——>
<{I-— G.k.4.r.10.2b: Route of Administration TermID #1-4 —>
<originalText>G. k. 4. r. 10. 1</originalText>
¢l-- G. k. 4. r.10. 1 Route of Administration (free text) #1-4 ——>
{/routeCode>
{doseQuantity value="10" wnit="G.k 4.r. 1b"/>
- G.k. 4. r. 1la Dose (number) #1-4 —>



— G.k. 4 1. 1b: Dose (unit) #1-4 ——>
{cansumable typeCode="CSM">
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k, 4, r. 7</1otNumberText>
d— Gk 4.1, 7" Batch / Lot Number #i-4 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{FormCode code="G.k. 4. 1. 9. 2b” codeSysten="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 9. 2a™>
<}=- G,k 4.1, 9, 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-4 —%
<l— G.k.4.r.9. 2b: Pharmaceutical Dose Form TermID #1-4 —2»
{originalText>G. k. 4. 1. 9. 1{/originalText>
<I-— G.l.4,1.9, 1! Pharmaceutical Pose Form (free text) #1-4 ——>
</formCode>
</kind0fProduct?
¢/instance0fKind>
{/consumable>
<inboundRelatienship typeCode="REFR">
{observation classCede="0BS" moodCode="EVN">
{code code="28" codeSystem="2.16.840. 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1, 1"

dlsplayName— parentRouteGfAdministration”/>
{value xsi:type="CE” code="G.k.4.r,11.2b" codeSystem="2. 15, 840, 1. 113883. 3. 982. 2. 1. 1. 14"

codeSystemVersion="G. k. 4.1, 11. 2a">
{!~— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #1—4
__> .
— G.k 4.7, 11, 2b: Parent Route of Administration TermlD #I-4 —>
<or1g1na1Text>G k. 4, r, 11, 1</originalText>
- G.k.4.7.11. 1: Parent Route of Administration (free text) #1-4 —>
{/value>
<{/observation>
{/inboundRelationship>
{/substanceidninistration>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="COMP™>
¢l-- G.k. 4. r: Dosage and Relevant Information (repeat as necessary) R1-5 -
{subhstanceAdministration classCode="SBADM” moocdCode="EVN">
{text>G. k. 4. r. 8¢/ texty
!—— G. k. 4.1.8: Dosage Text #1-5 —>
<effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="IVL_T3">
{low value="20080101"/>
(I~ G.k.4.r.4: Date and Time of Start of Drug #1-5 ——
<high value="20090101"/>
<{l— G.k 4.r.5: Date and Time of Last Administration #1-5 —>
{/comp>
Ccomp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G. k. 4.r.6b"/> .
¢l— G.k.4.r.6a: Duration of Drug Administration (number) #1-b —>
¢!-- G.k. 4 r.6b: Duration of Drug Administration (unit) #1-5 —>
</comp>
{/effectiveTime>
{routeCode code="G. k. 4. r. 10, 2b” codeSystem="2, 16, 840, 1, 113883, 3. 589, 2. 1. 1. 14"
codeSystemVersion="G. Ic, 4, r. 10, 22”>
{l-~ G. k. 4.r. 10. 2a: Route of Administration TermID Version Date / Number #1-5 —>
<l-— G.k.4.r, 10.2b: Route of Administration TermID #i-5 ——>
<originalText>G. k. 4.x. 10. 1<{/originalText>
{J— G.k.4.1.10.1: Route of Administraticn (free text) #i-5 —>
{/routeCode)
{doseQuantity value="10" unit="G.k 4.r. 1b"/>
{!— G.k. 4. r. 1a Dose (mumber) #1-5 ——>
=~ G.k 4. 1. 1b: Dose (unit} #1-5 ——>
{consumable typeCode="CSM">
<instanceCtfKind classCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode="TNSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumber Text>
{I— G. k. 4.r. 7 Batch / Lot Kumber #1-5 —>
</productInstancelnstance)
<kind0fProduct classCode="MMAT” determinerCode="KIND")>



{formCode code="G. k. 4.r.9.2b" codeSystem="TED-DoseForm”
codeSystemVersion="G. k. 4.r. 2. 2a">
{1— G.k.4.1.9, 2a: Pharmaceutical Dose Form TermID Version Date / Number H1-5 —>
¢}— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-5 -—>
{originalText>G. k. 4.r. 9. 1<{/originalText>
¢l-- G.k. 4.r.9.1: Pharmaceutical Dose Form (free text) #1-5 —>
{/formCode>
{/%ind0fProduct>
{/instanceOfKind>
{/consumable>
{inbhoundRelaticnship typeCode="REFR™>
<observation classCode="0BS” moodUode="EVWN™>
{code code="28" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration”/>
{value xsi:type="CE’ code="G.k 4.r1.11.2b" codeSystem="2. 15.840. 1. 113883.3.989.2. 1. 1. 14"
codeSystemVersion="6. k. 4. r. 11. 2a”>
<i== G.k.4.7. 11. 2a: Parent Route of Administration TermID Version Date / Number #1-5

-
<l— G.k.4.r.11.2b: Parent Route of Administration TermID #1-5 —>
{eriginalText>G. k. 4.r. 11. 1{/originalText>
¢l=- G, % 4.1.11, 1: Parent Route of Administration (free text) H1-5 ——>

</value> '
{/cbservation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
¢]~- G.k. 4. r: Dosage and Relevant Information (repeat as necessary) #1-6 ——>
N <substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
{!— G.k.4.1.8: Dosage Text #1-6 —
{effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS">
{period value="10" unit="G. %k 41.3"/>
<]-- 6. k. 4.1, 2: Number of Units in the Interval #1-6 ——
{l-- 6.k 4. r.3: Definition of the Time Interval Unit #1-6 —>
{/comp>
{comp xsi:type="I1VL_TS” operator="A">
{low value="20090101"/>
{I— 6.k 4.r.4: Date and Time of Start of Drug #1-6 -—>
(width value="4" unit="G. k. 4.r.65"/>
¢!— G. k. 4.r.6a: Duration of Drug Administration (number) #1-6 ——>
- G.k. 4. r.6b: Duration of Drug Administration (unit) #1-6 -
<{/comp>
<comp xsi:type="IVL_TS” cperator="A">
<high value="20090101"/>
=~ G.k.4.r. 5 Date and Time of Last Administration #1-6 —>
</comp>
{/effectiveTime>
(routeCode code="C.k.4.r.10.2b" codeSystem="2. 16. 840, 1, 113883. 3.989.2.1. 1. 14"
codeSystemVersion="G. k. 4. 1. 10. 2a™>
¢l-- G.k.4.r.10.2a: Route of Administration TermiD Version Date / Number #1-6 —>
<!— G, k.4.1.10.2b: Route of Administration TermID #1-6 —> i
{originalText>G. k. 4.t 10, 1</originalText>
{1-- G.k. 4. 1. 10.1: Route of Administration (free text) #1-6 —>
{/routeCode>
{doseQuantity value="10" unit="G.k. 4.r. 1"/>
1= G k. 4. 1. 1a Dose (humber) #1-1 -->
{}—— G.k 4 r. 1b: Dose (unit) H1-1 -->
{eonsumable typeCode="CSM">
{instancedfKind classCode="INST">
<productInstanceInstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumberText>
¢l-- 6.k 4.1, 7: Batch / Lot Number #1-1 -—>
{/productInstancelnstance>
{eindGfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G. k. 4.1.9. 2b” codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.r. 9. 2a">
¢l— G.k 4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-6 —>



<I-~ G.k 4, 1.9 2b: Pharmaceutical Dose Form TermID #1-6 ——>
<originalText>G. k. 4.r. G. 1<{/originalText>
=~ G,k 4.7.9.1: Pharmaceutical Dose Form (frees text) #i-6 ——>
{/formCode>
</kind0fProduct>
¢/instanceOfKind>
{/consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
(code code="28" codeSystem="2, 16, 840, 1, 113883, 3. 989, 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration”/>
<value xsiitype="CE” code="G.l. 4. 1.1l 2b" codeSystem="2. 16, 840. 1. 113883, 3,989, 2, 1. 1, 14"
codeSystemYersion="C. k. 4. r. 11. 2a”> . :
<= 6.k 4 r 1L 2a: Parent Route of Administration TermID Version Date / Number #I-6
-
{I-- G.k.4.r.11. 2b: Parent Route of Administration TermID #1-6 ——>
{originalText>G. k. 4. r. 11. 1{/originalText>
{!— G.k.4, 1,11, 1: Parent Route of Administration (free text) #1-6 —>
</value>
{/cbservation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outhoundRelationship2 typeCode="COMP”>
¢l-— G.k. 4.r: Dosage and Relevant Information (repeat as necessary) #1-7 ——»
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G k. 4. 1. 8¢/text>
(I G.k 4 r.8: Dosage Text R1-7 —>
<effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="IVL_TS">
{low value="20090101"/>
{l-— G. k. 4.1.4: Date and Time of Start of Drug #1-7 —>
{width value="4" unit="G. k. 4.r.6b"/>
¢l=~ 6.k 4.1.6a: Duration of Drug Administration {(number) #1-7 ——>
¢l—— G.k. 4.1.6b: Duration of Drug Administration (unit) #1-7 —>
{/comp>
{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
<]~ G.k. 4.5 Date and Time of Last Administration #¥1-7 ——>
<{/comp> :
{/effactiveTime>
{routeCode code="G. k. 4.r. 10. 2b” codeSystem="2. 18. 840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystenVersion="G. k. 4. r. 10. 2a”>
== G,k 4.1, 10, 2a° Route of Administration TermID Version Date / Number #1-7 —>
{l-- G,k 4.1.10. 2b? Route of Administration TermID H1-7 --»
{originalText>G. k. 4. 1, 10, 1{/originalText>
- G. k. 4. 1. 10. 1 Route of Administration (free text) #i-7 —>
{/routeCode> .
(doseQuantity value="10" unit="G.k.4.r.1b"/>
d— G. k. 4. r. 1a Dose {number) H1-7 —>
{I— 6.k 4 r 1b: Dose (unit) #1-7 -->
<consumable typeCode~="CSM">
{instanceCfKind classCode="INST">
<{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNunberText>
¢{}— G.k. 4.1r.7: Batch / Lot Number #1-7 ——>
{/productinstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k 4.r.9.2b” codeSystem="TBD-DoseForm”
codeSystemVersion="G. %k 4. r. 9. 2a™>
I~ G,k 4.1, 9, 2a; Pharmaceutical Dose Form TermID Version Date / Number #1-7 —->
¢I-- G,k 4.1.9.2b: Pharmaceutical Dose Form TermID #1-7 —>
CoriginalText>G. k. 4. r. 9, 1</original Text>
<— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-7 ——>
{/formCode>
<kind0fProduct>
{/instance0fKind>
<{/consumable>
{inboundRelationship typeCode="REFR">



-¢observation classCode="0RS” moodCode="EVN">
{code code="28" codeSystem="2.16.840. 1,113883, 3. 989, 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
{value xsi:type="CE” code="G.k. 4.1.1% 2b" codeSystem="2. 16. 840, 1. 113883, 3,989, 2.1, 1, 14"
codeSystemYersion="G. k. 4. r. 11. 2a">
¢l-— G.k.4.1.11.2a: Parent Route of Administration TermID Version Date / Number #1-7
-—>
(I=- G.k.4.7r.1}. 2b: Parent Route of Administration TermID #1-7 ——>
{originalText>G. k. 4. r. 11. 1{/originalText>
¢l-- G, k.4.r.11. 1: Parent Route of Administration (free text} #1-7 —>
<{/value>
</observation>
</inboundRelationship>
</substanceAdministration>
{/outhoundRelationship2>
{outboundRelaticnshipZ typeCode="SUMM">
{observation classCode="0BS" mocdCode="EVN">

T"{eode code="14" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="cum:iativeDoseToReaction” />
{value xsi!type="PQ” value="1¢" unit="G. k. 5b"/>
¢~ G.k. Ba: Comulative Dose to First Reaction (number} #1 ——>
<}-— G.k.5b: Cumulative Dose to First Reaction (unit} #1 —>
{/chservation>
{/outhoundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="16" codeSystem="2.16.840. 1. 113883. 3.989.2. 1. 1. 18" codeSystemYersien="1.1"
displayName="gestationPericd”/>
<value xsi:type="PQ" value="10" unit="G.k.6b"/>
¢!-~ G.k.6a: Gestation Period at Time of Exposure {mumber} #1 —>
{!—- 6.k.6b: Gestation Period at Time of Exposure {unit) #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{cbservation classCode="0BS” moodCode="EVN">
{code code="31" codeSystem="2.16.840. 1. 113883, 3. 989, 2. 1. 1. 19” cedeSystemVersion="1.1"
displayName="recurrance0fReaction”/>
<value xsiitype="CE” code="G.k 9.i.4" codeSystem="2. 16, 840, 1.113883. 3,98%.2. 1. 1. 16"
codeSystemVersion="1. 0"/>
¢l— G.k.9,1i.4: Did Reaction Recur on Re—administration? Drug #1, Reaction #1 —>
{outboundRelationshipl typeCode="REFR">
(actRefersnce classCode="0BS” moodCode="EVN")>
<id rooi="154eb888-958b—45f2-al2f-42d4d6F466TF" />
<{/actReference>
{/outboundRelationshipl>
{/observation>
</outboundRelaticnship2>
{outboundRelationship2 typeCode="PERT">
{ohservatioh classCode="0BS" moodCode="EVN">
<code code="31" codeSystem="2.16. 840, 1. 113883, 3.989.2. 1. 1. 19” codeSystemYersion="1.1"
displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k 9.1, 4" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 16"
codeSystemYersion="1.0"/>
¢l— 6.k 9,1, 4: Did Reaction Recur on Re—administration? Drug #1, Reaction }#2 —>
<outboundRelationshipl typeCode="REFR™>
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c%e8-4e6c—9329-5b860b314220" />
</actReference>
¢/outboundRelationshipl>
{/cbservation>
{/outboundRelationship2>
<outhoundRelationship? typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN™>
<code code="9" codeSystem="2. I6. B840, 1. 113883.3.989. 2. 1. 1. 18" codeSystemYersion="1.1"
displayName="codedDrugIlnformation”/>
<value xsi:type="CE”" code="G.k. 10.r" codeSystem="2. 16.840. 1. 113883.3,989.2.1.1. 17"
codeSystemYersion="1, 07/>
{1-- G.k. 10. r: Additional Information on Drug (coded) (repeat as necessary) #1-1 —>
{/observation>



{/outboundRelationship2>
{outboundRelationship? typeCode="REFR™>
<observation classCode="0BS* moodCode="EVN">

{code code="89" codeSysten="2, 18, 840, 1. 113883, 3, 989, 2, 1. 1. 19" codeSystemVersion="1.1"

displayName="codedDrugInformation”/>

{value xsi:type="CE" code="G.k.10.r" codeSystem="2. 16. 840, 1. 113883. 2.989.2.1. 1. 17"

codeSystemVersion="1,07/>

<!== G.I. 10.r: Additional Information on Drug {coded) (repeat as necessary) #1-2 —->

{/observation>
{/outboundRelationship2>
{otthoundRelationship2 typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">

Ccode code="2" codeSystem="2. 16, 840, 1, 113883, 3, 980, 2, 1. 1. 19" codeSystemVersion="1, 1"

displayName="additionalInformation”/>
{value xsi:type="S1"2G. k. 11¢{/value>
{1—— G.k.11: Additional Information on Drug {fres text) Bl -—>
{/observation>
{/outboundRelationship2>
{inboundRelationship typelode="RSON">
{observation classCode="0BS” moodCode="EVN">

{code code="19" codeSystem="2, 16, 840, I, 113883, 3, 989, 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="indication”/>

Syalue xsiztype="CE” code="G. k7.1 2" codeSystewm="2. 16. 840. 1. 113883, 6. 163"

codeSystemVersion="G. k. 7. r. 2a”>
{|-- G.k. 7.r.2a: MedDRA Version for Indication #1-1 —>
<= 6.k 7.r.2b: Indication {MedDRA code) #1-1 ——>
<eriginalText>G k. 7. r. 1{/original Text>

{l-- 6. k. 7.1.1: Indication as Reported by the Primary Source #1-1 —>

{/value>
{performer typeCods="PRF">
{assignedBntity classCode="ASSIGNED”>
{code code="3" codeSystem="2. 16, 840. 1, 113883, 3, 989.2.1.1,21"
displayName="sourceReporter”/>
<{/assignedBntity>
{/performer>
{/ohservation>
{/inboundRelationship>
{inboundRelationship typeCode="RSON">
{observation classCode="0BS" moodCode="EVN™>

codeSystemVersion="1, 0

{code code="1%" codeSystem="2. 18, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"

displayName="1indication”/>

{value xei:type="CE” code="G.k.7.r.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163"

codeSystemVersion="G. k. 7. r. 2a”>
<1-- G.k 7.r. 2a: MedDRA Version for Indication #1-2 —>
<l—— 6.k. 7.r. 2b! Indication (MedDRA code} #1-2 ——>
{originalText>G. k. 7. r. 1</originalText>

=- 6.k 7.r.1: Indication as Reported by the Primary Source #1-2 —>

¢/value>
{performer typeCode="PRF">
CassignedBntity ¢lassCode="ASSIGNED™>
<code code="3" codeSystem="2. 16.840. 1, 113883, 3, 989.2.1.1.21"
displayName="sourceReporter”/>
{/assignedEntity>
{/performer>
{/observation>
¢/inboundRelationship>
{inboundRelationship typeCode="CAUS">
. {act classCode="ACT” mcodCode="EVN">
{code code="G.k. 8" codeSystem="2. 16. 840, 1. 113883. 3, 989.2. 1. 1. 18"
! G.k.8: Action{s) Taken with Drug #1 —>
{/act> .
{/inbotmdRelationship>
{/substanceAdministration>
{/component>
¢}— 6.k Drug(s) Information (repeat as necessary) #2 —>
{component typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVYN">
<id root="68d6F5ce~3b3b—45c7-52dd-69e06730c3a8" />
{consumable typeCode="CSM">

codeSystemVersion="1. 0"

codeSystenVersion="1.0"/>



{instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT” determinerCode="KIND”>
{code code="G.k. 2.1.2b" codeSystem="TBD-PhPID” codeSystemVersicn="G. k. 2. 1. 22"/>
¢l-—~ G.k 2.1.2a: PhPID Versicn Date / Number #2 —
<!-= G.k 2. 1.2b: Pharmaceutical Product Identifier (PhPID) #2 —>
<name>G. k. 2. 2¢{/name>
<l-- G.k.2.2: Medicinal Product Name as Reported by the Primary Source #2 —>
<asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SB]">
Capproval classCode="CNTRCT® moodCode="EVN">
<id extension="G.k.3.1” root="2.16.840.1.113883.3.989.2.1. 3. 47/>
<{i— G.k 3.1: Authorisation / Application Number #2Z2 —>
<holder typeCode="HLD™>
{role classCode="HLD">
<playingOrganization classCode="0RG" dsterminerCode="INSTANCE">
{name>G. k. 3. 3{/name>
¢|-- G.k.3.3: Neme of Holder / Applicant #2 --

{/playing0rganization>
{/role>
{/holder>
{author typeCode="AUT">
{territorialAuthority classCode="TERR">
{territory classCode="NAT® determinerCode="TNSTANCE">
{cade code="G.k.3.2" codeSystem="1.0, 3166,1.2.2"/>
(!-- 6.k 3.2: Country of Authorisaticn / Application #2 —>
{/territory>
{/territorialAuthority>
</author>
{pertinentInformation typeCode="PERT">
{pelicy classCode="POLICY” moodCode="E¥N">
<cods code="J2.5. k" codeSystem="2. 16. 840. 1. 113883, 3,989,5,1.3.2. 1. 47
codeSystemYersion="1, 0" /> ;
(- geel2. 5.k —MAEEREOY A7 Ka% #2 —>
{/policy>
{/pertinentInformation>
{/approval>
¢/subject0f>
{subjectOf typeCode="SBJ >
{characteristic classCode="0B5” moodCode="EVN">
{code code="1" codeSystem="2. 16, 840, 1, 113883, 3.989,5.1,3.2. 1. 10"
codeSystemVersion="1. 0" displayName="#EFKLZEDRRES"/>
<value xsi:type="CE" code="]2. 4. k" codeSystem="2. 16, 840:1, 113883, 3,989,5,1.3.2.1. 3"
codeSystenVersion="1, 0"/>
<l 808]2.4. k: HEHSEOWRES #2 —>
{/characteristic>
<{/suhjectOf>.
{/asManufacturedProduct>
<ingredient classCode="ACTI™>
{quantity>
{numerator value="10" unit="G.k.2.3.r.3b"/>
- 6.k 2.3.1. 3a: Strength {pumber) #2-1 ——
= G.k.2.3.r.3b: Strength (unit) #2-1 -->
{denominator value="17/>
{/gquantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G. k. 2, 3. 1. 2b” codeSysten="TBD-Substance”
codeSystemVersion="G. k. 2. 3. r. 2a”/>
¢l-- 6.k 2,3, r.2a: Substance / Specified Substance TermIP Version Date / Number #2-1
77> .
<} G.k.2.3. 1. 2b Substance / Specified Substance TermID #2-1 —>
<{namerG, k. 2. 3, F, 1</name>
<I— G.%k. 2.3.r. 1: Substance / Specified Substance Name #2-1 ——
</ingredientSubstance>
{/ingredient>
{ingredient classCode="ACTI">
{guantity>
{numerator value="10" unit="G.k. 2.3.r.3b"/>
{!-- Gk 2.3.r. 3a! Strength (number) #2-2 —>
I~ G.k 2.3.1.3b: Strength (unit) #2-2 —->



<{denominator value="1"/>
Squantity»
{ingredientSubstance classCode="MMAT” determinerCode="KIND">
{eode code="G. k. 2. 3. r. 2b” codeSystem="TBD-Substance”
codeSystemVersion="6.k. 2, 3. 1. 2a"/>
<!—- 6.k 2.3.r. 2a: Substance / Specified Substance TermID Version Date/Number #2-2 —-
) .
<-— 6. k. 2.3, r. 2b Substance / Specified Substance TermID #2-2 ——>
{name>G. k. 2, 3. r. 1{/name>
¢<!— G.k.2.3,r, 1: Substance / Specified Substance Name #2-2 ——>
</ingredientSubstance>
</ingredient>
</kind0fProduct>
{subject0f typeCode="SBJ">
{productEvent classCode="ACT” mocdCode="EVN">
<code code="1" codeSystem="Z. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.0"
displayName="retaiiSupply”/> '
{performer typeCode="PRE">
{assignedEntity classCode="ASSIGNED">
{representedOrganization classCode- ORG" determinerCode="INSTANCE">
<addr>
{eotntry>G k. 2, 4</cotntry>
{1— 6.k 2. 4: Identification of the Country Where the Drug Was Obtained #2 —
{/addr>
{/represented0rganization>
{/assignedEntity>
{/performer>
{/productEvent>
<{/subjectOf>
{subject0f typeCode="SBJ">
<cbservationEvent classCode="0BS” mocdCode="EVN">
] <code code="2" codeSystem="2. 16. 840. 1, 113883. 3. 989.5,1, 3. 2. 1. 10"
codeSystemVersion="1. 0" displayName="—A%FHEEH O AFEE" />
{value xsi:type="CE” code="]2. 6. %" codeSystem="2.16.840.1, 113883, 3.889,5.1.3. 2. 1.6"
codeSystemVersion="1.0"/>
<I— 888]2.6. k: —HREEROAFER 2 —
{/chservationEvent>
{/subject0f>
¢/instance0fKind>
{/consumable>
<outboundRelationshipl typeCode="348">
{pauseQuantity value="10" unit="G.k. 9.1i.3.1b"/>
<l-- G.k.9.1.3. la: Time Interval between Beginning of Drug A&m1n1strat10n and Start of
Reaction / Event (number) Drug #2, Reaction #1->
{l-~ G. k. 9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Bvent (unit) Drug #2, Reaction #1 ——>
: {actReference classCode="0B5" moodCode="EVYN">
<id root="154eb889-958h—46f2-a021-42d4d6F46571" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" wnit="G.%. 9.1.3 2b"/>
{I-- G.k. 8.1, 3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number)} Drug #2, Reaction #1 —> '
<l-— G.k.9.i.3.2b: Time Interval between Last Doseé of Drug and Start of Reaction / Event
(unit} Drug #2, Reaction #1 —>
{actReference classCode="0BS" mocdCode="EVN">
(id root="154eh885-958b—-45f2-a02t-42d4d6F4657F" />
{/actReference’
{/outboundRelationshipl>
{putboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k. 9.1, 3. 1b"/>
= G, k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #2 —>
<I-- 6.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Bvent (unit) Drug #2, Reaction #2 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6—c9e8—4e6c—G3e9-5b860b314220" />
¢/actReference>



{/outboundRelationshipl>
{outhoundRelationshipl typelode="SAE">
{pauseQuantity value="10" unit="6. k. 9.1, 3.2b"/>
1= G.k.9.1i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #2 —>
<l-— ¢, k.9.1.3.2b: Time Interval betwsen Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #2 —>
<actReference classCode="0BS” moodCode="EVYN">
{id root="2baa28d6-cYe8~4efic~93e9-5b860b314220" />
{/actReference>
{/cutboundRelationshipl>
<outhoundRelaticnshipi typeCode—"SAS">
{pauseQuantity value="10" unit="G.k. 9.1i.3. 1b"/>
¢l-— 6.k.9.1i. 3. 1la: Time Interval between Beginning of Drug Admipistration and Start of
Reaction / Event (number) Drug #2, Reaction #3 -
{l— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administratiocn and Start of
Reaction / Event {unit) Drug #2, Reaction #35 —>

¢actReference classCode="0BS” moodCode="EVN">
<id root="3a8626ch-2f1b—deaB-8a0f-e0Fff34430adf” />
{/actReference>
</outhoundRelationshipl>
{outhoundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1.3. 26"/
d— G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #3 —
<l—- G. k. 9. 1.5 2h: Time Interval hetween Last Dose of Drug and Start of Reaction / Event
(unit) DPrug #2, Reaction #3 —>
<actReference classCodé="CBS” moodCode="EVN"}>
{id reot="3a8626ch~9f1b—4ead-8alf—e0ff34430adf” />
{/actReference>
{/outboundRelationshipl>
{outhoundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k. 9.1i.3. 1b"/">
¢{1-- G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #4 ——
¢l-— G, k.9.1.3.1b: Time Interval between Beginnhing of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #4 —>
{actReference classCods="0BS” moodCode="EVN">
{id root="2e99840f—08b4-499c-80ff-dd3415F4f8a5" />
{/actReference>
{/ocutboundRelationshipl>
<outhoundRelationshipl typeCode="SAE">
(pauseQuantity value="10" unit="G.k. 9.1i.3.2b"/>
{l-- G.k. 9.1 3. 2a® Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #4 —>
{I— G.k.9.1. 3. 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit} Drug #2, Reacticn #4 ——>
{actRefersncs classCode="0BS” moodCode="EVN">
<id root="2e99840f-08h4-499c-80fF-dd8415F4f8ak" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G, k. 9,1i.3,1b"/>
e G, k.9, 1. 3. la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #5 —>
(== 6. k.9.i. 3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit} Drug #2, Reaction #5 —>
<actReference classCode="0BS" moodCode="EVN">
¢id root="1071064c—cf10-4a3b-83cl-34f9ddbTeatd” />
{/actReference>
</outhoundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
<l-- G. k. 9.1.3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #5 ——>
¢l— G, k. 9,1, 3 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
{unit) Drug #2, Reaction #5 —>
{actReference classCode="0BS” moodCode="EVN™>
{id reot="1071064c~cf10-4a3b-83c1-34f9ddbTeabd” />



</actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k 9.1, 3.1b" />
¢{l—- G6.k.9.i.3.la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #6 ——>
{1-- G. k. 9.i. 3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit} Drug #2, Reaction #6 —>
‘ <actReference classCode="0B3” moodCode="EVN">
<id rootZ”1f927283—10b6—4334—9&43—9925640fh18f”/>
</actReference>
{/outboundRelationship1>
{outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k 9.1.3.2b"/>
<I— 6.k 9:i. 3, Za: Time Interval between Last Dose of Drug and Start of Reacticn / Event
" (number} Drug #2, Reaction #6 ——> : -
¢l— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #6 —>
{actReference classCode="0B5" moodCode="EVN">
<id root="1f927283-10h6-4334-0d43-2925640fb18F" />
{/actReference>
{/outboundRelationshipl’
{outboundRelaticnshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k 9.i.3.1b"/>
= 6.k.9.1. 3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {mumber) Drug #2, Reaction #7 —-» .
{!-— .k 9.1. 3. 1b: Time Interval between Beginning of Drug Administraticn and Start of
Reaction / Event (unit) Drug #2, Reaction #7 —>
{actReference classCode="0BS" moodCode="EVN"> _
<id reot="20342969-38be-423f-b6bb—celdbc279d8e” />
{/actReference>
{/outboundRelationship1>
{outboundRelationshipl typeCode="SAE">
{pauseluantity value="10" unit="G.k. 9, 1.8 2b"/"
<l— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
{number} Drug #2, Reaction #7 ——
{l-— G.k.9.1. 3. 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #7 —»
<actReference classCode="0BS" mocdCode="EVN">
{id root="e0342969-38bo-423f-b6bb—celdbc279d8e” />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="3SAS™>
{pauseQuantity value="10" unit="G. k 9.1i.3.1b"/> ‘
<!-- 6.'k. 9.1, 3. 12! Time Interval bstween Beginning of Drug Administration and Start of
Reaction / Event -(number) Drug #2, Reaction #8 ——>
{I-— 6.k 9.1. 3. Ib: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reacticn #8 —>
{actReference classCode="0BS” moodCode="EVN">
{id root="al5be092-8070-428d-af04-6863263443¢0"/>
{/actReference>
{/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k. 9.1 3.25"/>
<l-— 6.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Bvent
(number) Drug #2, Reaction #8 —>
{!-— 6.k 9 1. 3. 2b: Time Interval between Last Dose of Prug and Start of Reaction / FEvent
(unit) Drug #2, Reaction #8 —> .
{actReference classCode="0BS” toodCode="EVN">
<id root="al5be092-8070-426d-af04-6863263442e0"/>
</actReference>
{/outboundRelationshipi>
<outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EYN">
<{code code="6" codeSystem="2.186.840. 1.133883.3.989. 2. 1. 1. 18" codeSystemYersion="1.1"
displayName="blinded”/> )
{value xsi:type="BL” value="true”/>
{l— G.k.2.5: Investigational Product Blinded §2 -—>
{/observation>



{/outboundRelationship2>
<outhoundRelationship2 typeCode="COMP">
¢l— G. k.41 : Dosage and Relevant Information {repeat as necessary) #2-1 ——>
{substanceAdministration classCode="SBADM" moodCode="EVN™>
{text>G. k. 4. r. 8¢/text>
¢!— G. k. 4, r.8: Dosage Text #2-1 —>
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢!-— G.k.4.1.4: Date and Time of Start of Drug #2-1 —>
<high value=”20090101”/>
-~ G k.4 1,5 Date and Time of Last Administration #2-1 —>
{/effectiveTime>
¢routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16. 840, 1, 113883. 3. 98%.2.1. 1. 14”7
codeSystenVersion="G.k. 4. r. 10, 2a™> ) '
¢!-- 6.k 4.r. 10, 2a: Route of Administration TermID Version Date / Number #2-1 —>
{l-- G.k 4.1r.10.2b: Routs of Administration TermID #2-1 —>
{originalText>G. k, 4. r. 10. 1<{/originalText>

{1 G.k 4.1. 10. 1 Route of Administration {free text) #2-1 —>
</routeCode>
{doseQuantity value="10" unit="G.k 4.r.1b"/>
¢I-— G. k. 4.r.1a Doge {number) #2-1 —>
{I-— 6. k4 r. 1k Dose {(unit} #2-1 —>
{consumable typeCode="CSH">
<instance0fKind classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="TNSTANCE">
{lotMNumberText>G. k. 4. r. 7</1lotNumberText>
¢l~- G.k.4.r.7: Batch / Lot Number #2-1 —
¢/productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND"»
(formCode code="G. k. 4.r.9. 2b” codeSystem="TED-DoseForm”
codeSystemVersion="G. k. 4. r. 9. 2a™>
¢i-- G.k.4.1.9. Za! Fharmaceutical Dose Form TermID Version Date / Number #2-1 ——>
|=- G.k.4.7.9.2b: Pharmaceutical Dose Form TermID #2-1 -->
{originalText>G. k. 4. r. 9, 1{/originalText>
¢}~- G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-1 —>
<{/formCode>
</kindDfProduct>
¢/instance0fKind>
{/consumable>
<inboundRelaticnship typeCode="REFR™>
{cbservation classCode="0BS” moocdCode="EVN">
{code code="2R" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1, 19” codeSystemVersion="1, 1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k. 4. r.11. 2b" codeSystem="2. 16, 840. 1. 113883, 3,989, 2.1, 1. 14"
codeSystemYersion="G. k. 4. r. I1. 2a”>
¢|-- G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-1
- .
{I— G.k. 4.r.11.2b: Parent Route of Administration TermID #2-1 —>
{originalText>G. k. 4. r. I1. 1</originalText>
¢l-- G.k. 4.r.11. }: Parent Route of Administration (free text) #2-1 —
{/value>
{/observation>
¢/inboundRelationship>
{/substanceAdministration’
{/outboundRelaticnship2>
<outhoundRelationshipZ typeCode="COMP">
¢!-— G. k. 4.r' Dosage and Relevant Information (repeat as necessary) H2-2 —>
<substanceAdministration classCode="SBADM” moodCode="EVN">
{text>h, k4 1. 84/ text>
¢l— G.k.4.r.8: Dosage Text #2-2 —>
{effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
¢l— G.k.4.x.4: Date and Time of Start of Drug #2-2 —
{width value="4" unit="G.k 4.r.6L"/>
{l=- G.k. 4.1.62: Duration of Drug Administration (number} #2-2 ——
¢]-— G.k. 4.1.6b: Duration of Drug Administration (unit) #2-2 ——>
{/effectiveTime>
(rotteCode code="G, k. 4. r. 10. 2b” codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a™>



<{I-= 6.k 4, 1.10. 2a: Route of Administration TermID Version Date / Number #2-2 —>
¢!-- G.k 4. 1. 10. 2b: Route of Administration TermID #2-2 ——
{original Text>G. k. 4. r. 10. 1{/originalText>
== G k. 4.1.10,1: Route of Administration (free text) #2-2 —
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/">
— G.k.4. 1. 1a Dose (umber) #2-2 —>
d— G. k4 r.1b: Dose (unit) #2-2 —>
{consumable typeCode="CSH™>
{instance0fKind clazsCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNunberText>
4= G. k. 4.1.7: Batch / Lot Number #2-2 —>
{/productInstanceinstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{fornCode code="G. k. 4. r. 9, 2b” codeSystem="TBD-DoseForn”
codeSystenVersion="G. k. 4. r. 9. 2a™>
- {J— G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 ——>
-~ Gk 4. 1.9 2b Pharmaceutical Dose Form TermID #2-2 ——>
{originalText>G. k. 4. r. 9, 1<{/originalText>
<}— G.k 4. 1. 9.1 Pharmaceutical Dose Form {(free text) ¥2-2 —>
</formCode>
</kindDfProduct>
{/instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR">
<observaticn classCode="0BS” moodCode="EYN">
{code code="28" codeSystem="2, 16, 840, 1, 113883, 3. 889, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
{value xsi:type="CE” code="G.k. 4. 1. 1I.2b" codeSystem="2, 16, 840, 1, 113883. 3.989.2. 1, 1, 14"
codeSystemVersion="G. k. 4. r. 11.2a">
=~ G,k 4.r.11. 2a: Parent Route of Administration TermID Version Date / Number H#2-2
—>
(- 6. k. 4.r.11. 2b: Parent Route of Administration TermID #2~2 ~—>
{originalText>G. k. 4. 1. 11, 3{/originalTextd
{!— G.k.4.1.11. 1: Parent Route of Administration (free text) #2-2 -—>
</value? '
{/observation>
</inboundRelaticnship>
{/substanceAdministration>
{/outboundRelationship2>
CoutboundRelationship? typeCode="COMP™>
¢|-- 6.k 4. 1: Dosage and Relevant Information (repeat as necessary) #2-3 —»
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text)
¢l— G.k 4 1. 8: Dosage Text #2-3 —>
{effectiveTime xsi:type="IVL_TS">
<width value="4" unit="G.k 4.r.6b"/>
<l=- G.k. 4.r.6a: Duration of Drug Administration {number) B2-3 —>
¢!-= G.k 4.7, 6br Duration of Drug Administration (unit) #2-3 —>
<high value="20090101"/>
(I~ 6.k 4.r.5: Date and Time of Last Administration £2-3 —>
{/effectiveTime>
{routeCode code="G. k. 4.r.10.2b” codeSysten="2. 16. 840, 1. 113883, 3, 880, 2.1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a”>
¢I-— Gk 4. r. 10, 2a: Route of Administration TermID Version Date / Number #2-3 ——>
<l=— G.k 4.1.10. 2b: Route of Administration TermID #2-3 —
<original Text>G, k. 4. r. 10, 1<{/originalText>
{l=- .k 4 r.10. 1: Route of Administration (free text) #2-3 —>
</routeCode>
{doseQuantity value="10" unit="G.k 4.r.1b"/>
¢l-- G. k. 4. r. la Dose {number) #2-3 -—>
<l-~ G k. 4.r.1b: Dose {unit) #2-3 —>
{constmable typeCode="CSM">
{instanceOfKind classCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumberText>
¢l-- G.k.4.r.7: Batch / Lot Number #2-3 ——>
</productInstancelnstance>



<kind0fProduct classCode="MMAT" determinerCode="KIND">
<FormCode code="G. k, 4. r. 9. 2b" codeSystem="TBD-DoseForm”
codeSystemVersicn="G. k. 4.r.9. 2a">
¢}— G.k. 4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3 —>
¢l-— . k. 4.1.9. 25 Pharmaceutical Dose Form TermiD #2-3 —>
<eriginalText>G. k. 4.1. 9. 1<{/originalText>
¢!— G.k. 4.1.9.1' Pharmaceutical Dose Form {free text) #2-3 ——>
{/formCode>
(/kind0fProduct>
{/instanceOfKind>
{/consumable>
<inboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840, 1. 113883, 3,989. 2. 1. 1. 19" codeSystemVersjon="1.1"
displayMame="parentRoute0fAdministration”/>
<value xsiitype="CE’ code="G.k.4.r.11.2b” codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 14"

codeSystemYersion="G. k. 4.t. 11.2a">

.R?&:r.ll.Zai Parent Rou

¢!
-
¢{-- G.k.4.r.11.2b: Parent Route of Administration TermID #2-3 ——>
{originalText>G. k. 4. r. 11. 1</originalText>
¢l-- G.k 4. r 11 1! Parent Route of Administration {(free text) #2-3 ——>
{/value>
{/chservation?
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship?>
{outboundRelationshipZ typeCode="COMP">
{i=- 6.k 4.1 Dosage and Relevant Information (repeat as necessary) #2-4 -—>
¢substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G. k. 4. 1. 8{/text>
¢1— G. k. 4. 1.8 Dosage Text #2-4 ——>
{effectiveTime xsi:type="SXPR_IS">
{comp xsi:type="PIVL_TS">
¢period value="10" unit="G.k 4.t.3"/>
{-- G. k. 4.r.2: Number of Units in the Intervel #2-4 —>
¢ G. k. 4.r. 3! Definition of the Time Interval Unit #2-4 —>
</ comp>
{comp xsi:type="IVL TS" cperator="A">
<low value="20090101"/>
{l—— G.k.4.1.4: Date and Time of Start of Drug #2-4 -->
{/comp>
{/effectiveTime>
¢routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16, 840, 1. 133883, 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r, 10, 2a">
¢l— G.k 4. 1. 10. 2a° Route of Administration TermID Version Date / Number #2-4 ——>
¢-- 6.k 4. 1. 10. 2b? Route of Administration TermID #2-4 ——>
CoriginalText>G. k. 4. r. 10. 1</originalText>
I-- G.k.4.r.10. 1 Route of Administration (free text) #2-4 —>
{/routeCode>
¢doseQuantity value="10" unit="G.k. 4.1.1b"/>
(== G. k. 4.1.1a Dose {number) #2-4 —>
¢l-~ G,k 4.1, 1b: Dose (unit) #2-4 ~>
{constmable typeCode="CSM">
{instance0fKind classCode="INST™>
¢productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
¢lotNumberText>G. k. 4. r. 7¢/lotNumberText>
<I-— G.k. 4.1.7: Batch / Lot Number #2-4 —>
¢/productInstancelnstance>
<kindQfProduct classCode="MMAT" determinerCode="KIND">
(FormCode code="G. k. 4.r.5.2b" codeSystem="TBD-DoseForm”
coedeSystemVersion="G. k. 4. 1. 9. 2a">
¢l=—— G.k.4.1.9. 22 Pharmaceutical Dose Form TermID Version Date / Number #2-4 ——>
<I-— G.k. 4. 1. 9. 2b: Pharmaceutical Dose Form TermID #2-4 ——
<originelText>G. k. 4. 1.9, 1</originalText>
¢!— G.k.4.1.9. 1 Pharmaceutical Dose Form (free text) #2-4 —>
{/formCode>
/kind0fProduct>
</instance0fKind>

Administration TermiD Version Date / Number #2-3



{/consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840, 1.113883. 3,989, 2.1, 1. 19" codeSystemYersion="1.1"
displayName="parentRoute0fAdministration”/>
{value xsi:type="CE” code="G.k. 4.T.1L 2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a">
{— G.k 4,1 11, 2a: Parent Route of Administration TermID Version Date / Number #2-4
-—>
(I-— G.k.4.r. 11. 2b: Pareat Route of Administration TermID H2-4 ——>
<originalText>G, k. 4, r. 11, I</originalText>
¢l=— G.k.4.r.11. 1: Parent Rette of Administration {(free text) #2-4 —->
/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outhoundRelaticnship2 typeCode="COMP">
{I— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-5 ——>
<substanceAdministration classCode="SBADM” moodCode="EVN™>
{text>G. k. 4. 1. 8¢/text>
{l— G.k 4. 1.8 Dosage Text #2-5 —>
{effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_T18">
{pericd value="10" unit="G.k 4.r.3"/>
¢I— Gk 4.1.2: Number of Units in the Interval #2-5 ——>
<l— G.k.4.1.3: Definition of the Time Interval Unit #2-5 -
</comp>
{comp xsi:type="IVL_TS™ operator="A">
<high value="20090101"/>
== 6.k 4 1.5 Date and Time of Last Administration B2-5 —>
</comp>
{/effectiveTime>
{routeCode code="G.k. 4. r. 10. 2b” codeSystem="2. 16. 840, 1. 113883. 3. 989. 2.1.1. 14"
codeSystemYersion="G. k. 4. r. 10, 22>
<!— G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #2-5 -->
= G. k. 4.1, 10, 2b: Route of Administration TermID #2-5 —>
<originalText>G. k. 4. r. 10, I</originalText>
<1-- G.% 4.1.10.1: Route of Administration (free text) #2-5 —
{/routeCode>
{doseQuantity value="10" unit="G.lk. 4. r.1b"/>
<I— Gk 4.1 1a Dose (number) #2-5 —>
— G.k.4.1.1b: Dose (unit) #2-5 —>
{consumable typeCode="CSM"> )
<instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r, 7</1lotNumberText>
{}-— G.k.4.r.7: Batch / Lot Number #2-5 ——>
{/productInstancelnstance>
eindOfProduct classCode="MMAT” determinerCode="KIND™>
{formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. 1. 9. 2a">
I-— G k.4 r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number H2-5 —
<I— G, k.4, 1.9 2b: Pharmaceutical Dose Form TermID #2-5 —->
(originalText>G. k. 4. r. 9. 1<{/original Text>
<= 6.k 4.1.9.1: Pharmaceutical Dose Form (free text) #2-5 ——>
/fornCode>
¢/kindOfProduct>
<{/instance(fKind>
{/consumable>
{inbounhdRelationship typeCode="REFR">
<chservation classCode="0BS” moodCode="EVN">
‘Ccode code="28" codeSystem="2. 16. 8B40, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdministration”/> .
: {value xsi:type="CE” code="G.k. 4. r.11.2b" codeSystem="2. 16. 840, 1. 113883.3.989. 2. 1. 1. 14"
codeSystemYersion="G. k. 4. r. 11. 2a™>
<]~ G.k.4.7.11. 2a: Parent Route of Administration TermID Version Date / Number #2-5
—>

== G. k. 4. 1. 11. 2b: Parent Route of Administration TermID B2-5 —>
|



{originalText>G. k. 4. r, 11, i</originalText>
{1 G. k. 4.r.11. 1! Parent Route of Administration (free text) #2-5 —>
<{/value>
{/cbservation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationshipZ>
CoutboundRelationship2? typeCode="COMP”>
{!~- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-6 ——>
¢substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4, 1. 8¢/ text>
{{-— G.k. 4.1. 8! Dosage Text 2-6 -—>
<effectiveTime xsi:type=“SXPR_TS">
{comp xsi:type="PIVL_TS">
{period valus="10" unit="G. k. 4.x.3"/>
¢l-— G, k.4. 1. 2: Number of Units in the Interval #2-6 —>

¢l=— G J. 4.1, 3 Definition of the Time Interval Unit #2-6 —>

</comp>
{comp xsi'type="IVL_TS” operator="4">
<width value="4" unit="G. k. 4.r.6b"/>
¢|-- G.k. 4.r.6a: Duration of Drug Administration (pumber) #2-6 -—>
<l-- G.k. 4.r.6b! Duration of Drug Administration (unit) #2-6 -->
{/comp>
{/effectiveTime>
(routeCode code="G.k. 4.r.10. 2b” codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G, k. 4. r, 10, 2a”> :
¢~ G.k 4.1.10. 2a: Route of Administration TermID Version Date / Miumber #2-6 —>
<l— G,k 4. 1. 10. 2b: Route of Administration TermID #2-6 ——>
<original Text>G. k. 4. r. 10. 1¢/originalText>
I G. k. 4.1.10. 1: Route of Administration (free text) #2-6 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
¢{l-— G, k. 4.r.1a Dose {number} #2-6 —>
¢l— G.k 4. r.1b: Dose (unit) #2-6 —>
{censumable typeCode="CSM">
{instanceOfKind c¢lassCode="INST">
¢productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">»
{lotNumberText>G. k. 4. . 7</lotlumberText>
¢{l—- G, k.4.1.7: Batch / Lot Number #2-6 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G. k. 4.r.9.2b" codeSystem="TBD-DossForm”
codeSystemVersicn="G. k. 4. 1.9. 2a”>
{I-— G, k. 4.1, 9, 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-6 —>
(= G.k 4.r. 9 2b: Pharmaceutical Dose Form TermID #2-6 —>
(originalText>G. k. 4. r. 9, 1<{/originalText>
¢1— G.k.4.1.9. 1: Pharmaceutical Dose Form (free text) #2-6 ——
{/formCode>
<{/kind0fProduct>
{/instanceCfKind>
{/consumable>
{inboundRelationship typeCode="REFR">
<observation classCode="0BS” mocdCode="EVN">
{code code="28" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="parentRouteOfAdministration”/> :
<value xsi:type="CE” code="G. k. 4.r.11.2b" codeSystem="2. 16, 840. 1. 113883.3.989.2.1. 1. 14
codeSystemVersion="G. k. 4.r. 11, 2a”>

”

<!— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #2-6
)
{I-- G.k.4.1.11.2b: Parent Route of Administration TermlD #2-6 —>
{originalText>G. k. 4. r. 11. 1{/originalText>
= G.k. 4.r.11. 1: Parent Route of Administration (free text) #2-6 —>
<{/value>
{/observation>
</inboundRelationship>
{/substanceAdministraticn>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
{}-- G.k. 4.1’ Dosage and Relevant Information {(repeat as necessary) #2-7 —>



{substanceAdministration classCode="SBADM” moodCode="EVN">
Ctext>G. k. 4. r. 8/ text?
{l—— G.k 4, 1.8 Dosage Text #2-7 ——
<{effectiveTime xsi:type="PIVL_TIS">
<periced value="10" unit="G.k. 4.r.3"/>
<{I-- G. k4. 1. 2: Number of Units in the Interval #2-7 -—
¢{I-- Gk 4. 1.3 Definition of the Time Interval Unit #2-7 —>
{/effectivelime>
<routeCode code="G.k. 4.r. 10.2b" codeSysten="2. 16.840. 1. 113883. 3. 983. 2. 1. 1. 14"
codeSystemVersion="G. k. 4.1. 10, 2a”>
<l— G.lk 4.r. 10. 2a: Route'of Administration TermID Version Date / Number #2-7 -->»
¢<!— G.k. 4. 1. 10. 2b: Route of Administration TermID ¥2-7 -—
<originalText>G. k. 4. r. 10, 1</original Text>
{I=~ G. k. 4.r.10. 1: Route of Administration (free text} #2-7 -
{/routeCode>
{doseQuantity value="10" unit="G.k. 4. r. 16"/"
¢l-= G,k 4. 1, 1a Dose (numher) #2-7 ——>
¢{l—- Gk 4 1. 1b: Dose (unit) #2-7 -
{consumable typeCode="CSM">
{instance0f{ind classCode="INST"> ‘
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText>G. k. 4. 1. 7{/lotNumberText>
{— G.k. 4.x.7: Batch / Lot Number #2-7 —>
{/preductInstancelnstance>
<kindOfPreduct classCode="MMAT” determinerCode="KIND">
{formCode code="G. k. 4.1.9. 2b” codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.1.9. 2a"> :
’ {I-— G. k.4, r.9 2a: Pharmaceutical Dose Form TermID Version Date / NMumber #2-7 ——>
¢}=- 6.k. 4.1. 9. 2b: Pharmaceutical Dose Form TermiD #2-7 —>
originalText>G. k. 4.r. 9. 1</originalText>
¢l-- 6. k.4.1.9. 1! Pharmaceutical Dose Form {free text) #2-7 —->
</formCode>
{/kind0fProduct>
¢/instance0fKind>
{/consumable>
{inboundRelaticnship typeCode="REFR">
<vbservation classCode="0BS” moodCode="EVN">
{code code="28" codeSysten="2. 16,840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration”/> .
<value xsi:type="CE” code="G.k. 4.1.11. 2b" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1. 14"
codeSystemVersion="G. k. 4. 1. 11, 2a”> : .
¢{l-- G, k. 4.1.11, 2a: Parent Route of Administration TermID Version Date / Number #2-7
-
(!~ G.k.4.r.11.2b: Parent Route of Administration TermID #2-7 —>
{originalText>G. k. 4. r. 11. 1{/originalText>
{!= G.k.4.7.11. 1: Parent Route of Administration (free text) #2-7 —>
{/value>
{/cbservationy
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
{!=- G.k.4.r: Dosage and Relevant Information (repeat as necessary) H2-8 —>
<substanceAdministration classCode="SBADK” moodCode="EVN">
<{text>G k. 4. 1. 8{/text>
<l-~ G.k 4.r. 8: Dosage Text #2-8 —>
{effectiveTime xsi:type="IVL_TS™>
(low value="20090101"/>
I~ G.k 4.r.4: Date and Time of Start of Drug #2-8 —>
</effectiveTime>
{routeCode code="G. k. 4. 1. 10. 2b” codeSystem="2. 16. 840. 1, 113883. 3, 989, 2. 1. 1, 14"
codeSystemVersion="G. k. 4. 1. 10, 2a”>
== G k. 4.r. 10, 2a° Route of Administration TermID Version Date / Number #2-8 —->
<I-= G.k 4 r. 10, 2b: Reute of Administration TermID #2-8 —>
originalText>G. k. 4. r. 10. 1</originalText>
4= Gk 4.r. 10.1: Route of Administration (free text) #2-8 ——
{/routelode>
{doseQuantity value="10" unit="G.lk. 4.r.1b"/>
<{—-G.k. 4. 1. 1a Dose (number) #2-8 —>



I— G. k. 4, r.1b: Dase (unit) #2-8 —>
{censumable typeCode="CSM">
" <instanceOffind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText>G. k. 4. . 7¢{/lotNumberText>
4= G.k.4.r.7: Bateh / Lot Number #2-8 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G. k. 4. r.9. 26" codeSysten="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 9. 2a™>
¢l G.k. 4.7.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8 —>
<i— G.k.4.7.9, Zb: Pharmaceutical Dose Form TermlD H2-§8 —-
{originalText>G. k. 4. r. 9. 1¢/original Text>
¢l-- G.k. 4.1.9.1: Pharmaceutical Dose Form (free text) #2-8 —>
{/formCode>
{/kindOfProduct>
</instance0fKind>

{/consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
<code code="28" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2.1, 1. 19" codeSystemVersien="1,1"
displayName="parentRoute0fAdministration”/>
{value xsi:type="CE” code="G.k. 4.r.11. 25" codeSystem="2.16. 840. 1. 113883.3.989.2.1.1. 14"
codeSystemYersion="G, k. 4. r. 11, 2a">
¢l-- 6.k 4. 1. 11, 2a: Parent Route of Administration TermID Version Date / Number #2-8
-
{|—— G.k. 4. r.11. 2b: Parent Route of Administration TermiD #2-8 —>
{originaiText>G. k. 4. r. 11, 1</originalText>
¢!-— G.k.4.r.11. 1: Parent Route of Administration (free text} #2-8 —>
{/value>
{/chservation>
</inboundRelaticnship>
{/substanceAdministration>
¢/outboundRelationship2»
{outboundRelationship2 typeCode="COMP">
¢l— G.k. 4. r: Dosage and Relevant Informastion (repeat as necessary) #2-§ —>
<substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8¢/text>
{{— G.k. 4.1.8: Dosage Text #2-9 —>
{effectiveTine xsi:type="IVL_TS">
<high value:"20090101”[>
¢l-- 6.k 4.r. 5 Date and Time of Last Administration #2-9 —>
{/effectiveTime>
(routeCode code="G. k. 4,1, 10.2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a”>
¢{I-— G.k.4.1.10.2a° Route of Administration TermID Version Date / Number #2-9 —
(== G. k. 4.r. 10. 2b: Route of Administration TermID #2-9 ——
CoriginalText>G. k. 4. r. 10. I<{/original Text>
- G.k. 4.1r.10. 1: Route of Administration (free text) #2-%¢ ——>
{/routeCode>
{doseQuantity value="10" unit="G.k 4. r. 1b"/>
{l-- G, k. 4. r. 1a Dose (number) H#2-9 ——>
{I— G.k.4. 7. 1b: Dose {unit) H2-8 —>
<consumable typeCode="CSM">
(instance0fKind classCode="INST">
<productInstanceInstance classCode="MMAT” determinerCode="TNSTANCE”>
(lotNumberText>G. k. 4. r. 7</lotNumberText>
(I~ G.k.4.r.7: Batch / Lot Number #2-9 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k 4.1.9.2b” codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.r. 9. 2a”>
(I~ G.l.4.r.9 2a: Pharmaceutical Dose Form TermID Version Date / Number §2-9 -->
{!— G.k,4.1r.9. 2b: Pharmaceutical Dose Form TermID #2-9 —>
{originalText>G. k. 4.r. 9. 1<{/originalText>
(I~ G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-9 ~->
{/FormCode>
¢/kind0fProduct>
{/instanceOfKind>



{/consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2, 16. 840, 1, 113883. 3.989. 2. 1. 1. 19" codeSystemYersion="1. 1"
displayName="parentRouteOfAdministration”/> ‘
{value xzsi:type="CE” code="G.k. 4. r.11. 2b" codeSystem="2. 16. 840, 1. 113883.3.989,.2. 1. 1. 14"
codeSystemVersion="G. k. 4, 1. 11. 2a”>
¢!=— 6.k 4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #2-%
-
<I== G.k. 4. 7. 11, 2b: Parent Route of Administration TermID #2-9 —->
{originalText>G. k. 4. r. 11, 1</originalText>
¢}— 6.k 4.1.11. 1: Parent Route of Administration (free text) #2-9 —>
{fvalue?
</observation»
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationskip2>
{outboundRelationship? typeCode="COMP”>
{!— G. k. 4.1 Dosage and Relevant Information (repeat as necessary) #2-10 —>
{substanceAdministration classCode="SBADM" mocdCode="EVN">
(text>G, k. 4. r. 8{/text>
|~ G.k.4.r.8: Dosage Text #2-10 ~—>
{(effectivelime xsi:type="IVL_TS">
{width value="4" unit="G.k 4.r.6b"/>
¢!=— G.k. 4, r. 6a: Duration of Drug Administration (humber) #2-10 —>
{!-- G.k. 4.1.6b: Duration of Drug Administration (unit) #2-10 —>
</effectiveTime>
{routeCode code="G, k. 4, 1. 10, 2b” codeSystem="2, 16, 840, 1. 113883.3,989.2.1. 1, 14"
codeSystemVersion="G. k. 4. r. 10, 2a"> )
{}~~ G.k. 4. 1. 10. 2a: Route of Administration TexmID Version Date / Number #2-10 -->
{J—~ G.k.4.1.10.2b: Route of Administration TermID #2-10 -—>
CoriginalText>G. k. 4. 1. 10, i{/originalText>
{!-- G.k 4r.10.1: Route of Administration (free text) #2-10 —>
{/routeCode>
{doseQuantity value="10" unit="G. k. 4.r. 1b"/>
{l—— G.k 4.1. la Dose (number) #2-10 -
¢!~ G.k.4.r.1b: Dose (unit) #2-10 —>
{consumable typeCode="CSM"> .
<instanceOfKind classCode="INST">
<praductInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<{lotNumberText>G, k, 4. r. 7<{/lotNumberText>
(== G.k.4.r.7: Batch / Lot Number #2—19 -
/productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G. k. 4.r. 8, 26" codeSystem="TBD-DoseForm™
codeSystemVersion="6. % 4. 1. 9. 2a">
¢l G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-10 ——>
<!-- 6.k 4.1.9.2b: Pharmaceutical Dose Form TermID #2-10 -—>
<originalText>G. k. 4.r.9. 1{/originalText>
<l=- G, k. 4.1.9. 1: Pharmaceutical Dose Form (free text) #2-10 ——
</formCode>
<{/kindOfProduct>
{/instance0fKind>
{/consumzble>
{inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdministration”/>
<value xsi:type="CE” code="G.k. 4. r. 11.2b" codeSystem="2, 16.840. 1. 113883. 3. 989.2. 1. 1, 14"
codeSystemYersion="G. k. 4.1. 11. 2a">
1=- G. k. 4.1. 11, 2a: Parent Route of Administration TermID Version Date / Number #3-10
-2
{I— G.k,4,r, 11, 2b: Parent Route of Administration TermID ¥2-10 —>
<originalText>G. k. 4. r. 11. 1<{/originalText>
{l=— G.k. 4.r.11.1: Parent Route of Administration (free text) #2-10 —>
</valued
{/chservation>
¢{/inboundRelationship>
{/substanceAdministrationd



{/vutboundRelationship2>
{outhoundRelationship2 typeCode="SUMM">
{observation classCode="0BS” moodCode="EVN">
<code code="14" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="cumulativeDoseToReaction”/> ‘
{value xsiitype="PQ" value="10" unit="G. k.5b"/>
¢{|— G.k.Ba: Cumulative Dose to First Reaction {(number) #2 —>
¢l G.k.Bb: Cumulative Dose to First Reaction {unit) #2 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0B3" moodCode="EVN")
{code code="16" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="gestatiocnPericd”/>
<value xsi:type="PQ" value="10". unit="G. k. 6b"/>
¢l-- G.k.Ba! Gestation Period at Time of Exposure (number) #2 —->

{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">

{observation classCode="0BS” moodCode="EVN">

{code code="31" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="recurranceCfReaction”/>
¢value xsi:type="CE” code="G.k. 9.1.4" codeSystem="2.16.840, 1. 113883, 3.989. 2. 1, 1. 16"

{!-- G.k.6b: Gestation Period at Time of Exposure (unit) #2 —=>

codeSystemVersion="1, 0"/>
¢!— G.k.9.i.4: Did Reaction Recur on Re—administration? Drug #2, Reaction #1 ——>
{outboundRetationshipl typeCode="REFR">
(actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b—4512-a02f~42d4d6f4657F" />
{/actReference>
{/outboundRelationshipl>
{/observation»
<{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
¢code code="31" codeSystem="2. 16. 840, 1, 113883, 3, 989, 2, 1. 1. 19”7 codeSystemVersion="1.1"
displayName="recurranceOfReaction”/>
(yalue xsi:typs="CE” code="G.k.9.1i.4" codeSystem="2, 16. 840. 1. 113883. 3. 989. 3. 1. 1. 16"
codeSystemVersion="1.0"/>
(J-- 6.k.9. 1. 4: Did Reaction Recur on Re—administration? Drug #2, Reaction #2 —>
{otitboundRelationshipl typeCode="REFR™>
<actReference classCode="0B3" mocdCede="EVN™>
<id root="2baa28d6—c9e8-4ebc—33e9-5b860b314220" />
{/actReference>
{/outboundRelationshipl>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="REFR">
{ohservation classCode="0BS” moodCode="EVN">
{code code="9" codsSystem="2.16.840. 1. 113883.3.989. 2. 1.1, 19" codeSystemVersion="1, 1"
displayName="codedDruglnformation”/>
<value xsi:type="CE” code="G.k 10.r" codeSystem="2. 16.840. 1.113883.3.989.2.1.1.17"
codeSystemVersion="1.0"/>
¢! G. k. 10.r: Additional Information on Drug (coded) (repeat as necessary) #2-1 —>
¢/observation>
<{/outboundRelationshipiy
<outhoundRelationship? typeCode="REFR">
{observation classCode="0BS" moodCode="E¥YN">
{code code="9" codeSysten="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="codedDrugInformation”/>
{yalue xsi:@type="CE” code="G.k 10.1" codeSysiem=

7. 18,840, 1. 113883, 3,586, 2. 1.1, 17"
codeSystemVersion="1.0"/>
<I-- G,k 10.r: Additional Information on Drug (coded) (repeat as necessary) #2-2 —>
{/abservation>
{/outboundRelationship2>
{outkoundRelationship2 typeCode="REFR™>
{observation classCode="0BS” moodCode="E¥N">
¢code code="2" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersicn="1. 1"
displayName="additionalInformation”/>



<value xsiitype="ST">G, k. 11</value>
{{=- 6.k 11! Additional Information on Drug (free text) #2 —>
{/observation>
{/outboundRelationship2>
{inboundRelationship typeCode="RSON">
{cbservation classCode="0BS” moodCode="EVN">
(code code="19" codeSystem="2,16. 840, 1, 113883, 3, 989. 2, 1.1, 19" codeSystemVersion="1. 1"
displayName="indication”/>
{value xsi:type="CE” code="G. k. 7.r.2b" codeSystem="2.16. 840, 1. 113883. 6. 163"
codeSystemVersion="G. k. 7. r. 2a">
== 6.k 7.1, 2a: MedDRA Version for Indication #2-1 —->
= G.k 7.r.2b: Indication (MedDRA code) #2-1 ——
<originalText>G. k. 7. r. I{/originalText>
{I-- 6.k 7.r.1: Indication as Reported by the Primary Scurce #2z-1 —>
{/value>
{performer typeCode="PRF">
CagsignedBntity classCode="ASSIGNED”>
{code code="3" codeSystem="2. 16, 840, 1. 113883, 3. 989.2. 1. 1. 21" codeSystemVersion="1. 0"
displayName="sourceReporter”/>
{/assignedEntity>
</performer>
{/observaticn?
</inbotndRelationship?
{inboundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
{code code="19" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="indication”/> ' ‘
{value xsi:type="CE” code="G.k. 7. 1. 2b" codeSystem="2, 16. 840, 1, 113883, 6, 163"
codeSystemVersion="G. k. 7.r. 2a™>
= G.k 7.7. 2a: MedDRA Version for Indication #2-2 —>
{J— G.k 7.r,2b: Indication (MedDRA code) #2-2 —>
{eriginalText>G. k. 7. r. 1</criginalText>
¢!-- G.k 7.r.1: Indication as Reported by the Primary Source #2-2 —>
{/valued
{performer typeCode="PRF">
<assignedEntity classCode="ASSIGNEDL">
{code code="3" codeSystem="2.16.840.1.113883. 3. 989.2.1. 1. 21" codeSystemVersion="1. 0"
displayName="sourceReporter”/>
¢/assignedEntity>
{/performer>
{/observation>
{/inboundRelationship>
<inboundRelationship typeCode="CAUS">
<act classCode="ACT" moodCode="EVN"> )
<code code="G.k, 8" codeSystem="2. 16, 840. 1, 113883. 3, 989. 2. 1. 1. 15" codeSystemVersion="1, ¢"/>
{I-- G. k. 8! Action{s} Taken with Drug #2 —>
{/act>
</inboundRelaticnship>
{/substanceAdministration>
{/component>
{/organizer>
{/subject0f2>
{subjectOf2 typeCode="SB]">
(organizer classCode="CATEGORY” mcodCode="EVN">
{code code="1" codeSystem="2, 16, 840, 1. 113883, 3,989, 5. 1. 3, 2. 1. 11" codeSystemVersion="1. 0"
displayName="{5ER O#E" /> :
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EYN"}»
: {code eode="T7" codeSystem="2. 16.840.1.113883.3.983.5. 1.3, 2. 1. 10" codeSystemYersion="1.0"
displayName=" /@ th[RI%L" />
<value xsi:type="INT” value="1"/>
<|-- @88J2.13.v.1: BHEEK #1 —>
{/observation>
{/component>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2. 16.840. 1. 113883. 3. 989.5.1. 3. 2. 1. 10” codeSystemVersion="1.0"
displayName="3 TS EM"/>
{value xsi:type="BD">J2.13.r. 2¢(/valuer



- @06]2.13.r. 2: SEBES 4 —>
</observation>
{/component)
<component typeCode="COMP™>
{observation classCode="0RS” moodCode="EVN">
{code code="9" codeSystem="2. 16. 84C. 1. 113883. 3. 989, 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="PREE4B" />
¢value xzsi!type="CE” code="J2.13.r.3" codeSystem="2, 16, 840, 1,113883.3.989.5.1.3.2.1.7"
codeSystemVersion="1, 0"/>
Cl-- @68)2.13.r.3: BASRAR H1 ——
{/observation>
{/couponent>
{compenent typeCode="COMP”>
<observation classCode="0BS” mocdCode="EVN")
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="fZE T O EFIHHE" />
{value xsi:type="BL” valus="true”/>
T-a8eIE 13 4 WETOERNOEE §1 T
{/obgervation>
</component>
{/organizer>
{/subject0f2>
{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGCORY” mocdCode="EVN">
¢code code="1" codeSystem="2. 16. 840. 1. 113883. 3, 989.5.1.3.2. 1. 11”7 codeSystemVersion="1. 0"
displayName="758k OIEZE" />
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN™>
{code code="T7" codeSystem="2.16.840. 1, 113882, 3,989, 5, 1. 3, 2. 1. 10" codeSystemVersion="1.0"

displayName="/& HiEI&L" />
<value xsi:type="INT” value="1"/>
b 00872.13.1. 10 BILEIE #2 >
{/ohservation>
{/component>
{compenent typeCode="COMP”>
{ohservation classCode="CB5" mocdCode="EVN">
<code code="8" codeSystem="2.16.840. 1. 113883. 3. 989.5.1.3. 2, 1. 10" codeSystemVersion="1. 0"
displayName="sd SIER"/>
{value xsi:type="ED">J2.13.r. 2</valus>
|- 88eJ2. 13.r. 2: RBEB #2
</observation)
{/component>
{eoiponent typeCode="COMP">
<observation classCode="0BS" moodCode="EVN™>
{code code="9" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3. 2. 1. 10" codeSystemVersion="1.0"
displayName="BH5E#H" />
(value xsi:type="CE” code="J2.13.1.3" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1.7
codeSystemVersion="1.0"/>
<l @@8)2.13.r.2: BA%EHA #2
</observation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
¢code code="10" codeSystem="2, 16. 840, 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="33h OfE A0 HE" />
(value xsi:type="BL” value="false”/>
<I-— 888J2.13.1. 4: WENOEMOFE 82 —>
{/observation>
{/compcnent>
{forganizer>
¢/subject0f2>
{/primaryRole>
</subjectl>
{camponent typeCode="COMP">
{causalityAssessment classCode="0BS” moodCode="FVN">
{code code="20" cadeSystem="2, 16, 840. 1. 113883, 3, 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="interventicnCharacterization”/>
{value xsi:type="CE” code="G.k. 1" codeSystem="2.16.840. 1, 113883, 3,989,.2.1, 1, 13"
codeSystemVersion="1. 0"/>



{}-= G.k 1: Characterisation of Drug Role Drug #1 ——>
" {subject2 typeCode="SUR]">
{productUseReference classCode="SRBADM” moodCode="EVN">
{id root="3c91b4d6-e039-4aTa~8c30-67671b0ef9e4™ />
{/productUseReference>
¢/subject2> '
{/causalityAssessment>
{/component>
{component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="20" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="interventionCharacterization”/>
{value xsi:type="CE” code="G.k. 1" codeSystem="2.16. 840. 1. 113883. 3. 989.2. 1. 1. 13"
codaSystemVersion="1. 0" /> .
<!-—= G.k 1: Characterisation of Drug Role Drug #2 —>
{suibject? typeCede="SURI">
{productllseReference classCode="SBADM” moodCede="EVN">
<{id root="68d6f5ce~3b3b~45c7-92dd-6020673003407 />
{/productUseReference>
¢{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP">
{causalityAssessment cla=sCode="0BS” moodCode="EVN">
{code code="39" codeSystem="Z. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>
(value xsi:type="ST">GC.k. 9.1, 2.r, 3¢/ value)
{I-- 6.k 9.1, 2.r. 37 Result of Assessment Drug #1, Reaction 21, Assessment I -—>
{methodCode>
<originalText>G. k. 9, 1. 2. 7. 2{/originalText>
¢l— 6.k 9.1.2.r. 2! Method of Assessment Drug #1, Reaction #1, Assessment #1 —>
{/methodCode>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{code>
CoriginalText>G. k. 9.1. 2. r. 1{/originalText>
3=~ G,k 9.1.2,r. 1. Source of Assessment Drug #1, Reaction #1, Assessment #1 —>
{/code>
{/assignedBntity>
</author>
{stibjectl typeCode="SUB]">
{adverseEffectReference classCode="0BS” moodCede="EVN">
<id root="154ebB889-958b-45f2-a02f-42d4d6F4657F" />
{/adverseEffectReference>
{/=subjectl>
{subject2 typeCode="SUB]">
{productUseReference classCode="SBADM” moodCode="EVN">
<id root="3¢91b4d5-2039-4a7a~9c30~6767 1h0efed” />
{/productUseReference>
{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP”>
(causalityAssessment classCode="0BS” moodCode="EVN">
{code code="39" codeSystem="2, 16, 840, 1. 113883, 3. 989. 2, 1. 1. 19" codeSystemVersion="1, 1"
displayName="causality”/>
value xsiitype="ST">G. k. 9. 1. 2. 1. 3¢/value>
{I--G.k. 9.1.2.1.3! Result of Assessment Drug #1, Reaction #2, Assessment #1 -->
<methodCode>
(originalText>G. k. 9. 1. 2. ¥. 2¢/originalText?
{—0G. %k 9.i.2. 1. 2: Method of Assessment Drug #1, Reaction #2, Assessment #1 -->
</methodCode)
{attthor typeCode="AUT">
{assignedintity classCode="ASSIGNED">
{code>
CoriginalText>G. k. 9.i. 2. r. 1{/criginalText>
== 6.k 9.1. 2.1, 1 Sourcs of Assessment Drug #1, Reaction #2, Assessment #1 —>
{/coded
{/assignedEntity>



{/author>»
{subjectl typeCode="SUB]">
{adverseEffectReference classCode="0BS” moodCode="EVN™>
<id root="2baa28d6-ce8-4eBc—-93e8-5L860b3142207 />
{/adverseEffectReference>
{/subjectli>
{subject2 typeCode="SUBJ">
¢productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91bdd5-e039-4aTa~9c30-67671b0ef9ed” />
{/preductVseReference>
{/aubjectl>
{/causaliiyAssessment>
{/component>
(component typeCode="COMP">
{causalityAssessment classCode="CBS” moodCode="EV¥N">
{code code="39%" codeSystem="2. 16.840. 1. 113883, 3. 886, 2. 1. 1. 19” codeSystemVersion="1, 1"
displayName="causality”/>
{value xsi:type="ST">G.k. 9. 1.2 r.3¢/value>
<}--6.k. 9.i. 2. r. 37 Result of Assessment Drug #2, Reaction #2, Assessment #1 -—
{methodCode>
(originalText>G, k. 9. 1. 2. 1, 2¢/originalText>
Gk 9.1.2.r. 2: Method of Assessment Drug #2, Reaction #2, Assessment #1 —>
{/methodCode>
<author typeCode="AUT™>
{assignedBntity classCode="ASSIGNED">
{code>
originalText>G. k. 9. 1. 2. r. 1{/originalText>
<I-- G, k. 9.1. 2.1, 1: Source of Assessment Drug #2, Reaction #2, Assessment #1 —»
{/code>
{/assignedEntity>
{/author>
{subjectl iypeCode="SUB]">
<adverseEffectReference classCode="0BS" moodCode="EVN">
<id root="2baa28d6-cOe8-4e6c-93e8-5b860b3142207 />
{/adverseEffectReference>
{/subjectl>
{subject? typeCode="SUBJ™>
{productUseReference classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce—3b3b—45c7-924d-69e06730c3a8” />
{/productUseReference>
4/subjectlr
{/causalityAssessment>
{/componeni>
{component typeCode="COMP">
{causalityAssessment classCode="0BS” moodCade="EVN">
¢code code="39" codeSystem="2. 16.840. 1. 113883.3.989.2.1. 1. 19" codeSystemVersion="1. 1"
displayName="causality”/>
<value xsi:type="ST">G.k. 8. i.2. 1. 3</value>
4—-G.k. 9.1.2.r. 3: Result of Assessment Drug #2, Reaction #2, Assessment #2 ——>
{methodCode>
<originalText>G. k. 9. 1, 2. r. 2<{/originalText>
<J--6.k.9.i.2.r.2: Method of Assessment Drug #2, Reaction H2, Assessment #2 ——>
{/methodCode>
{author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
{code>
{originalText>G. k. 9. i. 2. r. 1</originalText>
J— 6.k 9.4.2. 1. 1! Source of Assessment Drug #2, Reacticn #2, Assessment #2 ——
{/code>
{/assignedEntity>
{/author>
{subject] typeCode="SUBJ">
{adverseEffectReference classCode="0BS” mocdCode="EVN™>
{id root="2baa2Bd6cBe8-4ebc~93e9-5b860L314220" />
{/adverseEffectReference>
</subjectl>
<subject2 typeCode="SUB]">
¢productlseReference classCode="SBADM” moodCode="EVN")>
{id root="68d6f5ce~3b3b—4507-32dd-60e06730c3a9" />




{/productUseReference>
{/subject2> :
{/causalityAssessment>
{/component>
{componentl typeCode="COMP”>
{observationfvent classCode="0BS” moodCode="EVN">
{code code="10" codeSystewn="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="comment”™ />
{value xsi:type="ED">H. 2¢/value>
¢{]— H. 2: Reporter's Comments —>
<author typeCode="AUT”>
{assignedFntity classCode="ASSIGNED">»
] <code code="3" codeSystem="2. 16. 840, 1, 113882, 3, 889, 2. 1. 1, 21" codeSystemYersion="1. 0"
displayName="sourceReporter”/>
{/assignedEntity>
¢/author>
{/observationEvent>
{/component1>
{componentl typeCode="COMP">
{observationfvent classCode="0BS” moodCode="EVN">
{code code="15" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="diagnosis"/>
<value xsiitype="CE” code="H.3.r. 1b* codeSystem="2. 16. 840C. 1. 113883, &, 163"
codeSystemVersion="H. 3. r. 12" />
{l-— H.3.r.1a: MedDRA Version for Sender’ s Diaghosis / Syndrome and / or Reclassification of Reaction /
Event #1 -
¢}~ H.3.1.1b: Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code) #1 —>
<auther typeCode="AUT">
{assignedBntity classCode="ASSIGNED">
{code code="1" codeSystem="2. 16.840.1.113883. 8. 989. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="sender”/>
{/assignedEntity>
{/author>
{/ohservationBvent>
</componentl’
{componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="15" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2, 1. L. 19" codeSystenVersion="1,1"
displayName="diagnosis”/>
<value xsiitype= CE” code="H. 3.r.1b” codeSystem="2. 16. 840. 1. 113883. 6. 183"
codeSystemVersion="H. 5. r. 1a”/>
<I-— H.3.r. 1a: MedDRA Version for Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction /
Event #2 —> :
¢l-- 1. 3.r.1b: Sender's Diagnosis / Syndrome and / or Reclassification of Reaction / Bvent (MedDRA
code) #2 - ’
{author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
<code code="1" codeSystem="2. 16. 840, 1. 113883.3.989.2. 1. 1. 21” codeSystemVersion="1. 0"
displayName="sender” />
' {/assignedBntity>
{/author>
{/observationBveni>
{/componentl>
{component]l typeCode="COMP”>
{observationEvent classCode="CBS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="comment” /> .
{value xsiitype="ED">H 4<{/value>
¢!— H.4: Sender’ s Comments —>
<author typeCede="AUT">
<assignedEntity classCode="ASSIGNED"> :
{code code="1" codeSystem="2, 16, 840, 1. 113883, 3,989, 2, 1, 1, 21" codeSystemYersion="1,0"
displayName="sender”/>
{/assignedEntity>
{/author?
{/cbservationEvent>
{/componentl>
{component]l typeCode="COMP”>



<observationEvent classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10"
FRTIETDI AL/
<value xsi:type="ED">J2.7.2¢{/value>
-- @80J2.7.2: RETIFTITALF —>
{/observatiocnEvent>
{/component1}
{compcnentl typeCode="COMP“> _
(ohservationEvent classCode="0BS" moodCode="EVN">
{code ecode="4" codeSystem="2. 16. 840. 1. 113883.3.989, 5.1,3.2. 1. 10"
HE O ERE" />
<-- 00872.9: BHIEDWRFE ——
{/chservationEvent>
{/componenti>
{componentl typeCode="COMP">
{pbservationBvent classCode="0BS” moodCode="EVN">

{code code="5" codeSystem=”2.16.840.1.113883.3.989.5.1.3.2.1.1@

S ORIE"
<value xsi:type="ED">J2. 10</value>
<I-— @paga. 100 AH O —
{/observationEvent>
</componentl>

{componentl typeCode="COMP">
{chservationEvent classCode="0BS” moodCode="EVN">
{code code="6" codeSystem="2.16.840.1, 113883, 3.989.5,1,3.2, 1. 107
FOMBEEEE" />
(value xsi:type="ED">]J2.11</value}
<I—— @@aJ2. 11 ¥ OMBEIEE —
{/observaticnEvent>
{/component1>
{component] typeCode="COMP">
{observationEvent classCode="0B5" moodCode="EVN">
<code code="12" codeSystem="2.16. 840, 1. 113883.3.989.5.1.3.2. 1. 107
HERNEOER"/>
{value xsi:type="ED">J2.16</value>
<l 08872 16: WENEOEH —>
{/observationEvent>
{/componenti>
{componentl typeCode="COMP">
(observationBvent classCode="0BS” moodCode="EVN">
{code code="13" codeSystem="2. 16. 840. 1, 113883. 3. 989.5.1.3.2. 1. 10"
wE 1/
<value xsi'type="ED">J2.19</value>
<|-- @8@J2.19: WHE1 —
{/observationEvent>
{/component1>
{componentl typeCode="COMP">
<observationEvent classCode="0BS" moodCode="EVN">
{code code="14" codeSystem="2, 16. 840, 1. 113883, 3. 989.5.1.3. 2. 1. 107
W& 2"/,
Cvalue xsi:type="ED">]2. 20</value>
<I— B@8J2, 20 HE 2 —>
{/cbservationEvent>
{/component1>
{componentl typeCode="COMP">
<cbservationBvent classCode="0BS” mocdCode="EVN">
{cede code="15" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3. 2. 1. 10"
{#E 3",
<{value xsi:type="BD">]J2.21¢/value>
- BEBTZ. 21: RES >
¢/observationfvent>
{/component1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” mcodCode="EVN">
<code code="18" codeSystem="2, 16. 840. 1. 113883.3.989.5.1.3.2. 1. 10"
WE L/
{value xsi:type="ED">J2.22</value)
<~ @887z 22: {HE 4 -

o

codeSystemVersion="1. ¢"

codeSystenVersion="1. 0"

codeSystemVersion="1, 0"

codeSystemVersion="1.0"

codeSystemVersion="1,0"

codeSystemVersion="1. 0"

codeSystemYersion="1.0"

codeSystemVersion="1. 0"

codeSystenVersion="1. 0"

displayName="

displayName="

displayName="

displayName="

displayName="

displayName="

faws
)

displayName="

displayName="

displayName="



{/observationEvent>
{/component1>
</adverseEventAssessment>
{/component>
{eompenent typeCods="COMP">
¢observationEvent classCode="0BS” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3.08%. 2.1. 1. 19" codeSystenVersion="1. 1"
displayName="additionalDocumentsAvailable”/>
{value xsi'type="BL” value="true”/>
<!-- C.1.6.1: Are Additional Documents Available? -—>
{/ohservationEvent>
</component>
{cemponent typeCode="COMP”>
{ohservationEvent classCode="0BS” moodCode="EV¥N">
. {code code="23" codeSystem="2. 16. 840. 1, 113883. 3. 989, 2, 1, 1. 19" codeSystemVersion="1.1"
displayName="localCriteriaForExpedited”/>
<value xsi:type="BL” value="true”/>
{{— €.1,7: Does This Case Fulfil the Lccal Criteria for an Expeditad Report? ——>
</observationEvent>
</component>
<component typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
{code code="36" codeSystem="2. 16. 840. 1. 113883. 3, 985, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="summaryAndComment” />
(value xsiitype="ED” language="H. 5. 1. 1b">H. 5. 1. 1a¢/value>
¢(I— H,5.r.1a: Case Summary and Reporter’ s Comments Text #1 —>
¢l— H,5.1.1b: Case Summary and Reporter’ s Comments Language #1 —>
Cauthor typeCode="AUT™>
{assignedfntity classCode="ASSIGNED">
{code code="2" codeSystem="2.186, 840, 1. 113883, 3. 989. 2. 1, 1. 21" codeSystemVersion="1.0"
displayName="reporter”/>
{/assignedEntity>
</author>
{/cbservationBvent>
</component>
{component typeCode="COMP">
<observationEvent classCode="0BS" moodCode="EVN">
{code code="36" codeSysten="2. 16.840. 1. 113883. 3. 985. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="summaryAndComment” /> .
{value xsiitype="ED” language="H.5.r. 1b">H 6.r. 1la¢{/value>
¢{!— H.5.r.la: Case Summary and Reporter’'s Comments Text #2 —>
{I— H.5. 1. Ib: Case Summary and Reporter’ s Comments Language #2 —>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{code code="2" codeSystem="2. 16, 840. 1, 113883, 3. 989, 2. 1. 1, 21” codeSystemVersion="1.0"
displayName="reporter”/>
{/assignedEntity>
{/author>
{/observationlvent>
</component’
{outboundRelaticnship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG” moodCode="EVN™>
(code code="1" codeSystem="2. 16, 840, 1, 113883. 3, 989. 2. 1. 1, 22" codeSystemVersion="1, 0"
displayName="initialReport”/>
<subject0f2 typeCode="SUBJ">
{contrelActEvent classCode="CACT” mocdCode="EVN")
<author typeCode="AUT">
{agsignedEntity ¢lassCode="ASSIGNED”>
{code code="C. 1. 8. 2" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1, 1. 3" codeSystemVersion="1.0"/>
¢!— C.1.8 2: First Sender of This Case —>
{/assignedEntity>
{/author>
{/controlActEvent>
{/subject0f2>
" ¢/relatedInvestigation’
{/ecutboundRelationship>
{outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
(code nuliFlavor="NA"/>



{subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN")
{id extension="C.1.10.r" root="2. 16,840, 1.113883.3.989.2, 1.3.2°/>
<l-- C.1,10,r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary)

#1 —>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
{/outboundRelationship>
<outhoundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nuilFiavor="Ha"/>
{subject0f2 typeCode="SUB]">
{controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1,10.r" root="2. 16.840.1,113883 3.989.2.1.3.2"/>
¢l-- €.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary)
#2 —>
S {/controlActEvent) o
{/subject0f2>

{/relatedInvestigation>
</outboundRelaticnship>
<outboundRelationship typeCode="SPRT">

{priorityNumber value="17/>

(I--C,2.r.5: Primary Source for Regulatory Purposes #1 -—>

(relatedInvestigation classCode="INVSTG” moodCode="EVN">

{code code="2" codeSystem="2. 16. 840. 1. 113883, 3. 98%. 2. 1. 1. 22" codeSystemYersion="1. 0"
displayName="sourceReport”/>
{subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT" moodCode="EVN">
Cauthor typeCode="AUT™>
<assignedEntity classCode="ASSIGNED”>
{addr>

{streetAddressLine>C. 2. 1. 2, 3</streetAddressline>
<]-- €. 2.1.2.3: Reporter's Street #1 —>
<eity>C. 2. r. 2. 4</city>
(1=~ C.2.1.2.4: Reporter’ s City 1 —>
{state>C, 2.1, 2. 5{/state>
¢l-- C.2.r.2.5: Reporter’'s State or Province #1 -
<postalCode>C. 2. r. 2. 6<{/postalCode>
<l-- C.2.r, 2.6: Reporter’ s Postcode H1 ——>

{/addr>

{telecom value="tel:C.2.¥.2.7"/>

{i— C.2.r.2.7: Reperter' s Telephone #1 —

<assignedPerson classCode="PSN” determinerCode="INSTANCE">
<name>

{prefix>C 2.x. 1. 1{/prefix>
<I-- C.2.r.1.1: Reporter’s Title 1 —>
<given>C. 2.1. 1. 2</given>
<l-— €.2.r.1.2: Reporter’ s Given Name $1 —>
Cgiven»C. 2.r. 1. 3¢/given>
<l—C.2.1r.1. 3: Reporter’ s Middle Name #1 —>
{family>C, 2, x, 1, 4¢/Family>
¢l-= ¢ 2.r.1.4: Reporter' s Family Name #1 —>

<{/name>

<asQualifiedEntity classCode="QUAL">
<code code="C.2.r. 4" codeSystem="2. 16. 840. 1. 113883.3,989. 2.1, 1. 6" codeSystemVersion="1.0"/>
<l-~C. 2 1.4 Qualification #l —>

</asQualifiedEntity>

{asLocatedEntity classCede="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE">

{code code="C.2.1.3" codeSystem="1.0.3166.1.2.2/
<1-— €. 2.r,3: Reporter’ s Country Code #i —>

{/location>

</asLocatedEntity>

{/assignedPerson>
{represented0rganization classCode="0RG” determinerCode="INSTANCE™>

<name>C. 2. r. 2. 2¢/name>

<} C.2.1.2.2: Reporter' s Department #1 ——>

{assignedEntity classCode="ASSIGNED">



{representedOrganization classCode="0RG" determinerCode=" INSTANCE™>
{name>C. 2. 1. 2. 1{/hame>
¢!—— €. 2.1.2 1! Reporter’ s Organisation #1 —>
{/representedlrganization>
{/assignedEntity>
{/represented0rganization>
{/assignedBntity>
{/author>
{/controlActEvent>
{/subjectOf2>
{/relatedlnvestigation>
</outboundRelationship>
{putboundRelationship typeCode="SPRT">
{relatedInvestigaticn classCode="INVSTG” moodCode="EVN">
{code code="2" codeSystenm="2. 16, 840, 1. 113883, 3. 989, 2, 1. 1, 22" codeSystemYersion="1. 0"
displayName="sourceReport”/>
<subject0fZ typeCode="SUB]">
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
{addr>
{streetAddressLine>C. 2. r. 2. 3{/streetAddressLine>
{l=— C.2.1.2.3: Reporter’ s Street §2 —>
<eity>C. 2. r. 2. 4/ city>
<l— C.2.r.2.4: Reporter’s City #2 —>
{state>C. 2. r. 2. 5¢(/stata>
<|— C.2.1r.2.5: Reporter’ s State or Province #2 ——
{postalCoda>C, 2.r. 2. 6</postalCode>
¢l== C.2.r. 2.6 Reporter’ s Postcode #2 —>
{/addr>
<telecom value="tel:C.2.r.2.7"/>
(1=~ C.2.1.2.7: Reporter’s Telephone #2 —>
{assignedPerson classCode="PSN” determinerCode="INSTANCE™>
<{name>
{prefix>C. 2.r. 1. 1</prefix>
¢l=- C.2.r.1.1: Reporter’s Title #2 —>
{given>C, 2, r, 1, 2{/given>
{!-— C.2.r. 1.2 Reporter’ s Given Name #2 —>
{given>C. 2. r. 1. 3{/given>
<i1-— C.2.1.1.3: Reporter’ s Middle Name #2 —>
{FamilydC. 2. v, 1 44/ fanily>
I~ € 2,r.1.4: Reporter’ s Family Name #2 —>
¢/name>
<agQualifiedEntity classCode="QUAL">
- {code code="C, 2. 1. 4" codeSystem="2. 15, 840. 1. 113883, 3. 989. 2. 1. 1. 6" codeSystemVersion="1.0"/>
<)~ G 2. r.4: Qualification #2 —>
<{/asQualifiedEntity>
<asLocatedEntity classCode="LOCE™>
{lecation classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.2.1.3" codeSystem="1,0.3166.1.2.2"/>
<l— C.2.r.3: Reporter’ s Country Code #2 ——)
{/location>
</asLocatedfntity>
{/assighedPerson’>
{represented0rganization classCode="0RG”" determinerCode="INSTANCE">
<name>C. 2. r. 2. 2{/nane>
<I--C.2.r.2.2: Reporter’ s Department #2 —>
{assignedBntity classCode="ASSIGNED">
{representedOrganization classCode="0RG" determinerCode="INSTANCE">
<name>C. 2. r. 2. 1{/name>
I~ C.2.r.2.1: Reporter' s Organisation #2 —>
{/representedfrganization>
</assignedEntity>
{/representeddrganization>
{/assignedEntity>
¢/author>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>



{/outboundRelationshipy
<{subject0f1 typeCode="SUBJ">
<controlActEvent ¢lassCode="CACT” moodCode="EVN">
{author typeCode="AUT">
¢assignedintity classCode="ASSIGNED">
<code code="C.3.1" codeSystemn="2. 16. 840, 1. 113883. 3. 98%. 2. 1. 1. 77 codeSystemVersion="1.07/>
{I-- C.3.1: Sender Type —
{addr>
{streetAddressLine>C. 3. 4. 1{/streetAddressLine>
{{-- €.3.4. 1! Sender's Street Address —>
{city>C. 3. 4. 2{/city>
== €.3.4.2: Sender’'s City -
{staterC. 3. 4. 3{/state>
{}— (.8.4.3: Sender’ s State or Province ~—>
{postalCode>C, 3. 4, 4</postalCode>
(I— (, 3.4, 4: Sender’ s Postcode —>
{/addr> o
{telecom value="tel:C.3.4.6"/>
¢!—— €.3.4,6: Sender’ s Telephone ——>
{telecom value="fax:C.3.4.7"/>
{!=-C.3.4.7: Sender’ s Fax —>
{telecom value="mailto:C.3.4.87/>
¢]=— C.3.4.8: Sender’'s E-mail Address —>
{assignedPerson classCode="PSN” determinerCode="TNSTANCE">
<{name>
{prefix>C. 3. 3. 2{/prefix>
41— (.3.3.2: Sender's Title —
(given>C. 3. 3. 3¢/given>
<!-- €.2.3.3: Sender’s Given Name ——>
<{given>C, 3. 3. 4{/given>
{I— (. 3.3. 4! Sender’s Middle Name ——>
{family>C. 3. 3. 5{/fanily>
<l-- €. 3.3.5: Sender’s Family Name —>
{/name>
{asLocatedfntity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE">
<{code code="C, 3, 4,5" codeSystem=”1.0.3166.1.2.2”/>
¢l—— C.3.4.5: Sender' s Country Code —>
location?
{faslocatedEntity>
{/assignedPerson> .
<representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>C. 3. 2. 1</name>
¢l--C.3.3.1: Sender’ s Department ——>
¢assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG” determinerCode="INSTANCE™>
<name>C, 3, 2</name>
== C.3.2: Sender’s Organisation ——>
{/representadOrganization®
{/assignedEntity>
{/representedCrganization>
{/assignedBntity>
</author>
{primaryInformationRecipient typeCode="PRCP™>
{assignedEntity classCode="ASSIGNED">
<assignedPerson classCode="PSN” determinerCode="INSTANCE">
<name>
<prefix>J2. 18. 2<{/prefix>
<1-- 8B@J2.18.2: HEfEH RFEEZ —
{family>J2. 18. 3</family>
<l-- 68852, 18.3: S{EH M -
(given>J2. 18, 4</given>
<I— @@eJ2. 18.4: ZiEH &
</name>
{/assignedPersony
{representedOrganization classCode="0RG” determinerCode="INSTANCE">
<{name>J2. 18. 1</name>
<|-— @eeJz.18.1: {FH ML —
{/representedOrganization>




{/assignedEntity>
</primaryInformationRecipient>
{/cantrolActEvent>
<{/subject0f1>
{sub jectOfl typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
(id assigningAuthorityName="C.1.9.1.r.1" extension="C.1.9.1 r. 2" root="2, 16.840. 1. 113883. 5. 989. 2. 1. 3. 3" />
d— €. 1.9.1,r. 1! Source{s) of the Case Identifier (repeat as necessary} #I —>
{I-- €. 1.9.1.1. 2 Case Identifier(s) #1 -->
{/controlActEvent>
<{/subject0fl> -
<subject0f] typeCode="SUB]">»
CcontrolActBvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C. 1.9. 1. 1. 2" root="2.16. 840, 1. 113883.3.989.2.1.3.3"/>
<I-- €. 1.9.1.r. 1: Scurce(s) of the Case Identifier (repeat as necessary) #2 -3
<I— €. 1.9.1.r.2 Case Identifier(s) #2 —>
{/controlictEvent>
{/subjectOf1>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCede="0BS” mocdCode="EVYN™>
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1, 1, 23" codeSystemVersien="1. 0"
displayName="ichRepoxtType” />
¢value xsittype="CE” code="C.1.3" codeSysten="2, 16.840. 1. 113883.3.989. 2. 1. 1. 2" codeSystemVersion="1. 0"/>
<l-- €.1.3 Type of Report —>
{/investigaticnCharacteristic>
</subject(f2>
<subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” mcodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3.989. 2, 1. 1. 23" codeSystemVersion="1.0"
displayName="otherCaselds” />
<{value xsi:type="BL” value="true”/>
{}— €.1.9.1 Other Case Identifiers in Previous Transmlsslons -
{/investigationCharacteristic>
</subject0f2>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" mocdCode="EVYN">
{code code="3" codeSystem="2. 16, 840, 1. 113883, 3. 989, 2. 1. 1. 23" codeSystemVersion="1.0"
d1splayName “nullificationAmendmentCode”/>
: <value xsi:type="CE” code="C.1, 11,17 codeSystem="2, 16. 84¢, 1. 113883. 3. 989. 2. 1. 1. 5” codeSystemVersion="1.0"/>
<l-= C.1.11. 1: Report Nullification / Amendment -->
{/investigationCharacteristic>
</subject0f2>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="4" codeSystem="2. 16, 840. 1. 113883. 3, 989. 2. 1. 1. 23" codeSystemVersion="1. 0"
displayName="nullificationAmendmentReason™/>
<value xsi:type="CE">
<originalText>C, 1. 11. 2¢{/originalText>
<{I— C.1.11.2: Reason for Nullification / Amendment ——>
{/valued
{/investigationCharacteristic>
<{/subjectOf2>
<subject0f2 typeCode="SUBT">
<investigationCharacteristic nlassCode— 0BS” moodCode="EVN">
{code code="1" codeSystem="2.16.840. 1. 113883. 3. 989.5.1.3.2. 1. 12" codeSystemVersion="1. 0" displayName="E%5I
B WESE L
{value xsi:type="CE” code="]JZ. 1a” codeSystem="2. 16.540. 1. 113883.3.989.5.1.3.2.1. 1"
codeSystemVersion="1. 0" />
I 88872, 1a: RBIES (BESE) ——
{/investigationCharacteristic>
¢/subjectOf2>
<subject0f2 typeCode="SUB]"> .
nvestigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2, 16, 840, 1. 113883. 3,989.5. 1. 3. 2. 1. 12” codeSystemVersicn="1.0" displayName="#%
'HA"/
<value xsi:type="TS" value="20130107"/>
<l-— gears. 2. 10 WMERER —
</investigationCharacteristic>
{/subject0f2>



¢subject0f2 typeCode="SUB]">
{investigationCharacteristic c¢lassCode="0BS” moodCode="EYN">
(code code="3" codeSystem="2. 16. 840, 1. 113883. 3. 989.5.1.3. 2. 1. 12" codeSystemVersion="1.0” displayName="#R%&
BREAZETZaA D
{value xsiitype="ED">JZ. 2.2{/value>
Ad-- 888)2.2. 20 REERBIZETL=ALF
{/investigationCharacteristic>
</subjectOf2>
{subject0f2 typeCede="SUB]™>
¢investigationCharacteristic classCode="0BS” mocdCode="EVN™>
{code code="4" codeSystem="2. 16, 840, 1, 113883, 3,989, 5, 1,3, 2. 1. 12" ccdeSystemVersion="1.0" displayName="R[IF
T
<value xsi:type="CE” code="J2.3" codeSystem="2.16.840C. 1. 113883, 3. 989, 5. 1. 3. 2. 1. 2" codeSystemVersion="1.0"/>
<— @8eJz. 3: EMNHET 7S >
{/investigationCharacteristic>
{/subject0f2>
__ {subject0f2 typeCode="SUBJ"™> e S
{investigationCharacteristic classCode="0BS" moodCode="EVN">
(code code="5" codeSystem="2.16. 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 12” codeSystemVersion="1. 07 displayNeme="$%
w@sLT T
(yalue xsi:type="CE” code="J2.8.1" codeSystem="2, 16, 840, 1, 113883.3.689.5.1.3.2.1.6"
codeSystemVersion="1,0"/>
(- @8@J2.8. 11 WENRNZF S >
{/investigationCharacteristic?
{/subject0f2>
<subject0fZ typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN™>
<code code="6" codeSystem="2. 16 840. 1. 113883. 3. 089.5. 1. 3. 2. 1. 12" codeSystemVersion="1.0" displayName="3%
A S OB
{value xsi:type="ED">]2. 8. 2¢/value>
<i— @gerz. 8. 2 WEMNSAOEH
{/investigationCharacteristic>
</subject0f2>
(/investigationEvent>
{/subject?
{/controlictProcess>
</PORR_IN049016UV>
{l— Message #1 —>
{!— Message §2 —>
<i-- PORR_INO49016TV —>
{1-- /PORR_IND4GOLE0V —>
{!—- Message #2 -—>
{receiver typeCode="RCV™>
(device classCode="DEV" determinerCode="INSTANCE">
<id extension="N.1.4" root="%. 16, 840, 1. 113883, 3.689. 2.1. 3. 14" />
<l— N. 1. 4: Batch Receiver Identifier ——>
{/device
{/receiver>
{sender typeCode="SND">
{device classCode="DEY” determinerCode="INSTANCE">
<id extension="N.1.3” root="2.16.840.1.113883.3.989.2. 1.3, 13"/
== N. 1.3 Batch Sender Identifier —>
{/device>
{/sender>
{/MCCI_IN200100UV01>

P
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FrEfE Bk 5 B8 _
XPath MCCI_IN200100UV01[@ITSVersion=XML_1.0'|[@xsi‘schemalocation="urn’hl7-

' orgv3 -
MCCI_IN2001000UV01.xsd'/PORR_IN049016UV[x)/controlActProcess@classCod
e='CACT'H@mood Code='EVN'l/subject[@typeCode="SUBJ'[[1)/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'VsubjectOf2l@typeCode='"SUBJ'|[inve
stigationCharacteristic/code]@code="1'l[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.1211[1)/investigationCharacteristicl@class Code="OBS'l [@mood Code="EVN'
]lvalue[@xsiitype=‘CE'] [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1'/@code

XPath /MCCI_IN2001000UV01[@ITSVersion=XMIL,_1.0"1[@xsi:schemaLocation="urn:hl17-
{codeSystem | org:v3
Version) MCCI_IN200100UV01.xsd'I/PORR_IN049016UVI[r}l/controlActProcess[@classCod

e='CACT{@moodCode="EVN'l/subject{@typeCode="SUBJ'] [ﬂ/investigationEveht
[@classCode=TNVSTG'][@moodCode='"EVN'l/subjectOf2[@typeCode="SUBJ [[inve
stigationCharacteristic/code[@code="1'][@codeSystem="'2.16.840.1.113883.3.989.5.
- 1.3.2.1.121[1]/investigationCharacteristicl@class Code="OBS'| [@mood Code="EVN'
|valuel@xsi:type="CEl[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1')/@code

System Version
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HBHIZhSTE RS, NEBAEM T O L L L, BRI L SMES

_ DR EE L > TEMNET &2 5,

7= 8N

FrAE VAW

XPath /MCCI_IN200100UV01{@ITSVersion='XML,_1.0']l@xsi:schemal.ocation="urn-hl7-
org'v3

MCCI_IN200100UV01.xsd'I/PORR_IN049016UVlr]/controlActProcess[@classCod
e='CACT'][@moodCode='"EVN'I/subject[@typeCode="SUBJ'][1}/investigationEvent
[@classCode=TNVSTG'][@moodCode="EVN'id[@root='2.16.840.1.113883.3.989.5.
1.3.2.3. '[[1)/@extension '




J2.2.1 #WEERKEH

FEEHBE | UEEECoONT, BEORB LR D AR, BE. RAE 228 50 208 1EE
L IS EE 2 5o T 273 £ 1 BICED DFHE Mo H L2 D,

mEFIE BIER CCYYMMDD % Tal#it2 Z &,

F—4&8 | CCYYMMDDhhmmss.UUUU[+| -ZZzz)

FHE B

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'][@xsi:schemalocation="urn'hl7-
org:'vd
MCCI_IN200100UV01.xsd l/PORR_IN049016UVIr}/controlActProcess[@classCod
e='CACT][@moodCode="EVN/subject[@typeCode="SUBJ'|[1]/investigationEvent
[@classCode=TNVSTG l[@moodCode="EVN')/subjectOf2[@typeCode="SUBJ'l[inve
stigationCharacteristic/codel@code="2'l{@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.121[1)investigationCharacteristicl@classCode='OBS'l{@moodCode="EVN'
Iivaluel@xsitype="TS'l/@value

J2.2.2 WEEBERZEITSaALE

5 B [J2.2 1 MEBER] oW T, TR THEASE, SRASLERSEICRET O,
S E-HcRV T, [CLAFRED S RICEBERAFENEA] & TJ221H%E5E
HA| BERRLGE |
BRI 228 S0 20 E 1 ES LIS SHEP 2 5 WEH 213 FH 1 HICED L]
HHIRR 2 L TV oz b, BRI SR A R AMER RIS E B EEL TV S
Y
£ 30 (W% 15) HUROBERKTHDHLEX LIS, BLRERET O
CEMERIC L Y 15 (U3 7) BUROHEORETHS Z LAVHALZEE

ETIE L

7 s 10000AN

Ei=a ) B RieH

XPath /MCCI_IN200100UV01l@ITSVersion="XML_1.0'] [@xsi‘schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR._IN049016UVIrl/controlActProcess[@classCod
e='CACT[@moodCode="EVN'/subjectl@typeCode="SUBJ'|[1]/investigationEvent
[@classCode="TNVSTG[@mood Code='EVN'/subjectOf2l@type Code="SUBJ'l[inve
stigationCharacteristic/code{@code='3"] [@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.121][1)investigationCharacteristicl@classCode="OBS'H@mood Code="EVN'
Jvaluel@xsitype="ED'l/text()
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TS A IN

FFE | 1=RNRERE

XPath MCCI_IN200100UVO01l@ITSVersion="XML_1.0'][@xsi'schemalocation="urn'hl7-
org:v3
MCCI_IN200100UV01.xsd'l/PORR._ IN049016UV[r]/controlActProcess[@class Cod

e="CACT[@moodCode="EVN"Vsubjectl@typeCode="SUBJ'}{ 1]/investigationEvent

[@classCode="INVSTG T @moodCode="EVN1/subjectOf2[@type Code='SUBJ I [inve
stigationCharacteristic/codel@code="4"l@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.121[1)AinvestigationCharacteristic[@classCode="OBS'l [@moodCode="EVN'
Ivaluel@xsi:type='CEll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.2')/@code

XPath /MCCI_IN200100UV0{@ITS Version=XML_1.0'][@xsi'schemal.ocation="urn:hl7-

{codeSystem | org:v3 -

Version) MCCI_IN200100UV01.xsd'l/PORR_IN0490 IGIN[r]/controlActProcess[@classCod

e='CACT{@moodCode='EVN'l/subject[@type Code="SUBJ'l[1)/investigationEvent
[@classCode=TNVSTG']{@mood Code='"EVN'/subjectOf2[@type Code='SUBJ'][inve
stigationCharacteristic/code[@code='4'[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.121[1)/AinvestigationCharacteristic [@classCode="0OBS[@mood Code="EVN'
Ivaluel@xsitype="CE'][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.2'//@

codeSystem Version
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0"|@xsi:schemalocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xsd'}/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT"[@moodCode="EVN'l/subject[@typeCode="SUBJ'J[ 1})/investigationEvent
[@classCode="TNVSTG'l[@mood Code="EVN'l/component|@typeCode='"COMP'}[adv
erseEventAssessment][1)/adverseEventAssessmentl@classCode='INVSTG'l{@mo
odCode="EVN'/subjectl[@typeCode="SBJ1[1}/primaryRolel@classCode=INVSBJ'
I/subjectOf2l@typeCode="SBd'l [organizer/code[@code='4"l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.201[1)/organizer[@classCode='CATEGORY'[@mood Code="E
VN'l/component@typeCode='"COMP'][substanceAdministration/id}{kl/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN'}/consumable[@typeCode
='0SM[1)instanceOfKind{@classCode='INST'/kindOfProductl@class Code="MM
AT [@determinerCode="KIND'|/asManufactured Product[@classCode="MANU'l/su
bjectOfl@typeCode="SBdJ'l [characteristicl[1)/characteristiclcode[@code="1'l[@code
System="2.16.840.1.113883.3.989.5.1.3.2.1.1011[1][@class Code='OBS][@mood Cod
e="EVN'l/valuel@xsitype="CE'l{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3')/@code

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l{@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'VPORR_IN049016UV[rl/controlActProcess|@classCod
e='CACT[@mood Code=EVN'l/subjectl@typeCode="SUBJ'[1)/investigationEvent
[@classCode="INVSTG'l[@moodCode=EVN'l/component[@typeCode="COMP'l[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode='INVSTG T{@mo
odCode="EVN'l/subject1[@typeCode="SBJ1[1}/primaryRolel@classCode=TNVSBJ'
IisubjectOf2l@type Code="SBd'l [organizer/codel@code='4'|l@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'][1)/organizer[@classCode='CATEGORY l{@mood Code='E
VN'/componentl@type Code="COMP']{substanceAdministration/id][kl/substance A
dministration[@classCode='SBADM'l[@mood Code="EVN'l/consumable{@type Code
='CSM'][1)/instanceOfKind[@classCode='TNST')/kindOfProduct{@classCode=MM
AT'][@determinerCode="KIND')/asManufactured Product{@classCode="MANU"/su
biectOfl@typeCode="SBJl[characteristicl[1]/characteristiclcode[@code='1'l{@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10']1[1][@classCode='OBS'H@mood Cod
e='EVN'l/valuel@xsitype='CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3'l/@codeSystem Version
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XPath

MCCI_IN200100UV0 1{@ITSVersion='XML_ll.0'] [@xsizchemalocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xed'/PORR_IN049016UVIrl/controlActProcess[@classCod
e="CACT'] [@moodCode=‘EVN‘]/subject[@tYpe Code='SUBJ'I[1)/investigationEvent
|@classCode="INVSTG [@mood Code=EVN'l/component[@typeCode="COMP'l[adv
erseEventAssessment][1}/adverseEventAssessment[@classCode=TNVSTG {@mo
0dCode="EVN"V/subject1@typeCode='SBJ'1[1}/primaryRolel@classCode="INVSBJ’
I/subjectOf2[@typeCode="SBJ'l[organizer/code[@code="4"][@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20']|[1//organizer[@classCode='CATEGORY 'l [@mood Code="E
VN'/eomponentl@typeCode="COMP'][substanceAdministration/idl[kl/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN"V/consumable[@typeCode
='C8M'1[1)/instanceOfKind[@classCode="TNST'}/kindOfProductl@class Code="MM
AT [@determinerCode=KIND')/asManufacturedProduct[@classCode="MANU'l/su
bjectOfl@typeCode="SBJ |[approvall[1)/approvall@classCode="CNTRCT'l[@mood
Code="EVN'l/pertinentInformation[@typeCode=PERT'][1]/policy[@classCode="PO
LICY' [@moodCode="EVN'l/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
4'l/@code

XPath
(CodeSystem

Version)

/MCCT_TN200100UV01[@ITSVersion="XML,_1.01[@xsi'schemalocation="urn‘hl7-
org va |
MCCI_IN200100UV01.xsd'V/PORR_IN049016UV[r}/controlActProcessl@classCod
e="CACT'] [@mOodCode:’EVN']/ subject(@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'[@mood Code="EVN'l/component[@typeCode='COMP'] [adv
erseEventAssessmentl[1)/adverseEventAssessmentf@classCode="INVSTG' {@mo
odCode="EVN/subject 1[@typeCode='"SBJ"1[1]/primaryRolel@classCode=TNVSBJ'
l/subjectOf2l@typeCode='SBJ [organizer/code[@code="4'l[@codeSystem="'2.16.840.
1.113883.3.989.2.1.1.20'11[ 1}/organizer[@classCode='"CATEGORY'][@mood Code='E
VN'/component[@typeCode='COMP'] [substanceAdministration/idl[k)/substanceA
dministration[@classCode='SBADM{@moodCode='EVN'l/consumablel@typeCode
=CSM'][1/instanceOfKind[@classCode="INST'}/kindOfProduct[@classCode="MM




AT'}[@determiner Code="KIND')/asManufacturedProduct[@classCode="MANU}/su
bjectOfl@typeCode='SBd llapprovall[1}/approval[@classCode="CNTRCT'l[@mood
Code="EVN'/pertinentInformation[@type Code="PERT'|[1}/policyl@classCode="PO
LICY@mood Code=EVN'l/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
4'}/@codeSystemVersion
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'] [@xsi:schemal.ocation="urn:hl7-

(value) orgv3 ‘

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACTH{@moodCede="EVN'l/subject/@typeCode="SUBJ'|[1)/investigationEvent
[@classCode='INVSTG ' {@mood Code="EVN'l/component[@typeCode='"COMP'] [adv
erseEventAssessment][1]l/adverseEventAssessmentl@classCode="INVSTG'][@mo
0odCode="EVN'l/subject1{@typeCode='SBJ'l[1]/primaryRole[@classCode="INVSBJ'
lsubjectOf2[@typeCode='SBd"}[organizer/codel@code='4'][@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'1}[1]/organizer{@classCode="CATEGORY [@mood Code="E
VN'l/componentl@type Code="COMP'{[substanceAdministration/id][k]/substanceA
dministration[@classCode="SBADM'|[@mood Code="EVN'l/consumable[@typeCode
='CSM'1[1)/instance OfKind[@classCode="INST'I/subjectOf[@typeCode="SBJ'/obse
rvationEventlcodel@code="21[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10"
lll1]l{@classCode='0BST@moodCode='"EVN'l/valuel@xsi‘type='CE'l[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'l/@code

jon




XPath
{null

flavor)

/MCCI_IN200100UV01[@ITS Version=XMIL_1.01[@xsi:schemalocation="urn:hl7-
orgvy
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIxl/controlActProcessl@classCod
e='CACT'H@mood Code="EVN"}/subject[@typeCode='"SUBJ'|[1)/investigationEvent
[@classCode='INVSTG ] [@mood Code="EVN'l/component[@typeCode="COMP'l{adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'|[@mo
0dCode="EVN"/subject 1 [@typeCode='SBJ'][1)/primaryRolef@classCode=TNVSBJ"' -
l/subjectOf2[@typeCode='SBJ' [organizer/code[@code="4'{[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'1{ t)/organizer[@classCode="CATEGORY'l [@mood Code="E
VN'l/componentl@typeCode='COMP'l[substanceAdministration/id][1}/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN'l/consumablel@typeCode
='CSM'[1)/instanceOfKind[@classCode="TNSTV/subjectOfl@typeCode='"SBJ'l/obse
rvationEvent[code[@code='2"[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
N1 [@classCode="OBS'1[@mood Code="EVN'l/valuel@xsitype="CET[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'/@nullFlavor '

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITS Version=XMI._1.0'[@xsi‘schemal.ocation="urn’hl7-
orgv3 '

MCCI_IN200100UV01.xsdl/PORR _TN049016UVlxl/controlActProcess[@classCod
e='"CACT[@moodCode="EVN'l/subjectl@typeCode="SUBJ"|[1)/investigationEvent
[@classCode=TNVSTG'[@mood Code="EVN"l/component[@typeCode='COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG][@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'][1]/primaryRolel@classCode=TNVSBJ'
l/subjectOf2[@typeCode="SBJ'l[organizer/code[@code="41@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'11[1)/organizerl@classCode='"CATEGORY 'l [@mood Code='E
VN'l/componentl@typeCode='"COMP'][substanceAdministration/id]l[k]l/substanceA
dministration[@classCode="SBADM'][@moodCode='"EVN'l/consumablel@type Code
='CSM'[1VinstanceOfKind[@classCode="INSTV/subjectOfl@type Code="SBJ'l/ohse
rvationEvent[code[@code=2[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10
1l {@classCode="0BS'l[@moodCode="EVNI/value[@xsi:type="CEJ@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'l/@codeSystem Version
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XPath

/MCCI_IN200100UV01{@ITSVersion="XML_1.01[@xsi'schemalocation="urn:hl7-
orgva
MCCL_IN200100UV01.xsd'l/PORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT'[@moodCode="EVN'/subject[@typeCode="SUBJ'|[ 1)/investigationEvent
[@classCode=INVSTG' I [@moodCode="EVN'l/statusCode/@code

J2.7.2 #5
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XPath

MCCI_IN200100UV01 [@ITSVersibn:’XMLﬁl .0'll@xsi:schemalocation="urn:hi7-
org.va3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[r}l/controlActProcessi@classCod

| e='CACT'] [@mood Code="EVN'l/subject@typeCode="SUBJ'][1)/investigationEvent

[@classCode="TINVSTG1[@mood Code=EVN'/component|@typeCode="COMP'l{adv
erseEventAssessmentl[1)/adverseEventAssessment(@classCode=INVSTG1[@mo
0dCode="EVN'V/component1[@typeCode='COMP'][observationEventlcode[@code='
3][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'[Il[1)/observationEvent[@c
lassCode="OBS'l[@moodCode="EVN'l/valuc[@xsitype="ED'l/text(
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XPath

/MCCI_IN200100UV01[@ITS Version=XML_1.0"l[@xsi'schemal.ocation="urn:hl7-
orgv3 - '
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'Vsubjectl@type Code="SUBJ}[1}/investigationEvent
[@classCode="TNVSTG H@moodCode='"EVN'l/subjectOf2[@type Code="SUBJ'] [inve
stigationCharacteristic/eode[@code='5'] [@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.121[1)/investigationCharacteristicl@classCode="0OBS'| [@mood Code="EVN'
Jivalue[@xsiitype='CE'][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6'/@code

XPath
(codeSystem

Version)

/MCCI_IN200100UV01l@ITSVersion="XMI._1.0'l[@xsi'schemaLocation="urn‘hl7-
orgv3

MCCI IN200100UV01.xsd'l/PORR_IN049016UVIr)/controlActProcessl@classCod
e='CACT][@moodCode="EVN'l/subject[@typeCode="SUBJ'l[1]/investigationEvent




[@classCode="INVSTG' [@mood Code="EVN'lI/subject Of2[@typeCode='"SUBJ llinve
stigationCharacteristic/code[@code="5'][@codeSystem="'2.16.840.1.113883.3.989.5.
1.3.2.1 127][1)/investigationCharacteristic{@classCode='"0OBS'}[@mood Code="EVN'
Ivaluel@xsittype="CE[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1,6'1/@

codeSystem Version
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi‘schemaLlocation="urn:hl7-
org.v3 : _
MCCI_IN200100UV01.xsd I/PORR_IN049016UV(r]/controlActProcessl@classCod
e="CACT'l[@moodCode="EVN'l/subject{@type Code="SUBJ "[1)/investigationEvent
[@classCode="INVSTG [@mood Code='"EVN'/subject Of2[@typeCode='"SUBJ I[inve
stigationCharacteristic/codel@code="6'] [@codesystemi'z. 16.840.1.113883.3.989.5.
1.3.2.1.121[1)/investigationCharacteristic[@classCode="OBS'H@mood Code="EVN'
Iivaluel@xsi:type="ED/text()
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'1[@xsi:schemalLocation="urn:hl7-
org'v3 ' _
MCCI_IN200100UV01.xsd' l/PORR_IN049016UV[rl/controlActProcess [@classCod
e='CACT][@moodCode=EVN'l/subject@type Code='"SUBJ [{1)/investigationEvent
[@classCode="INVSTG H@mood Code="EVN'/component{@typeCode="COMP'}[adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode="INVSTG'l[@mo
0dCode="EVN'/component1l@typeCode="COMP'l{observationEventlcode[@code="
4'l@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.101]]{1)/observationEvent[@c
lassCode="OBSH@mood Code='EVN'l/valuel@xsi:type="ED'J/text()
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XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0' [@xsi'schemaLocation="urn'hl7-
orgv3

MCCI_IN200100UV01.xsd'V/PORR_IN049016UV(rl/controlActProcessl@classCod
e='CACT'H@moodCode="EVN'}/subject [@typeCode='SUBJ N[1)/investigationEvent
[@classCode=TNVSTG[@mood Code="EVN'//component[@typeCode="COMPadv
erseEventAssessment][1]/adverseEventAssessment@classCode=TNVSTG'] [@mo
0dCode="EVN'l/component1[@typeCode='"COMP'][observationEventlcode[@code="
5" [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'][1]/observationEventl@c
lassCode="0OBS'][@mood Code="EVN'lI/valuel@xsi:type="ED']/text(

J2.11 0B EREE

HA A FOMBE L RDLEHLTET D,
R T IE 72l
— & 10000AN
A B HHEE
XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'||@xsi:schemaLocation="urn‘hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIx}/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'/subject@typeCode="SUBJ'1[1)/investigationEvent
[@classCode="INVSTGN[@mood Code="EVN'Vcomponentl@typeCode="COMP'][adv
erseFEventAssessment]{1]/adverseEventAssessment{@classCode=TNVSTG'l[@mo
0dCode="EVN"l/component1[@typeCode='"COMP'][observationEventlcode[@code="
6'}[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']]]{1]/observationEvent[@c
lassCode="OBS"[@mood Code="EVN'l/valuel@xsi:type="ED'}/text(

J2.12 REEaR s

H B A BB R EICIHE L TV ARBRE SR E R,

VL ke %%ﬁﬁ@@'%%z%mL’Cu\f@b\%{a\um 1&5ﬁ¥ﬁﬁ§+ IR L TWAERE2—F
ZIETDHI L,

T Al 70AN

A A HECEL




XPath

/MCCI_IN200100UV01[@ITS Version="XMI._1.0'l[@xsi'schemaLocation="urnhl7-
org:v3d _
MCCI_IN200100UV01.xsd'l/PORR_IN049016U Virl/controlActProcess[@classCod
e='CACT[@moodCode=TEVN'l/subjectl@type Code="SUBJI[1]/investigationEvent
[@classCode='INVSTG {@moodCode="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode="INVSTG'] [@mo
odCode="EVN')/subject1l@typeCode='SBJ1[1]/primaryRole[@classCode="INVSRBJ'
I/subjectOf2l@typeCode="SBd ' [organizer/codel@code='4"][@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'11[ }/organizerl@class Code="CATEGORY'{[{@mood Code='E
VN'l/component|@typeCode="COMP'] [substanceAdministration/idl/substanceAd
ministration[@classCode='SBADM'l[@moodCode="EVN'| [consumable/instanceOf
Kind/kindOfProduct/asSpecialized Kind/generalizedMaterialKind/code/originalTe
xt][1}/consumable[@type Code="CSM']{1)/instance OfKind[@classCode=TNST'l/kin
dOfProductli@classCode="MMAT'][@determinerCode="KIND'|/asSpecialized Kind [
@classCode='"GEN"l{1)/generalizedMaterialKind[@classCode="MAT'|[@determiner
Code="KIND'l/code/originalText/text(}

J2.13.r1 /&

HEE

HEMH

RERZ L, IRBRFTEREO RO E R8T D,

FLEIE

REREtAERELZRE L TV 2RWESITIE, EME 752,

5y

2N

B

PRI

XPath

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi:schemaLocation="urn:hl7-
orgv3

MCCI_IN200100UV0 1.xsd']/PORR_INO490IGW[r]/controlActProqess [@classCod
e='CACT"][@moodCode="EVN'l/subject[@typeCode='"SUBJ'l[1}/investigationEvent
[@classCode="INVSTG[@mood Code="EVN'l/component[@typeCode="COMP'}[adv
erseEventAssessment][1]/adverse EventAssessment|@classCode='TNVSTG'][@mo
0dCode="EVNVsubject1[@typeCode="SBd'|[1)/primaryRole[@classCode="TNVSB.J'
I/subjectOf2l@typeCode="SBd' [organizer/code[@code='1'][@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11']][r}/organizer[@classCode='CATEGORY'] [@mood Code
="EVN'l/compenent[@typeCode='"COMPl/observation[@classCode='"0OBS'l[@mood
Code='"EVN'[codel@code="7"] [@codeSyétem:'Z. 16.840.1.113883.3.989.5.1.3.2. 1. 100
livaluel@xsitype="INT'l/@value

J2.13x2 X

e 3355

TE H S

BB T L, BBEHEBEICTEBEIN TV AMBEELTH T,

RLELG 5

AR EAZRE LTV AEe TR, Tl ERT 21 LR TE D, 2B, B
FHEEE AR L OV 2WERICE, IBBRERHEFCRERL T NRRE LT
TLIE, H—OEREREFTBE TOEKORBEASR LT LG, b v TRE)

il




S TRET DL,

F— 5 F 1000AN

A E B HRnsE;

XPath /MCCI_IN200100UV01{@ITSVersion="XML_1.0[@xsi:schemalocation="urn’hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV(rl/controlActProcess(@classCod
e='CACT]I@moodCode="EVN"/subject{@typeCode="SUBJ'][1]/investigationEvent
[@classCode="TNVSTC'l[@moodCode="EVN'l/component[@typeCode="COMP1[adv
erseEventAssessment][1]/adverseEventAssessment{@classCode="INVSTG'[@mo
odCode="EVN/subject1[@typeCode="SBJ'l{ 1]/primaryRole[@class Code='INVSBJ'
I/subjectOf2[@typeCode="SBJ" [organizer/codel@code="1"T[@codeSystem="2.16.840.
1,113883.3.989.5.1.3.2.1.11'[rl/organizeri@classCode="CATEGORY 'l [@mood Code
=FVN')/component[@typeCode='COMP'/observation[@classCode="OBS'H [@mood
Code="EVN'[code[@code='8"[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
Ivaluel@xsitype="ED'l/text()

J2.13.r.3 B3

HalBR B T B R S UV BB B R

H A A

RO s VERETEEHELRH LTV AEAICE, BEEER T LN TE D, B, BR
SHEEEAEE L TWARWVE AT, B X VTR — MEZER L TRRT D
N

VAt it 1N

TFEE BIHK 5 ZRE

XPath /MCCI_IN200100UVO01[@ITSVersion=XML_1.0'][@xsi:schemaLocation="urn’hl7-
org-v3

MCCI_IN200100UV01.xsd l/PORR_IN049016UVIr)/controlActProcessi@classCod
e='CACT"] [@mood Code="EVN'/subjecti@typeCode='"SUBJ'][1)/investigationEvent
[@clagsCode="INVSTG[@mood Code="EVN'/component{@typeCode='COMP'|[adv
erseEventAssessment][1)/adverseEventAssessment|@classCode="INVSTG'l{@mo

odCode="EVN'l/subject 1 [@typeCode="SBJ'l[1}/primaryRolel@classCode='INVSBJ'
isubjectOf2l@iypeCode="SBJ'] [organizer/codef@code="1l[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11']] [x]/organizer[@classCode="CATEGORY'][@mood Code
=FEVN'/componentl@typeCode="COMP")/observation[@classCode="OBS'][@mood

Code="EVN'][codel@code='9l[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2. 1. 10'
l/valuel@xsitype="CE'l@codeSystem='2.16.840.1.113883.3.989.5.1.3.2. 1.7'/@cod

e




XPath
(codeSystem

Version)

/'IVICCI_IN?.OO1OOUVO1[@ITSVersion:'XML_1.0'] [@xsi:schemaLocation="urn:hl7-
org-v3 |

MCCL IN200100UV01.xsd'/PORR_IN049016UV[r}/controlActProcessl@classCod
e='CACT'l[@moodCode=EVN'/subject(@type Code="SUBJ'|[1]/investigationEvent

| [@classCode=TNVSTG] [@mood Code="EVN')/component[@typeCode="COMP[adv

erseEventAssessmentl[1]/adverseEventAssessment|@classCode="INVSTG'l[@mo

0dCode="EVN'l/subject1l@typeCode="SBJ'[1}/primaryRole[@classCode=TNVSBdJ'
VsubjectOf2l@type Code="SBJ'l[organizer/codel@code='1'[@codeSystem='2.16.840.
1.113883.3.989.56.1.3.2.1.11'1][x)/organizerl@classCode='CATEGORY '] [@mood Code
="EVN')/component[@typeCode="COMP'}/observationf@classCode="OBS'H@mood

Code="EVN'[code[@code='9'll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1¢'
Nivaluel@xsi:type='CE'll@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.7'V@cod

eSystemVersion

J2.13.r.4 HBIEHOREHOFH K

THHB

WM DR S & REPOWBRE OFELRT,

RLHE AT TR

1 — FECIE7R < Boolean TN E W HES L Ntrue=F | &, W& 1T Hfalse=
) ZINT DT &,

il

—

N
\

Boolean 10A

~

=l

2}

fRE

true=4

false =&

XPath.

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemal.ocation="urn:hl7-
org-wv3y

MCCI_IN200100UV01.xsd'/PORR_IN049016UVIr)/controlActProcess[@classCod
e='CACTH@moodCode="EVN'l/subjectl@type Code="SUBJ'[1]/investigationEvent
[@classCode=TNVSTG H@mood Code='"EVN/component[@typeCode='"COMP' [adv
erseEventAssessmentl[1]/adverse EventAssessmentl@classCode=TNVSTG'l{@mo
odCode="EVN'l/subject1[@typeCode='"SBJ'[1]/primaryRole[@classCode=TNVSBJ'

| VsubjectOf2l@typeCode="SBJ'l[organizer/code[@code="11f@codeSystem="2.16.840.

1.113883.3.989.5.1.3.2.1. 11'l][rl/organizer[@classCode=' CATEGORY 'l [@mood Code
="EVN'/component[@typeCode="COMPJ/observation[@classCode='OBS'}[@mood

Code=EVN[code[@code="101@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1

0'Hlivaluel@xsi:type='"BL/@value

J2.141 #FH

- BEAn

18 B 2 FH

BROBE, YRS ORERSNRREREENL FRITERVLOTHLIBAR
Hhn, FOMOBEREEMET 5, E2BEHE O E1.2.1b BHEAFEFE% (MedDRA
1 R SRS S, BUEREICERR - BEME ST S, (PEIMEOR| RN,
ABEMAERD 18, FOMOBEFRBERESHESCRL TOEESE] © (1) 220
THIEL)
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RLBOT IR

o— REPGER L TRET D 2 &,

7

1IN

A

1=_7'E‘ﬁ3
2=gE4n

XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemal.ocation="urn:h17-
orgv3d '
MCCI_IN200100UV01.xsd'I/PORR_IN049016UVIr]/controlActProcess@classCod
e="CACT'H[@mood Code="EVN'l/subjectl@typeCode="SUBJ][1)/investigationEvent
[@classCode="INVSTG' ] [@moodCode="EVN'l/component|[@typeCode="COMP][adv
erselventAssessmentl[1l/adverseEventAssessment[@classCode=INVSTG ' [@mo
0dCode="EVN'l/subject L{@type Code="SBJ'l[1}/primaryRolel@classCode="INVSBJ'
J/subjectOf2l@typeCode='SBJ'] [observationlidl[code[@code='29'][@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19']1}[i}/observation[@classCode='"OBS'[[@mood Code=
"EVN'/outboundRelationship2l@type Code=PERT'| [observation/code[@code="111[
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'I{1]/observation[@classCode=
'OBS[@moodCode="EVN'l/valuel@xsi:type='CE'l[@codeSystem='2.16.840.1.11388
3.3.989.5.1.3.2.1.8'/@code

XPath
(codeSystem

Version)

/MCCT IN200100UV01[@ITSVersion="XML_1.0'l[@xsi‘schemaLocation="urn:h17-
orgv3 "
MCCT_IN200100UV01.xsdl/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT'][@moodCode=EVN'l/subject@typeCode="SUBJ']{1]/investigationEvent
[@classCode=TNVSTG'[@mood Code="EVN'l/component[@typeCode='"COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG'][@mo
0dCode="EVN']/subject1[@type Code="SBJ'l[1]/primaryRole[@classCode='TNVSBJ'
I/subjectOf2[@typeCode="SBJ'][observation[idl[code[@code="29'][@codeSystem="2.
16.840.1.113883.3.989.2.1.1.191]][il/observation[@classCode="OBS'll@mood Code=
"EVN'/outboundRelationship2[@type Code=PERT'][observation/code[@code="11'][
@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']{1]/observation[@classCode=
'OBS[@mood Code="EVN'/valuel@xsi:type='CE'l@codeSystem="'2.16.840.1.11388
3.3.989.5.1.3.2.1.8'/@codeSystem Version

J2.15.r. AFEHE

H H A WIS R OSMERBER T ICEW T, AEBOTRENENPARIN T DLEE,
ANEEETRT,
it WAk s Eo— Fab@Eilea— FEPSRLUTREET LI &,

oL DS, |EE/ CHREESOMBXY, RBENEFTOELTHTH &,
7z, SAEBEREOHGS. MEE{ToEATRRT I &,
FEEESEICBOT, BEEORFIYEICL - TR OEER R ENZES. 1 DD
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L UTHELTRLEAR, FOBICRAEES 1 BHICHE L, #0IELEF
LT, “HRBMSRICZOMOARERTHTS L, |

%0, A -OHRBERMIETA S MBI, YRAKEI OV TBRIMMET 5, € |
ORERIZ I, BESE O®RITHIT CYBNEEOREZELTRT 52 L, YERED
AREREEDHHSEIMOELEFIETS 2 L,

RE. FEOEBNENRLZLIBEE. ELTHIL,

72 2A
A IS0 3166-1 77 7-2 DE=— K, EU
XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'l[@xsi:schemaLocation="urn:hl7-

org:v3
MCCI_IN200100UV01.xed'/PORR_IN049016UVIrl/controlActProcess[@classCod
e='"CACT][@moodCode="EVN'l/subjectl@typeCode="SUBJ'][1]/investigationEvent
[@classCode="TNVSTG' [ [@moodCode="EVN']/reference [@typeCode:'REFR'.] [docu
ment/codel@code='21[@codeSystem='2.16.840.1.113883.3.989.2.1.1.271j[r)/docum
entl@classCode="DOC'I[@mood Code="EVN'l/participation[@typeCode="AUT }/assi
gnedEntityl@classCode="ASSIGNED']/representedOrganization|@classCode="OR
G'll@determinerCode=TNSTANCE/asLocated Entity[@classCode="LOCE/locatio
nl@classCode='"COUNTRY']l@determinerCode="INSTANCE'l/codel@codeSystem=
'1.0.3166.1.2.2'1/@code '

J2.16 HMENFOER

| BFRRE R U ERBERS IRV T, TSRS IS E 2B T S HEOHIE (H.1))

TH H 79
WEEE LB OEREAREBILRT,

RREUH L

F—Z% | 500AN

FFAE B HEHE .

XPath /MCCI_TN200100UV01[@ITS Version="XML_1.0"]{@xsi’schemalocation="urn'hl7-
org-v3

MCCI_IN200100UV01.xsd'I/PORR,_IN049016UV(rl/controlActProcess{@classCod
e="CACT'][@moodCode="EVN}/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode=INVSTGN@mood Code="EVN'l/component|@typeCode='"COMP'][adv
erseEventAssessment][1]/adverseEventAssessment [@classCode="INVSTG'H@mo

odCode="EVN/component1{@typeCode="COMP"lobservationEvent[code|@code='
12'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 10 [1]/observationEvent@
classCode="OBS ' H@mood Code="EVN'l/valuel@xsi‘type=ED/text(

J2.17.r FRBLHRIRONE

5 B 55

WRmEOSE, [ERRREHE 30T TFEMRRR B ORlZTT,

RLET IR

L

T2

1IN

i5




FFAE 1=fR RS T E
| 2=FEERIREER AT TE

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l{@xsi:schemalocation="urn:hl7-
orgv3 ' A
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr)/controlActProcessl@classCod
e="CACT'][@moodCode="EVN'}/subjectl@type Code="SUBJ1[1)/investigationEvent
[@classCode="INVSTG[@moodCode="EVN'l/referencel@type Code="REFR'l[docu
ment/code[@code='2"[@codeSystem="2.16.840.1.113883.3.989.2.1.1.27']][r}/docum
entl@classCode="DOC[@mood Code="EVN'I/title/text(

J2.18.1 Z{EFHMA &

THH R ICSR 0% EEH OMBA =77,

L Wk MSTATEGE A B & R EHA G L s 5,

F—#8 | 100AN

FFAE SRRk

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'l[@xsi:schemal.ocation="urn:h}7-
orgva
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV [x]/controlActProcessl@classCod
e="CACT")[@moodCode="EVN'l/subjectl@typeCode="SUBJ'|{1)/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVN'l/subjectOf 1 {@type Code="SUBJlfcont
rolActEvent/primaryInformationRecipient][1])/controlActEventl@classCode="CAC
T'l@moodCode="EVN'l/primarylnformationRecipient[@type Code="PRCP')/assign
edEntityl@class Code='ASSIGNEDV/representedOrganization[@classCode="ORG']
[@determinerCode='INSTANCEl/name/text()

J2.18.2 ZEEMWA

H B ICSR 0% fGHEOREZXRTT,

B Wapes HELR LT D,

7= 100AN

R EREEEGr-

XPath /MCCI_IN200100UV01{@ITS Version="XML_1.0'l{@xsi:schemal.ocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd l/PORR_IN049016UV]r)/control ActProcess{@classCod
e='CACT1@moodCode="EVN'l/subjectl@typeCode="SUBJ'|[1]/investigationEvent
[@classCode='INVSTG@moodCode="EVN'/subjectOf1{@type Code="SUBJ'][cont
rolActEvent/primaryInformationRecipient][1}/controlActEvent[@classCode="CAC
T][@moodCode="EVN/primarylnformationRecipient[@type Code="PRCPl/assign
edEntityl@classCode='ASSIGNED/assignedPerson[@classCode="PSN'|[@determ
inerCode='TNSTANCEmame/prefix[1]l/text(

J2.18.3 Z{ZHEW:




HH WA ICSR OZAFE O ERT,

FEE Wk HEDHER OELTHET 5.

F—F% 1 100AN

Eia 1) B

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'{@xsi‘schemal.ocation="urn:h17-
! orgiva |

MCCI_IN200100UV01.xsdIV/PORR_IN049016UV{rl/control ActProcess|@classCod
e='CACT"ll@mood Code="EVNI/subject[@type Code="SUBJ ][ 1]/investigationEvent
[@classCode="TNVSTG1[@moodCode="EVN'//subject Oft [{@typeCode='SUBJ'I[cont
rolActEvent/primaryInformationRe cipieht] [1])/controlActEventl@classCode="CAC
T'[@moodCode=EVNl/primarylnformationRecipienti@typeCode="PRCP']/assign
edEntity[@classCode="ASSIGNED)/assignedPersonl@classCode="PSN'[[@determ
inerCode='INSTANCE'/name/familyl1]/textQ

J2.18.4 ZEEA

EHHRH ICSR OZ{EH DL ETT,

LR IE WHOREEOL R TRT 5,

Vahmb kit L00AN-

rAE SRR _

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0"{@xsi:schemalocation="urnhl7-
orgivs
MOCCI_IN200100UV01.xsd'VPORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT][@mood Code='"EVN'l/subject|@typeCode="SUBJ|[1)/investigationEvent
[@classCode="INVSTG' [@mood Code="EVN'l/subjectOf1[@type Code='SUBJ }cont
rolActEvent/primaryInformationRecipient][1)/control Act Eventl@classCode='CAC
T [@mood Code=EVN'l/primaryInformationRecipientl@typeCode="PRCP']/assign
edEntityl@classCode='ASSIGNED V/assignedPersonl@classCode=PSN'l[@determ
inerCode=INSTANCE'/name/given{1]/text(

J2.19 % 1

HARH ThaHER

FLELT I 7L

7= 10000AN

FrEE BRI .

XPath /MCCI_IN200100U0V01[@ITSVersion="XML_1.0'l[@xsi‘schemaLlocation="urn:hl7-
org-v3

MCCL_IN200100UV01.xsd')/PORR_IN049016UV[r]/controlActProcess|@classCod
e='CACT'][@mood Code="EVN']/subject[@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'|[@moodCode="EVN'l/componentl@typeCode='"COMP'|[adv
erseEventAssessment]{1)/adverseEventAssessmentl@classCode="TNVSTG'][@mo

17




0dCode="EVN')/component1[@typeCode="COMP'] [observationEventlcode[@code="
131]@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']1[1)/observationEvent[@
classCode='0BSH@mood Code="EVN'l/valuel@xsi:type="ED'/text()

J2.20 {#¥% 2

TH H i A TiwE A

ot waRen el

7 — A& Al 10000AN

FFAE B HEeE

XPath /MCCI_IN200100UV01[@ITSVersion='"XMIL,_1.0'l[@xsi:schemal.ocation="urn:hi7-
orgv3
MCCI_IN200100UV01.xsd'I/PORR_IN049016UV[r)/control ActProcessl@classCod
e='CACT'][@mood Code="EVN'l/subjectl@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'/component[@type Code='COMP'l[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="TNVSTG1[@mo
0dCode="EVN'l/component 1[@typeCode="COMP'][observationEventlcode[@code="
141[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'}{ 1//observationEvent|@
classCode="OBS[@moodCode="EVN'l/valuel@xsi:type="ED']/text()

J2.21 fH#% 3

TH B FiHER

T IE e L

T s 10000AN

FFRE B H E0Ek

XPath /MCCI_IN200100UV01[@ITSVersion="XMI._1.0'l[@xsi:schemalocation="urn’hl7-
orgva
MCCI_IN200100UV01.xsd'l/PORR _IN049016UVIr)/controlActProcessl@classCod
e='"CACT][@moodCode="EVN"}/subjectl@typeCode="SUBJ|[1)/investigationEvent
[@classCode="INVSTG'H@mood Code="EVN'l/componentl@type Code="COMP'][adv
erseEventAssessment][1]1/adverseEventAssessmentl@classCode=TNVSTG'l{@mo
0dCode="EVN')/component1[@typeCode='"COMP'}[observationEventlcode[@code="
15'[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10]]1[1//observationEvent[@
classCode="OBS1[@mood Code="EVN'l/valuel@xsi:type="ED'l/text(

J2.22 %4

TE B LA TR E

R IE L

7 10000AN

HEE EREEEGE

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.01[@xsi:schemalocation="arn*hl7-
orgvi

id




MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{rl/controlActProcessl@classCod
e="CACT"] [@mood Code="EVN'l/subject[@typeCode="SUBJ'|[1]/investigationEvent
[@classCode="TNVSTG1[@mood Code="EVN'l/component[@typeCode='COMP][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'{@mo
0dCode="EVN"V/component1[@typeCode='"COMP'}observationEvent{code[@code="
16 [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1][1)/observationEvent[@
classCode='0BS'][@mood Code="EVN/valuel@xsitype="ED'I/text()
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